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he1 TraTeTa ETaH & ey T
Kendriya Vidyalaya Sangathan Regional Office Raipur

MESSAGE FROM DUPUTY COMMISSIONER

It is a matter of great pleasure for me to publish study material for different
subjects of classes X and XII for Raipur Region. Getting acquainted and familiarized
with the recent changes in curriculum and assessment process made by CBSE vide
Circular No. 51 and 53 issued in the month of July 2021 will help students to prepare
themselves better for the examination. Sound and deeper knowledge of the Units and
Chapters is must for grasping the concepts, understanding the questions. Study
materials help in making suitable and effective notes for quick revision just before the
examination.

Due to the unprecedented circumstances of COVID-19 pandemic the
students and the teachers are getting very limited opportunity to interact face to face
in the classes. In such a situation the supervised and especially prepared value points
will help the students to develop their understanding and analytical skills together.
The students will be benefitted immensely after going through the question bank and
practice papers. The study materials will build a special bond and act as connecting
link between the teachers and the students as both can undertake a guided and
experiential learning simultaneously. It will help the students develop the habit of
exploring and analyzing the Creative & Critical Thinking Skills. The new concepts
introduced in the question pattern related to case study, reasoning and ascertain will
empower the students to take independent decision on different situational problems.
The different study materials are designed in such a manner to help the students in
their self-learning pace. It emphasizes the great pedagogical dictum that ‘everything
can be learnt but nothing can be taught’. The self-motivated learning as well as
supervised classes will together help them achieve the new academic heights.

I would like to extend my sincere gratitude to all the principals and the teachers
who have relentlessly striven for completion of the project of preparing study materials
for all the subjects. Their enormous contribution in making this project successful is
praiseworthy.

Happy learning and best of luck!

Vinod Kumar
(Deputy Commissioner)
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Vinod Kumar

Deputy Commissioner
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Assistant Commissioner Assistant Commissioner
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LATEST CURRICULUM

Course Structure

Class X (2021-22)

Term =1

No. | Units No. Of Periods Marks
1 India and the Contemporary World 12 10
2 Contemporary India 16 10
3 Democratic Politics 14 10
4 Economics 20 10
Total 62 40

Course Content

Class X (2021-22)

Term -1
Unit 1: India and the Contemporary World
Themes Learning Objectives

The Rise of Nationalism in Europe

e The French Revolution and the Idea

of the Nation
e The Making of Nationalism in
Europe

Visualizing the Nation
Nationalism and Imperialism

The Age of Revolutions: 1830-1848 o
The Making of Germany and Italy

Enable the learners to identify and
comprehend the forms in which
nationalism developed along with
the formation of nation states in
Europe in the post-1830 period.

Establish the relationship and bring
out the difference between
European nationalism and anti-
colonial nationalisms.

Understand the way the idea of
nationalism emerged and led to the
formation of nation states in Europe
and elsewhere
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Unit 2: Contemporary India = Il

Themes

Learning Objectives

Resources and Development

Types of Resources

Development of Resources

Resource Planning in India

Land Resources

Land Utilization

Land Use Pattern in India

e Land Degradation and
Conservation Measures

e Soil as a Resource

¢ Classification of Soils

e Soil Erosion and Soil Conservation

Water Resources

e Water Scarcity and The Need for
Water Conservation and
Management

e Multi-Purpose River Projects and
Integrated Water Resources
Management

e Rainwater Harvesting

(Note: The theoretical aspect of chapter
‘Water Resources’ to be assessed in the
Periodic Tests only and will not be
evaluated in Board Examination. However,
the map items of this chapter as listed will
be evaluated in Board Examination)

Agriculture

Types of farming

Cropping Pattern

Major Crops

Technological and Institutional
Reforms

e Impact of Globalization on
Agriculture

Understand the value of resources
and the need for their judicious
utilization and conservation.

Comprehend the importance of
water as a resource as well as

develop awareness towards its
judicious use and conservation.

Identify different Dams in the
country.

Explain the importance of
agriculture in national economy.
Identify various types of farming
and discuss the various farming
methods; describe the spatial
distribution of major crops as well
as understand the relationship
between rainfall regimes and
cropping pattern.

Explain various government
policies for institutional as well as
technological reforms since
Independence .
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Unit 3: Democratic Politics — |l

Themes

Learning Objectives

Power Sharing

Case Studies of Belgium and Sri
Lanka .

Why power sharing is desirable?
Forms of Power Sharing

Federalism

What is Federalism?

What make India a Federal
Country?

How is Federalism practiced?
Decentralization in India

Familiarize with the centrality of
power sharing in a democracy.
Understand the working of spatial
and social power sharing
mechanisms.

Analyse federal provisions and
institutions.

Explain decentralization in rural and
urban areas.

Unit 4:

Economics

Themes

Learning Objectives

Development

What Development Promises -
Different people different goals
Income and other goals

National Development

How to compare different countries
or states?

Income and other criteria

Public Facilities

Sustainability of development

Sectors of the Indian Economy

Sectors of Economic Activities
Comparing the three sectors
Primary, Secondary and Tertiary
Sectors in India

Division of sectors as organized
and unorganized

Sectors in terms of ownership:
Public and Private Sectors

Familiarize with concepts of
macroeconomics.

Understand the rationale for overall
human development in our country,
which includes the rise of income,
improvements in health and
education rather than income.
Understand the importance of
guality of life and sustainable
development.

Identify major employment
generating sectors.

Reason out the government
investment in different sectors of
economy.
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NEW ASSESSMENT POLICY

Academic session is divided into 2 Terms. The syllabus for the Academic session 2021-22 will
be divided into 2 terms by following a systematic approach by looking into the interconnectivity
of concepts and topics by the Subject Experts and the Board will conduct examinations at the
end of each term on the basis of the bifurcated syllabus. This is done to increase the probability
of having a Board conducted classes X examinations at the end of the academic session.

The syllabus for the Board examination 2021-22 will be rationalized similar to that of the last
academic session to be notified in July 2021. For academic transactions, however, schools will
follow the curriculum and syllabus released by the Board vide Circular no.
F.1001/CBSEAcad/Curriculum/2021 dated 31 March 2021. Schools will also use alternative
academic calendar and inputs from the NCERT on transacting the curriculum.

Efforts will be made to make Internal Assessment/ Practical/ Project work more credible and
valid as per the guidelines and Moderation Policy to be announced by the Board to ensure fair
distribution of marks.

Term | Examination:

At the end of the first term, the Board will organize Term | Examination in a flexible schedule to
be conducted between November-December 2021 with a window period of 4-8 weeks for
schools situated in different parts of country and abroad. Dates for conduct of examinations will
be notified subsequently.

The Question Paper will have Multiple Choice Questions (MCQ) including case-based MCQs
and MCQs on assertion-reasoning type. Duration of test will be 90 minutes and it will cover only
the rationalized syllabus of Term | only (i.e. approx. 50% of the entire syllabus).

Question Papers will be sent by the CBSE to schools along with marking scheme.

The exams will be conducted under the supervision of the External Center Superintendents and
Observers appointed by CBSE.

The responses of students will be captured on OMR sheets which, after scanning may be directly
uploaded at CBSE portal or alternatively may be evaluated and marks obtained will be uploaded
by the school on the very same day. The final direction in this regard will be conveyed to schools
by the Examination Unit of the Board.

Marks of the Term | Examination will contribute to the final overall score of students.

Term |l Examination/ Year-end Examination:
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At the end of the second term, the Board would organize Term Il or Yearend Examination based
on the rationalized syllabus of Term Il only (i.e. approximately 50% of the entire syllabus).

This examination would be held around March-April 2022 at the examination centres fixed by
the Board.

The paper will be of 2 hours duration and have questions of different formats (case-based/
situation based, open ended- short answer/ long answer type).

In case the situation is not conducive for normal descriptive examination a 90-minute MCQ
based exam will be conducted at the end of the Term Il also.

Marks of the Term Il Examination would contribute to the final overall score.

Assessment / Examination as per different situations

In case the situation of the pandemic improves and students are able to come to schools or
centres for taking the exams. Board would conduct Term | and Term Il examinations at
schools/centres and the theory marks will be distributed equally between the two exams.

In case the situation of the pandemic forces complete closure of schools during November-
December 2021, but Term Il exams are held at schools or centres. Term | MCQ based
examination would be done by students online/offline from home - in this case, the weightage of
this exam for the final score would be reduced, and weightage of Term Il exams will be increased
for declaration of final result.

In case the situation of the pandemic forces complete closure of schools during March-April
2022, but Term | exams are held at schools or centres. Results would be based on the
performance of students on Term | MCQ based examination and internal assessments. The
weightage of marks of Term | examination conducted by the Board will be increased to provide
year end results of candidates.

In case the situation of the pandemic forces complete closure of schools and Board conducted
Term | and Il exams are taken by the candidates from home in the session 2021-22. Results
would be computed on the basis of the Internal.

Assessment/Practical/Project Work and Theory marks of Term-l and Il exams taken by
the candidate from home in Class X subject to the moderation or other measures to
ensure validity and reliability of the assessment.

BLUE PRINT FORTERM 1
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TOTAL QUESTIONS ......40

TOTAL MARKS ............ 40

CASE STUDY .......... 16 QUESTIONS
ASSERTION AND REASON ......4 QUESTIONS
TOTAL MCQS ~ ceovenn. 20 QUESTIONS

SUBJECT NAME OF CHAPTER NO. OF TOTAL
QUESTION MARKS
HISTORY The Rise of Nationalism in 10 10
Europe
GEOGRAPHY | Resources and Development | 05 05
GEOGRAPHY | Agriculture 05 05
POL.SC. Power Sharing 05 05
POL.SC. Federalism 05 05
ECONOMICS | Development 05 05
ECONOMICS | Sectors of Indian Economy 05 05
TOTAL 40 40

LIST OF MAP ITEMS CLASS X (2021-22) TERM — |
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GEOGRAPHY_(Outline Political Map of India)

Chapter 1: Resources and Development (Identification only)

Major soil Types

Chapter 3: Water Resources (Locating and Labelling)

Dams: 1. Salal 2. Bhakra Nangal 3. Tehri 4. Rana Pratap Sagar 5. Sardar Sarovar 6.
Hirakud 7. Nagarjuna Sagar 8. Tungabhadra

Note: The theoretical aspect of chapter ‘Water Resources’ to be assessed in the Periodic Tests only
and will not be evaluated in Board Examination. However, the map items of this chapter as listed above
will be evaluated in Board Examination.

Chapter 4: Agriculture (Identification only)

a. Major areas of Rice and Wheat

b. Largest / Major producer States of Sugarcane, Tea, Coffee, Rubber, Cotton and Jute
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INTERNAL ASSESSEMENT

Marks Description

Periodic Assessment 10 Marks Pen Paper Test 5
marks

Assessment using multiple 5
strategies For example, marks
Quiz, Debate, Role Play,
Viva, Group Discussion,
Visual Expression,
Interactive Bulletin
Boards, Gallery Walks,
Exit Cards, Concept
Maps, Peer Assessment,
SelfAssessment, etc.

Portfolio 5 Marks Classwork and Assignments

Any exemplary work done by the
student

Reflections, Narrations, Journals, etc.
Achievements of the student in the
subject throughout the year
Participation of the student in different
activities like Heritage India Quiz

Subject Enrichment Activity 5 Marks * Project Work

TOTAL 20 MARKS
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.....History Chapter 1 .....
THE RISE OF NATIONALISM IN EUROPE

(ZXT A Tsgare, &l 3¢3)

BASIC CONCEPTS- FLOW CHARTS

X/
°e

Changes During the 1789 French Revolution 1789 &Y SEIEY shifa & &R1eT aRadeT |

|

France was under Absolute monarchy S qoT JSTRITET & 37efeT 27 |

|

The revolution transferred the governmental power from monarchy to French

people or its citizens I = AIDBRT AT I ITSTRATET & HIAT SN AT 3Hh AT
PI FEATARA Y T |

Ideas came out like 'La Patrie ' (the fatherland) and 'Le Citoyen " a¢I' (farceyfa)
3R of e S faar gehrer & 31 |

The Royal flag was replaced by the New French Flag 2I&r €aef &l 57U BT &aeT
CART Sl 6T 31T 2T | l

National Assembly was renamed as 'Estate General' which elected by the
citizens. #A2TeTel TGS ol #ATH Teelehl 'TET SToilel Y T 31T F8 AMTRERT S@RT oA

T | l

A centralized administrative system was established. Ueh shglehc FRAMHTeh FOTTCIT
T TATTAT Fr 715 2T

Abolishment of internal customs duties and dues m@m%ﬁﬁ?aﬁlli%rw

JoHclod
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< Uniform weights and measures were adopted Teh HHT §T¢ 3R ATT YT 7T

% French became the national language hd ISEIT HINT ST 315

Napoleon Ruler of France 1799-1815 -

Became the first consul by assuming absolute powers. (1'-[U‘r %WWWQMWE@

Naboleonic Code 1804 / Civil Code (@QIfaaar &g (1804) IT AT TfRaT)

Equality before law ( STeleT & THET AT )

Abolishment of all privileges based on birth right(STeH mwm%ﬁq@?ﬁﬂmﬂ)

Right to property for French citizens SIENET AT o TIT FUTT T JTRR

Removed restrictions on guilds in town &S H TG 9T GTaaeT ger

Simplification of administrative divisions T2MdoIeh THTIN T TIeehI0T

Abolishment of feudal system TTHAT STTEAT 3R ST T SeHTd

GREEK REVOLUTION (1830)

% Greek war of independence. 3fleh TaATAT HIUTH |
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X/
°e

X/
o

X/
L X4

Since 15th century Greece was part of the Ottoman Empire. eyl ercTeq & I HIeHeT
HIHTS T fgEar T |

Struggles for Greece's Independence started with the growth of nationalism in Europe
from the Ottoman empire in 1821 .1821 ﬁgé?wﬁa@trﬁzlsgala & Taeprd & ATy

I T T & T FEd w §3 |
Support from the western European countries. WW?@TQ}IW@H|

Greece culture and literature inspired the poets and artists who supported the revolution.

Mier T 3R T & Fifd 1 FASH et arel HAAT IR Forrehrt S AR o |

GERMANY REVOLUTION OF THE LIBERALS (1848)

3ERATeAY i1 FTHAY Fifar (1848)

831 elected representatives marched to take their places in the Frankfurt Parliament 831
fatfaa gfafafest o thate Tag # 31960 STo1g ot & folw AT foAemren

Drafted a constitution for a German nation based on constituitonal monarchy. Tdfish
ST & TR TR Ueh STHT S o [olT Teh FTAUTT T AGIGT IR fohaT |

Prussian King Friedrich Wilhelm IV- rejected their demands. 9T & 1< sk Aegd
V- ¥ 3eTehT AT Y WIS e f |

The parliament mainly took interest in the workers and artisans- as it was largely
dominated by the middle-class members. HHe & &I §9 & AT 3R HRITRT & o

- Fifeh 3T 93 YA IR FALIH Fo7 & TETAT T aued 2T |
Troops forcibly disbanded the assembly. T aF ST THT I HIT A ST

UNIFICATION OF ITALY
ol T THTHIT

Mid 19th century ltaly was divided into 7 states. 199 TeY & #ET 7 Il H [adTTSId fohar
T AT |
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X/
°e

X/
°e

X/
o

Only Sardinia-Piedmont was ruled by an Italian princely house. ddel EfsfAT-dsHE UX
Ueh SdTeldl RATHA T AT 2T |

North was ruled by Austrian Habsburgs. 38X U 31EgaTS geqa3d T AT 2|
The centre was under pope. shg 91T & 37¢TeT T |

South was under the Bourbon Kings. Gf&I0T T HT3T gl G2 o 3icTeTd T |

For uniting Italian Republic- Young Italy- a secret society was also formed by Giuseppe
Mazzini. SclTeTd! IVRTSY &l Tehole it o T -TgAT AT SaRT JT Soll- ATHb Teh I[Cc]

HATST T Y ITSeT fehaT 1T T |

Count Cavour- Chief Minister of Sardinia Piedmont- led the movement for unification of
ltaly. 3¢ HaR- AMSTHAAT- NSHC & HEIHA - & el & THIHUT & AT 3ricteleT
ﬁacca T |

Sardinia- Piedmont's force marched into south Italy and Kingdom of the two Sicilies and

drove out the Spanish Rulers. @fsfaar- disdie $r I o gfaror seelt 31k ar [fAeh &
AT H gaer fhar 3k Faferer emaent s a1g & fear |

1859 Austrian forces were defeated by France+ Sardinia-Piedmont alliance. 1859

JHITECATS Q=T i+ WITSTorar-dsHie Ioaere ZarT WRIfeid g3 o |

1861 Victor Emmanuele became the king of United Italy and Rome was declared the

capital of Italy. 1861 faereT AU TYeFcT gl h ST T4 3R UH T Tl T ASTEEAT
N fohar I3 |

UNIFICATION OF GERMANY (1866-1871)

Page 1 7
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1. Efforts were
made by the
middle class
Germans to

write the
different regions
of German
Confederation
into a nation-
state.

2. These
efforts were
suppressed

by the
monarchy
and military

and the
landowners
in Prussia.

3. The
national
unification
was taken
under by
the
leadership
of
Prussia.

4. Otto-Von

Bismark
of Prussia
played
the role of
a main
leader in
act of
nation-
building.

5. 1871 -
Kaiser
William |
was
declared
as the
new
Emperor
of a new
Empire.

6. The unification of Germany
established Prussian dominance in
Europe

7. Currency, banking, legal and judicial
systems were introduced by the New

German Empire

SFHAT T Thranor (1866-1871)

1. A SHer| 2. &1 garal . US| 4. 9T 3er- | 5. 1871 -
EaRT STt I gfr 7 ThIahuT CIGRCEREIC D FEX
aREY & SENI) g & 9HG AT faferaa
e et | R Adcd A CAGEINTEIC A I Th
Teh TSe-IT IR IGRIKIR) FRI H o Tse- AT ST
& &9 H forgel STHIGRT | fA#ToT &) T AT
ol ST feham CaRT &aT FHTE Bivd

. ST & ThTIOT S JUT A TIRAT | 7. HeT, sfehaT, Siefeit 3R =ATeh JUTTel & 77T STaeT
T T8]cd T faham AT SaRT UL fehar arm ar
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1. Artistsin 2. Represented
18th and country as
19th person called
centuries ‘Allegory’
personified
nations

3. Female
figures
become
an
allegory
of the
nation.

In French
she was
christened
‘Marianne’

4. During French 5.
Revolution,
artists use

female
allegory to
portray ideas
like Liberty,
Justice and
Republic.

6. Germania wears a crown of
oak leaves as the German

7. Germania became 8.

an Allegory of

In red cap, the tri colour
represented liberty and

oak stand for heroism. Germany. the Republic.
S T THeTadT

1. 2cdi 3R 2. gfafafeea forar | 3. Afger 4. BN HIfd & 5. a7 3A
2T QrTsaT G9T T 'FIH' Hhs TSE | SR, FHellhR ARTT
# FeThRT A& I Fd & FT Th TadadT, =31 3R 13 e
¥ TSt T wHyAAfRE| U g IOTAT o1 ARt i IT AT

| ST gl IBIEGETGEATIY
AT ®9 &7

6. AT 3Nk Ul BT TR HHe | 7. FTHATAATSTHAA T | 8. ATel S F foam Facisar
UgaidT § Fdifeh o8l 30 JRal & e o7 IT 3R aroraT & yfafafea
foT @sr 7l T 2|

UNIFICATION OF BRITAIN
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1. gcdt 2. garTH . 3 TH 4. Fe3es 5. ThICas
iy TIMAR TS & & fRaTsH 31T 3R
gge, gefar s H Tuifdq, I f9eeT ganrr 3RS
R 3ISI IS JSTRATET hr g7ois 3R W gL g
s HI 3T SIEGKDE Thicols & q g3l
TS gert 3k qHG W T | Hr T GaGaT
T el . heoll Teh HAfATH |
oTel 3T foram arar AT I
T IGREL] | |
1. Before 18 2. Constant 3. England 4. Anact of union | 5. Scotland and
century, if growth in entrenched as a was formed Ireland was
was nhot a power helped nation, The between dominated by
nation English nation power of England and England in all
state. to extend their monarchy was Scotland by the aspects.
control over taken over the United
other nations English Kingdom of
and islands. parliament. Great Britain.

6. British nation was formed - which included
various symbols - flag, national Anthem and
English language.

7. After the failed revolution led by the Wolfe
and his United Irishmen (1798), British took

over Ireland forcibly

faeeT &1 THHIoT

6. fofeer Irsgt o araseT g3 - forwa
AT gdie A & - &g,

TSEaTTeT 3R 33T HT|

7. dloth 3R 37 Ferses ITARAA (1798) &
Adcd # 3AB Hifd & F16, IS o IRels
U ST Sheoll Y TorT
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a)
b)

c)
d)

b)

c)
d)

b)

c)
d)

a)
b)
c)
d)

MULTIPLE CHOICE QUESTIONS
agﬁwcmﬂ;ra;r

Which of the following countries did not attend the congress of Vienna?

ﬁmﬁf@a#@aﬁam&ermaﬁmﬁamaﬁgm

Britain fsesT
Russia &9

Prussia 9f2rar
Switzerland fEacoRels

Who said “when France sneezes the rest of Europe catches cold”?

"SI I BiehdT § df Y JAT FHI 35 97 AT ¢ A war a1?

Garibaldi IraTear
Mazzini &3S
Metternich AeIfaw@
Bismarck ST

Which treaty recognized Greece as an independent nation?

e @ & g ) vF Tadq TS F T A ATAT E?

Treaty of Versailles a& fr &@fer

Treaty of Vienna 3= &r G

Treaty of Constantinople_aie¥e feaAraer r afer
Treaty of Lausanne of&Tel &l HfEr

Who was responsible for unification of Germany?

ST & TRIRIOT & foT i SFAer 91?

Bismarck ST
Cavour &TqY
Mazzini #TSr
Garibaldi JraTear

Pagez 1
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5. Which area was known as the powder keg of Europe?

T & 9I3ST H9T & T A 67 T ) STA1 SATem 41?

a) Germany ST&=ir

b) Italy 3ol

c) Balkans sTelched

d) Ottoman Empire de ATHTST

6. Elle, the measuring unit in Germany was used to measure

STHAT & AT Y sH1E Elle FT TAT AT & forw fmam Smar ar

a) Cloth sy9sT
b) Thread ram
c) Land 8f&

d) Height a8

7. Zolleverin started in 1834 in Prussia refers to a
1834 ﬁmﬁaamgsna’laﬁﬁ?rmmﬁ‘%

a) Trade union ¢35 IAT=T

b) Customs union AT e HE

c) Labour union #f&e Tg

d) Farmer’s union f&are g9

8. ‘Young ltaly’, the secret society of Italy was set up by
T g, FTOlT F T[T WHTS Y TYUTYAT FhEah G@RT Y 778 oAfi?
a) Garibaldi I{raTesr
b) Cavour sIqT
c) Mazzini A=
d) Victor Emannuel Il faseX SATITH ||

9. The Ottoman Empire was ruled by the emperor of
AT FTATST I FH HTS FT ATH 4T

a) Turkey cehf

b) Russia &&

c) Britain fsceT

d) Prussia gfemam

10.At which of the following places was the Frankfurt Assembly convened
fArafafad & 9 o Tae W hewe s &1 3masrer A = ar

a) At the church of St. Paul d¢ diel & I &

b) At the church of St. Peters T qled & I &

c) Atthe palace of Prussia Jf2RIT & Hgel &

KVS RO RAIPUR...........QUESTION BANK ............ CLASS 10.....ccoerueune SOCIAL SCIENCE

Pagez 2



d) At the Hall of Mirrors in the palace of Versailles_adTT & Agel & 40T & &l &

11. What did the crown of “oak leaves” symbolize?

31 & gat FT drer a1 vdie a1?

a) Courage H1gd

b) Heroism AT

c) Peace eifa

d) Tolerance &fgsordr

12. By which of the following treaties was the United Kingdom of Great Britain
formed?

I et & erses hars &1 arow fas=ifarf@a & & forw wiftr qarr fomam arar ar?
a) Treaty of Versailles a&Tr &t Gf&r
b) Act of Union &Y &7 3fafazs
c) Treaty of Paris 9R& &T @fer
d) Treaty of Vienna fa=Tr &r afer

13. Which of the following best explains Utopian society?

e 7 @ Fia g FATS A Fa@ TS AT FIAT §?

a) A Society where everybody is equal T THTS STl &Y IS THTA ¢

b) A democratic society Teh cllhdliAh THTS

c) An idealist society which can never be achieved_Teh 3Teiarér AT

d) A society with a comprehensive constitution Teh caT9eh HTdYTeT aTell THTST

14.Among the following which section was not included in the European middle
class

fArafaf@a & @ i a1 gt Wd 7e7 Tt 7 anfae adi ar
a) Professionals 9/a¥
b) Businessmen SII&TAT
c) Nobles &
d) Industrialists 3eareTafa

15.After the French Revolution (1789) the right to vote was given to
Wi Hifa (1789) & a1 ale &1 HAFR Frae fam = a1?

a) All adult population of the country &2T T T gaTah ATeTer
b) All property-owning male citizens of the country &2T & J&¥ TRl o FaTfHca aTell Fefr

mufA
c) All property owning male and women of the country &2T & 9&¥ 3R AfgT31 & FTidca

arell g3 gufa
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d) All adults excluding women of the country 2T I FATET3T I BIsHT TIHT TTTh

16.Which of the following group of powers collectively defeated Napoleon?

famafaf@a & & frg afea aoqg & wnffes &0 & aufaae #t gwmr?

a) England, France, Italy, Russia $3ci3, WIH, Scall, &

b) England, Austria, Spain, Russia 33ol3, 31T, T, &
c) Austria, Prussia, Russia, Britain 311f&ear, gferm, &4, fsea
d) Britain, Prussia, Russia, Italy fsiesT, 9fmm, &, scolr

17. Which of the following country is considered as the ‘cradle of civilisation’?
fArfaf@a & ¥ e o F 'TsIaT FT 9T AT SATAT 82

a) England 3¢l

b) France Wi

c) Greece IH

d) Russia &H

18.The treaty of Vienna signed in 1815
1815 # fagam i Y 9X gFaneR fhe 7w

a) Brought the conservative regimes back to power &f¢aTer 2T ! aTad AT H T
b) Destroyed the conservative powers of Europe. JU9 &l &igaral el sl o5 &Y fear|
c) Introduced democracy in Austria and Prussia 31T 3R GTRIAT 7 lehc shT QB3I
d) Set up a new parliament in Austria. 3TTEEIT & T A5 THG I TATIAT Y |
19.Romanticism refers to

FaToedmarg &1 HF g
a) Cultural movement EEhicieh 3fieTerdd
b) Religious movement €A 3TcIereT
c) Political movement T=Teifceh 3MaTelel
d) Literary movement TTfgicaes 3Migrelst

20.In Prussia, who were referred as ‘Junkers’?
TR &, 'SR’ & T A FS wefiia fFar = ar?

a) Military officials J= 3TT&IhIT

b) Large landowners_d3 STHIGR

c) Factory owners SR@Ie o Hifeleh

d) Aristocratic nobles FelleT W&

21.Which of the following is an allegory/attribute for ‘liberty’?
frafaf@a # & Fia ‘Faaaar & v e Ts/RAvar§?
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a) Crown of Oak 3fIeh T dTel
b) Red cap olTel T

c) Olive Branch SiclsT 2mET

d) Sword deldX

22.Who among the following was proclaimed the first King of United Italy?
frrafaf@a & & frd agaa st &1 vgar e eif¥a fmar arar ar?

a) Nicholas Il faerera I

b) King George Il fer SifeT gfadr

c) Wilhelm IV fdeg# Trqd

d) Victor Emannuel II_faseX sATIT ||

23.A nation-state is a state where

T TSE-T=T T VFT T § T8l
a) People of all groups enjoy equal rights HT FHgI o WlI91T sl HATH 31T 9ol &
b) Where the nation has its own emblem and flag ST&T IS¢ T 39T Ucileh 3R &aoT &

c) A state which has a contiguous territory Teh I fSTaeT Teh e &7 &
d) A state where people live in a common territory, develop a sense of identity and share a

common history. Teh I ST&T AleT Teh 3TH &1F H TEd &, YT T HTeAT [anfid il &
3R e 3o sfagra AT A 2

24.Most important outcome of the French Revolution of 1789 was
1789 & wiEhHY FHifer T FaA FAgeaqor TR a7
a) Abolition of absolute monarchy E[\U‘r JSTATET T 3o deled
b) Making of a new Constitution Tk 73T HTAEITeT S=ITAT
c) Transfer of sovereignty from monarch to the French citizens. THTC & WA AT T

YT ohl FEATRT| .
d) Formation of the National Assembly. #2TeTel TSI &l TS |

25.1dentify and mark the incorrect response. The Napoleonic code

Trerd Ifafehar i ygan 3k RfEaa #3) oo f15
a) Did away with all the privileges based on ‘birth’ and established equality. 'ST=a' & 3TaR

TR T fAANTRRT S FATCT R e 3R FATAT T2 |
b) Destroyed feudalism in France WRT H ATHIAIG ol oS¢ T TGAT
c) Formulated codes for the army =T & ToIT IR &I8

d) Ensured right to property for the privileged class TASTTISR 9red g97 & forw oy &
IR AT fomar

26. A large number of people were hostile to the Napoleonic code because
9 &1 & AT A forae Fr Giar F [ S F=ifE
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a) It was not suitable for all Jg T8l & forw 3ugeFd Jgr ar
b) It destroyed the special privileges of the rulers e AT o 1AV [AAWITIFRT ol s

T fgam .
c) Administrative changes did not go hand in hand with political freedom ITseilfcieh Tada T

& 1Y g {AS IR gy § g1 T
d) None of the above 3WRIed & & &I TaT

27.For the middle class of Europe, the most important feature of Liberalism was
U F ALY 79 & T saRaTe $ wad Ageaqur Rarvar f

a) Abolltlon of conservatism ®fgarg &r 3 Hcldd

b) Right to be liberal and educated 3R 31k RIferT g & R

c) Individual freedom and equality before law &hlefel & ALY ITFAIT TaAFAT 3R FATIT

d) Representative government 9fafafe TR&R

28.Why did the Frankfurt Parliament fail to achieve its goal?
hehthe THE Yt T&T I Ted Fat A TAwer 4t W2

a) Woman were excluded from the membership H&EIdT & FATGeT Sl §T8I QT 31T AT
b) Did not have the support the peasants T&ETAT T THIT AgT AT
c) Kaiser William refused to accept the crown and opposed the assembly $&x faferaa o

TSt TR Flel T SHR W%msﬂ"\rumarfémtrﬁm
d) None of the above B“CR’I&'FT q FIg oTar

29. ‘Nationalism’, which emerged as a force in the late 19th century, means
'Trsgare’, Y 194 ardredt & 3T A v AT F T H IR, FT A
a) strong devotion for one’s own country and its history and culture. 319eT &2r 3R 38%

=fAarm A oA & AT meea afeq)
b) strong devotion for one’s own country without appreciation for other nations. 371 Is¢i &

3T TorAT & AT WU Ao & AT Aaa~ aiaA|
c) strong love for one’s own country and hatred for others. 3791 2T & foIT Haled TR 3R

7T & AT AwTA|
d) Equally strong devotion for all the countries of the world. gfaaT & Fsir =it & foT F&ATT

9 H HoTgd Al |

30. ‘Utopian Society’ is T& 'qeifaer Amser §

a society under a benevolent monarchy T 3& ISIRMMET & dgd Tdh THT
a society that is unlikely to ever exist T UHT HHTST ToT@eh T 3TEdcd H glel chl HTIAT

k)

KVS RO RAIPUR...........QUESTION BANK ............ CLASS 10.....ccoerueune SOCIAL SCIENCE

Pagez 6



lll. asociety under the control of a chosen few wise men & Jo1 T & AT &8 o a0
H U HATST

IV.  a society under Parliamentary Democracy TEGT allehd T o dgd Ueh AT

(a) (i) & (ii)
(b) (ii) & (iii)
(c) (i) only
(d) (iii) only

31.Pick out the correct definition to define the term ’Plebiscite’.

'STAAT WIE' Aeg H IR FA F e @@ aRemr g

a) Plebiscite is a direct vote by which only the female members of a region are asked to
accept or reject a proposal. SIHAd TG Teh YcI4T dic ¢ foideh GaRT Tohdl &7 &l shdel

WW.'aﬁww—dlqﬁmﬁw M@T?ﬂﬁ%ﬁm S
b) (Plebiscite is a direct vote by the femaﬂ-tra* members of a matrldﬁa sys?em to accept or
reject a proposal. STeTH HITE Teh TEAT ol TR IT IEATHR il o TIT ATHAcHD

SYIEYT I Afgell TG GaRT TcIaT e 7| _ _
c) Plebiscite is a direct vote by only a chosen few from the total population of a particular

region to accept or reject a proposal. STHT TIE Teh TTATd I TAIRR AT TR Hlal

d) gleﬁri(srcite |sf§§§eagﬁvﬁe5?y WEICE gﬁ%e citlzéwnéae?egr({aglon are asiFeqda?oa;Eccilpt or
reject a proposal. STTHd HIE Teh Y47 dIc g [Tk arT ek 819 o Y AR &l Teh
IEATT ! TAHR IT SRR et & ToIT FHgT ST &

32.Ernst Renan believed that the existence of nations is a necessity because

HAEE LT T ATAAT AT T TseY 71 3Tdcad T HTaTHdT & FATH

a) it ensures protection to all inhabitants. Ig T3 artar & forw IreT giafad Fargl

b) it ensures liberty to all inhabitant citizens. Ig THT AT & AR & ToIT TadTdT
oo AT &1

c) it ensures Parliamentary form of government to its inhabitants. g 319« fart@ar o forw
ISR & TAGT TaEY Fl FlATRTd HLT & |

d) it ensures jobs and good health to all its inhabitants. Tg 379s7 T TaTfaat & forw sl
247 =y TATDI ST Ay ey T AT ar 3

33. The French revolutionaries declared that the mission and destiny of the French
nation was

TRIEIET ShTShIRAT of ETYUTT T fo ShTEEY Irse ot TR 3R s ar

a) to conquer the people of Europe. IUT & o131l &l Silclel & T
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b) to liberate the people of Europe from despo-tism. JXT & 11T & fAHRIAT & Herd it

& faw -
c) to strengthen absolute monarchies in all the countries of Europe. J9 & Hafr =it # qof

ST Sl AT el o [T ]|
d) to propagate the ideals of liberty, equality and fraternity in every part of the world. gﬁm

F g T8 H TadadT, AT 3 F8ca & 3162t T TR |

34.The Civil Code of 1804 in France is usually known as:

WhIE F £¢oY & AT TfedT ! AR 9T 3T & H ST ST &

a) The French Revolutionary Code rETHY shifderRY i
b) Napoleonic Code AGIfeII HIs

c) European Imperial Code JUdT SN 15

d) The French Civil Code SEET AT EigdT

35.The liberal nationalism stands for:
3ER ISedlg 1 37T ¢
a) freedom for the individual and equality before law. Safed & foIT FaAAAT 3R FIefet &

HHAGT HHATAT| . y
b) preservation of autocracy and clerical privileges. fATerdT 3R folfdeh faIsTiRISRT 1

oTeITIT|
c) freedom for only male members of society and equality before law THTST o shdel ey

TAEAT & faT TaA3AT T ST+ 3 THeT THTAATI ] )
d) freedom only for senior citizens shael ARTS AR & [IT TIAIATI.

36.The term ‘Universal Suffrage’ means:
AaHfAS AASER' eree 1 379 &

a) the right to vote and get elected, granted only to men. dte &=t 3R fAaTRa gl &t
ITAFR, Shael gLyl I f&ar 37|

b) the right to vote for all adults. T TTTHT I Al ot FT ITARR|

c) the right to vote and get elected, granted exclusively to property owning men. aic col

3R fAarRd giet &7 3R, 9y &7 & Fufar & Arferes g9t & fear |
d) the right to vote and get elected, granted only to educated men and women. ale &at 31X

faaTfra e &1 1R, Faer fAfera gest 3R Afgen3it o fear )

37.Which of the following is not a feature or belief of ‘Conservatism’?
fArafaf@a & & i 'wfearg' S favar a1 At=gdr 67 g7
a) Conservatives believe in established, traditional institutions of state and policy. &f¢arer

T 3R AT & T, aoRaRes GEame=T # ey Hd &
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b) Conservatives stressed the importance of tradition and preferred gradual development

to quick change. TRURTATIGAT o TURT o Fgcd UX SR 1T 3R caRd aRad & fow HwifAs

AT =& oA A
c) Conservatives proposed to return to the society of pre-revolutionary days and were

against the ideas of modernisation to strengthen monarchy. SERTETEAT & G-I
feAt & TATST A elleat T TEdTa WM 3R ASTRTET T AT el & TIT MY fAhrenor &
faRT & f&ers I

d) Conservatives believed in the monarchy, church and other social hierarchies. ®feargr

TISTRITET, Ty 3R 377 ATATTSh geTegshal & faeare aid 3|

38.The Treaty of ................ recognized Greece as an independent nation:

............... T G o 3 Y Uk TIGT TS & &9 F AIAT AT

(a) Vienna 1815 g« ¢¢29
(b) Constantinople 1832 &hic¥e feaildel 1832

(c) Warsaw 1814 aRET ¢¢2Y
(d) Leipzig 1813 elrafaier 1813

39.Three wars over seven years with Austria, Denmark, Germany and France, ended
in
3TEeaT, SATF, aﬁ?ﬁsﬂwm$mumaﬁﬁsh?r§qaw§v
a) Danish victory 37T SitcT
b) Prussian victory 92T &r ST
c) French victory ST i
d) German victory STHeT St

40.Who was proclaimed the emperor of Germany in 18717

1871 H FHAT &1 gHTE fovd ST fFam aram ar?

(a) Otto Von Bismarck 31Tel afsT fa&dTh
(b) Victor Emmanuel Il faeFeT HT Il

(c) Count Cavour &3¢ HdR
(d) Kaiser William | of Prussia 92T & SR faferass vas

41.Who became the King of United Italy in 18617
1861 # HJercT ST T ITSTT hlef S=AT?

a) Giuseppe Garibaldi 789 IaTesT

b) Victor Emmanuel Il faeex SHT ||

c) Count Cavour T3¢ shdl¥
d) Giuseppe Mazzini 789 ATS=T
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42.What helped in the formation of a nationstate in Britain?

foesT & Uep Tse T & AT 7 f7g 91 of A $I?

(a) The formation of a nation-state in Britain was the result of a sudden upheaval. fsiceT

H Teh ASC-IY T IS ITTeTeh § 3UeT-JU el hl TRUMH 7|
(b) In 1688, the monarchy in Britain had seized the power from English Parliament.

86¢¢ A, ToeeT # TSTATEY o 33T Tae & Far gf2ar o 4|

(c) The parliament through a bloodless revolution seized power from the monarchy
which gradually led to the emergence of a nation-state. HHE sT Teh I&Fdalel ShiTd o HATETH
T TSTLMET F TaAT Ol off foradr efiX-8R Teh Ise-To T 36T &3

(d) The British nation was formed as a result of a war with Scotland and Wales. Thicols

3R Iod & A1 Yo o TRUMATTEY THTeer TS T 16+ fohar I |

43.The allegory of the German nation who wears a crown of oak leaves was a
31 & YT T dToT UgsTel aTel STéeT IS T Teh 2T
a) Marianne #RTa
b) Union Jack fetael Steh
c) Britannia fserfaar
d) Germania STHfAAT

44 A large part of Balkan region was under the control of:
dToehe] &1 T Ueh T HTIT fohdh foa=oT & ar?

Russian empire &HT ATHTST

Ottoman empire Teh HHTSH

German empire STHT ATHTST
Habsburg rulers) gs@seT emaeht

oo op

Assertion-Reason Questions

DIRECTION: Mark the option which is most suitable:
(a) If both assertion and reason are true and reason is the correct explanation of
assertion.
(b) If both assertion and reason are true but reason is not the correct explanation
of assertion.
(c) If assertion is true but reason is false.
(d) If both assertion and reason are false.

AP UA-HROT g2
farder: 38 faed &l RAETT HY S Fad 39 &:
(7) I 2T 3R FROT alAT T & 3R HROT H2u I TEY e B
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(&) T FUA 3R FROT AT FT & SIfoheT HIRUT HUT hT TEY TTEAT AET &
(&) I T T § o] HROT 310 B
(3N T T 3R FROT ST 39T B

1. Assertion. Italy was divided into seven states, of which only one was ruled by an Italian
princely house.

3RS - SCall ! TTd Tl H AT foham 37 &1, [T & dhael Ueh W Teh Sdleldl  RATET

<hT ATHST AT
Reason. The north was under the domination of the Bourbon kings of Spain. sRUT-

3 T o drafeT TSI o YTeg 7 2T
3|

2. Assertion. Germany, Italy and Switzerland were divided into kingdoms, duchies and
cantons whose rulers had their autonomous territories.

31TAFUT - ST, Seol 3R Raeatals o T=at, st 3R dhea & antaa fhar arar ar
SleToh el & 9Td 3edch TaTId &7 I

Reason. They were closely bound to each other in spite of their autonomous rule.

3.  Assertion. Giuseppe Mazzini worked with the conservatives for the monarchy.
ATAFYUA - Giuseppe Mazzini of JSTRAET o folT FfeATiGAT o T e ThaT|
Reason. Italy had to continue to be a patchwork of small states and kingdoms.

HRUT| STl I BIC-BIC A=At IR RIradt r st sar g=r ar|

4. Assertion. Culture played an important role in creating the idea of the nation.

AR - TS o TAAR T Tellel 7 TERIc o Ageaqol AT TS |

Reason. Weavers in Silesia had led a revolt against the contractors who supplied raw
material and gave them orders for finished textiles but drastically reduced their
payments.

HIROT| FHATHAT A ol o e Hel T AT A aTel ShaRT & el faglg i
Accd Toham AT 3R 378 AN a&At o TolT TS feam AT SifeheT 3eTeh 8Tl # T ey 31TS

5. Assertion. From the very beginning, the French revolutionaries introduced
various measures and practices like the idea of la patrie and le citoyen.

371U - & H T, I hifcehRAT o AT 9ET 3R of AT o farar s fafdiesr
3UTAT 31T T2ATHT T QB3 I

Reason. This was done to create a sense of collective identity amongst the French
people.

hROT| TG SHITHT el o ST HIeigeh Tgilel ehi 1= a7 et & folt fehar aram
|
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6. Assertion. The Scottish Highlanders were forbidden to speak their Gaelic
language or wear their national dress, and large numbers were forcibly driven out of
their homeland.

3TARUST - THITCU BT PI 31T I1Toleh HINT STeled IT YT IASEIT GIeMTeh Ugedel H HeAT
e aram T, 3R 951 HEAT A STe’e A=A ATIHA @ SeY Aepror fm arar 27|

Reason. The English helped the Protestants of Ireland to establish their dominance
over a largely Catholic country.

HRUT| TSI o RS o GICECET &l 93 AT T HUITIeh S I YT F3gcd T
T o == £

7. Assertion. On 18 May 1848, 831 elected representatives revolted in the
Frankfurt parliament.

31fRFYA - 18 A 1848 & 831 fafaa ufafafRat ot hevwe Twe # fagig foma|

Reason. The elected representatives revolted against the issue of extending political
rights to women.

FRoT| fAafad gfafafat & Afdensit @ Tareiifdes 31fReR & & FAee W e & faar|

8. Assertion. In the areas conquered by Napoleon the reactions of the local
population were mixed.

ARYeT - ANTErTT SaRT SiId 7T 8151 & TATHAY HTETET T FiAfhard Fe-Selr |

Reason. Increased taxation, censorship etc. out-weigh the advantages of administrative
changes.

0T | TGT 3T FLTA, TERRNT TS T aRaciaA! o ot &1 H Y &l 81

9. Assertion. Conservatives believed that established traditional institutions of
state and society should be preserved.

TRFYT - FlATEAT ST ATAT AT & T 3N FATST Hr TART IRIRE GEATHT i
wferd forar Srar anfew|

Reason. Zollverein was formed to preserve conservatism.

AU - Flearg &l g0 W@ & T FTART T 5T fohT Ir=am 2|

10. Assertion. In France, were the ‘Bibliothéque Bleué, which were low-priced small
books printed on poor quality paper, and bound in cheap blue covers.

HAHYA - e &, 'fafcerade sof &, St e A aTell BIE fohcrel AT St TR I0TET dTel
FETST W ST AT, 3R & silel hax H T84T 2|

Reason. In England, penny chapbooks were carried by petty pedlars known as
chapmen, and sold for a penny, so that even the poor could buy them.

Page3 2
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HRUT|-530i8 H, Joil AU ol ATHAT oh ATH F ST SieT dlel BIC YSeld GaRT of ST STl
T, 3R Teh U & T =1 SA7cT AT, Affes IR0 81 30 Tlie | |

Picture Based Questions

IEEEICIIGREG]
1

(i) Which of the following aspect best signifies
this image?

fArfaf@d # @ i 91 Ugel G99 3o &ATdT &
TE qTEIR?

(a) Round table conference at London

(b) Constituent Assembly of India

(c) The Frankfurt Parliament in the church of

St. Paul

(d) The Hall of Mirrors of Versailles

(T) Fie 7 MTHT GFERT

(&) ST P HAYTT FHT

(@) T # theathe TaE U< Uiel

(3n) T & Ui 7 grer

(i) In which city is it located?

(ii) org fope ergr & Rua 87

(iif) Who are gathered here and why?

(iii) TgT Pl SHCS g(f%ﬁ?ﬂ#ﬁ

(iv) Who are shown in the upper left gallery?

(iv) IR 9T e 7 fh fe@m aram g7
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2.

() Identify the picture.

(i) T =+ ggaT= |

(if) Explain what is depicted in the picture?

(ii) Tase HifeT for DT & 737 ST a7 872

(iii) Which of the following aspect best signifies
this image of ‘The courier of Rhineland’?

(iii) eI 7 & st AT Ige] HY 30T a1 &
' PINIT 36 TsAols’ HT Ig B FI?

(a) Victories of Napoleon

(b) Difficulties faced by Napoleon

(c) Losses of Napoleon
(d) Journey of Napoleon

WECIEEEE IS

(&) SAforeT & TS 37T aTell HiSATSAT
(&) aaferaet & ehdre

(3 AN TeraeT Fr aram

3.

(i) The painting “The Dream of worldwide
Democratic and Social Republics” was
prepared

by whom?

(i) 9fcer "g SreT 31T gesarss”

oT

ferereh gan?

(a) Giuseppe Mazzini (b) Frederic Sorrieu
(c) Henry Patullo (d) Duke Metternich

(T) 7@ AT (3 s AR

(@ & dee (&) 5 Aeelia

(i) What has the artist visualised in the print?
(i) el o e A FaT @ 87

(iii) In what way does the print depict a utopian
vision?
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(iii) Toie fore oXE & Teh JEITU T a2 &

4.
(i) Identify the figure on the stamp.

(i) EeT#T W 37fehd 3MTepfd T gg=av|

(i) What is the significance of the figure?
(ii) 3TTepfcY T T Hecd &7

5. Who among the following has painted the image of Germania?
fArafoiaa & @ forae Seifaar $r ofa & T fRarg?

a) Nathaniel Currier

b) Philip Viet

c) Edward Bailey

d) Richard Saltonstall Greenough

T) AATATS FIRIT

N frfer faaa

dnusas Soi

3 Ras Arecaceid MaTw

6. has portrayed as holding on the base of
the boot, so that the King Victor Emmanuel can enter it
from the top.

o ¥ AUR W gifesd & &9 A Ry fhar g,
ST e SHUS 3HH Ja Y Heh

a) Ottoman Bismarck

b) Giuseppe Mazzini

c¢) Garibaldi
d) Cavour

a) A [HTATH
b) 7@ AfS=
c) IReTear

d) &harR

Page3 5
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Case/Source Based Questions

HH/AT AT TR

1. Socially and politically, a landed aristocracy was the dominant class on the continent.

The members of this class were united by a common way of life that cut across regional
divisions. They owned estates in the countryside and also town-houses. They spoke
French for purposes of diplomacy and in high society. Their families were often
connected by ties of marriage. This powerful aristocracy was, however, numerically a
small group. The majority of the population was made up of the peasantry.To the west,
the bulk of the land was farmed by tenants and small owners, while in Eastern and
Central Europe the pattern of landholding was characterised by vast estates which were
cultivated by serfs.

AT 3R IASTAITR T @, Teh 8- 3HTHST F97 HgTedid IR Fo@ 997 AT| $H T97 o He e
SHeT & Teh ATATT {ich @ Tehole A i 811 fATSTaAT &bl hied A| SeTeh I FATHT SeTeht
31 2AET-ERT A Fuferdr &ff | 3egiet heaticl & 3egedl 31 3= WATST A ST #1717 el | 3eTeh
URER 3R AT & T A 33 81 A| §TellToh, TG ATFATE TR ot Heares & @

T =xr=T Trrr= orr1 AtFerTTar Y= ek T N ofr)

afRad #, 3rftrmrer 1fH HrRaHRT 3 B¢ ATfers! garT Wt i AT o, srafd gdf 3R #e
JUY A A ST & YT I AT faemer @Fuer A St o Hhi garT Welt &1 Sl 2|

“Answer the foIIowmg MCQs by choosing the most appropriate options:
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2.

Y 39T Qe geleh] 3a ¢

A. Which was the dominant class on the continent of Europe?

U9 HGTEGT R Yo JeT shieT-|T AT?

i. Tenants TRRIER
ii. Small owners BI¢ ATfH
iii. Landed aristocracy ${f# 31T g9t

iv.  High class society 3T ga1 GHTSl

B. What did the majority of population comprise of?
qg{-lcqqo STTHET H &7 QMfae AT?

i. Tenants TRRIER

ii. Small owners B¢ ATl
iii. Peasantry fraTeT
iv.  Land holders ${f# &

C. The given passage describes the social and political life of this class
T T AT 37 397 & IrATfoe 3R TS fae SiasT #T auid T g
i. peasants frameT
ii. aristocracy and middle class 3RS g3 3R FAETH TT
iii.  big land owners &3 & Hifeleh
iv. peasants and small owners fhareT 3R BI¢ ATfers

D. Aristocratic class used to speak French for the purpose of

Fellel et fohdieh 3652 & Whd aleldr UT?
i. farming on a big land Teh 31 A X T
ii. diplomacy and high society heala 3R 3T FATST
ili.  unity among the members He LT & o Tehclm
iv.  educing regional divisions &1 TSI ol FATETT hieT

In 1848, Frédéric Sorrieu, a French artist, prepared a series of four prints visualising his
dream of a world made up of ‘democratic and social Republics’, as he called them. As
you would recall, artists of the time of the French Revolution personified Liberty as a
female figure—here you can recognise the torch of Enlightenment she bears in one
hand and the Charter of the Rights of Man in the other. On the earth in the foreground
of the image lie the shattered remains of the symbols of absolutist institutions. In
Sorrieu’s utopian vision, the peoples of the world are grouped as distinct

nations, identified through their flags and national costume. Leading the procession,
way past the statue of Liberty, are the United States and Switzerland, which by this time
were the revolutionary tricolour, has just reached the statue. The concept and practices
of a modern state, in which a centralized

power exercised sovereign control over a clearly defined territory, had been developing
over a long period of time in Europe. But a nation-state was one in which the majority of
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its citizens, and not only its rulers, came to develop a sense of common identity and
shared history or descent.

1848 #, Teh WIATHT delleh, hsRer AINY A 'dliehclitieh AR ATATTSIH TURISAT § F=ir
GfeTaT % 37T HOeY T FHoTedT Tt §U TR TSt T Teh HEell IR &Y, ST i 3egiel 3e¢
SoITT AT| ST feh 3T9ehT F1e; BIaTT, SHIETET Shifcl & HHI o hollehRi o TIEl T Teh Hfigelm
3MepTcl & &9 & AT foham AT - JgT 379 Teh g1 H AT T FATT R GE@ A AT
TORRT & T T TgTed Tohdl & | ST o AHT H Gl W feper TEAT3HT o Fefrenl
o ET A ¥ B A g T #, gferar 3 ot ¥ R & w9 o aefig R

—

TSg, 3e7eh F5 3R ISET URATeh oh ATEIH W Gg T ST 8 | STefd T aicfed d §U, Toraret
THAT & 33T, T T AR 3R Faesitels, Sl 58 FAY T shifaehry falem &, 3ref
AT T 9D & | T MY feieh T BT 3TaURom 3R 92UTT, frad Ueh shlehd AT TIse
w9 I IR &7 TR T3] =0T &7 SATeT Xl o, I 3 o Torr & Faenfaet g1 1 |
ATheT Teh ASE-ToT dg AT [T 3Tk ITHIer AR, 3R 7 hael 39 S, AT
ggaTe 3R g1t sfasrd ar g i g A fad &a |

A. What was the theme of painting made by French artist?

TR ShelTehR GaRT SeiTg 315 Ufear o1 fawr arar am?

i.Constitutional Monarchy TatIfish Tr<T2Mmer
ii. Absolute Monarchy ot IrTemgr
iii.True democracy d=ar '

iv.Democratic and Social Republic @diT e 3R TGS IRTT

B. The utopian vision of French artist Frédéric Sorrieu was

HIRATHT helThR $hsReh AIRT &1 eI+ faeter ar

i.The peoples of the world are grouped as distinct nations, identified
through their flags and national costume. gfeT o STt el 3TeTT-37eTdT TS o FF
A qafiehe fohalT STl &, Tolos 3eTeh 1S 3R TS WIRITeh & ATEIH & Tgledl Sifell g |

Leading the procession, way past the statue of Liberty, as the United States and
Switzerland, which by this time were already

ii.nation-states. Hgerd AT IARDT & & H, Tl &I el & IS SofdH T Acjca
T 3R Raeorels, Sit 50 6T d& 9go 4 &1 Ise-Uod |
iil.France, identifiable by the revolutionary tricolour, has just reached the statue.

FifaeiT fader ¥ YgdTe SieY aTelT Shid Hﬁﬁ—HaﬁQﬁﬂTaEFCI?T%I
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iv.The concepts and practices of a modern state, in which a centralised power
exercised sovereign control over a clearly defined territory. Teh MEET?W T Hr

3TTYROMT 3R T2ATT, TGS Teh dhdlhd QTFd TISC &I F

C. French Revolution personified Liberty as a female figure, she bears the torch of
Enlightenment in one hand and ........... in the other.

S Shifd o THal sl Teh Afger 3Mepfd & &9 & g&dd fohar, ag v gy &
FTAIGT I A2l IR GAT A ........ T YROT T B

. Charter of Rights of Man HeJsaI o IR T =Y
i, Constitution TfdeTeT
i.  Charter of Rights of Woman #ATgeIT 3R &1 arex

iv.  Bible ar3fser

D. Which of the following pair represents two nation states?

AFATATET # & et &7 SIST ar Usg AT a1 Tl Biea sear g?

i.United States and Switzerland Hged I 3ARHT IR ez
ii.Britain and ltaly fsi¢eT 31X gcelr
iii.Spain and Portugal ¥JeT 31X qeiaTmel
iv.Japan and Turkey STTaTel 31X Jehf

3. Economists began to think in terms of the national economy. They talked of how the

nation could develop and what economic measures could help forge this nation
together. Friedrich List, Professor of Economics at the University of Tubingen in
Germany, wrote in 1834: ‘The aim of the zollverein is to bind the Germans economically
into a nation. It will strengthen the nation materially as much by protecting its interests
externally as by stimulating its internal productivity. It ought to awaken and raise
national sentiment through a fusion of individual and provincial interests. The German
people have realised that a free economic system is the only means to engender
national feeling.’

STRMEAT IASERT HITTTAT & HEGH H AT o7 | 3oalel a1 T fob Fa

TS T TAHTH 81 FohdT & 3R Fled & 31Tk 3UTT 38 TSE FI Teh T1Y TdTa H Acg A Fohdl
g | ST A fiaret faeafdeamerar # 3reiemes & Wher thsReh faree 4 1834 7 forar: ‘sherafie
T 30T STHeAT I HTTNH T F Uh TSE H TTYAT & | T@ S1gA €T H 3791 gl hr I&T
hieh 3R 37T AR ScTTEehT Sl AT Hieh TSE i A T A Icf=ll 8 HoTecd
FIT| 3B FTFdITd 3R AT Rdl & TeldeT & ATETH T TSI TG Y ST 3R o5

ARTI AT A9 F ARG 7T & o v \ea 30 caawar & YeT siat T TehaATT arere
TS AT
A. State the aim of the Zollverein in Germany.

STHAT 7 SATTdRT AT 3663 TASU|
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(i)  To divide German regions ST &Y &l TAsTITod et & forw

(i)  To bind the Germans economically into a nation ST#=T T TS &7 F Th
ITE~ TF ATeTY A AT

(iiiy  To support time consuming calculations & ofel ATl IVTATT ST AT et
A AT

(iv)  To create confusion in trade SITIR & 3 YT et & forw

B. How does a country become stronger?

IS 32 HY AT Felcll 57
(i) By conquest IEEREGIE
(i) By making alliances TSI TolTeh
(iii) Both (a) and (b) gt (@) 3R @)

(iv) It will strengthen the nation materially as much by protecting its interests
externally as per stimulating its internal productivity.

I T8 &G I 39T &l hr 61T heh Treg ol $HfTeh &9 & 3T 8 HTT Ham
ST AR ScdTeshdT I 30T FA o AR |

C. Who was Friedrich List?
heeh ToEe Sl AT?

(i) Professor of Economics at the University of Tubingen in Germany

aﬁ?ﬁﬁaﬁaﬁm%emﬁyﬁeméﬁm

(i) French artist WIETET Shelleh X
(iii) Philosopher HRICED
(iv) Painter dex
4. Following the defeat of Napoleon in 1815, European governments were driven by a

spirit of conservatism. Conservatives believed that established, traditional institutions of state
and society—like the monarchy, the Church, social hierarchies, property and the family—
should be preserved. Most conservatives, however,did not propose a return to the society of
pre-revolutionary days. Rather, they realised,from the changes initiated by Napoleon, that
modernisation could in fact strengthen traditional institutions like the monarchy. It could make
state power more effective and strong. A modern army, an efficient bureaucracy, a dynamic
economy, the abolition of feudalism and serfdom could strengthen the autocratic monarchies
of Europe. In 1815, representatives of the European powers—-Britain, Russia, Prussia and
Austria— who had collectively defeated Napoleon, met at Vienna to draw up a settlement for
Europe. The Congress was hosted by the Austrian Chancellor Duke Metternich. The delegates
drew up the Treaty of Vienna of 1815 with the object of undoing most of the changes that had
come about in Europe during the Napoleonic wars. The Bourbon dynasty, which had been
deposed during the French Revolution, was restored to power, and France lost the territories it
had annexed under Napoleon. A series of states were set up on the boundaries of France to
prevent French expansion in future.
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2¢2s H AN T gR & F1e, JUINT ThR Ffgare Sl H1aeT & IR ¥ | fgarieat 1 At
o7 foh T 3R FATST T T, TRUR FEATHT-S14 TSTRATEN, <, HIAToTh Tallshd, HUia 3R
qRaR- &1 TRaTd R S anfg e siftreier wfeard, greife,

qa-shifdehRY feeit & HATST H aTad 1 TETa +Tet | dfcsh 3¢ Tgard g3,

AT GaRT Y& fohT 31T AR &, o 3megfoehlenor areca # ISTATET Sl IRUN HEAT3HT
ol HSTE(T Y FehclT & | g T T FAT bl R 31TReh Tl iR AT F1T Hehell &1 Teh

3Megfoteh AT, Ueh =Ml AIhIRATEN, Teh ATcTeMer IeTTEUT, ATHIATE IR $ERIcd T 3w clel JIT
o TR TSI Y HoTG Y Fehell ¢ 2¢29 H, AT it & wfdiAtar-faeer, &4, gfrar
AR 3T Segie arefes &9 8 Aqiferae 1 g o1, U & T T FHSIAT At & fow
%ﬂﬂﬁﬁﬁlﬂ%ﬁﬁmﬁﬁ%ﬂ%ﬂﬂ%ﬁﬁﬁﬂﬁﬁ%ﬁﬁ%ﬁﬁ%%

N N N e A o C NN C NN NP PP N N TN}

P IEICRICEN mmm%mmwmmm a#rw:fra’grara»—{%mw
T, 31 B & NI o 31efieT T 31T &51 Y @ fe=ar o) Jfasy & wiahdr ATar &) vt &
TorT s T TATHT T Tt HT Uk @t TATTIT dhr 1 2|

A. Which of the following statements correctly describes about European conservative
ideology?

AT # & leT A1 FHYF JUNT FiGATEr TATaRURT & IR # T IoTe AT 87
()  Preservation of beliefs introduced by Napoleon. SHIToIIsT GaRT Y& & TS

TT=oTaT2rt AT TTeITIT

(i)  Preservation of two sects of Christianity. HTS €37 & &l TUETAT ST HIETUT|
(i)  Preservation of socialists’ ideology in economic sphere. 3T &3 &

T TATRASTY &y R=remaT aT mrearTi

(iv)  Preservation of traditionalist beliefs in state and society. T3 3R THATST #H
TUTUITATAT TOT—=3TaT2aY AT TTeamT

B. Identify the purpose to convene Vienna of Congress of Vienna in 1815 from the
following options.

fAFfaf@d fashedt & @ 1815 & faT=11 1 o [aAT T JoTal & 3Ry i ggled
|
()  To declare completion of German unification. STl TehTehi0T & T gt T

GIYUT el o foIv| .
(i)  To restore conservative regime in Europe. I & &fGaTCT ATHT I SgTel

FlA & forv| .
(i) To declare war against France. & & fQTh e I BIY0T it & faT|

(iv)  To start the process of Italian unification. ScTeldT TehTRTOT ST FshaT &

aa—é?r. A : :
C. What did conselrvatlves focus on at the Congress of Vienna? Select the appropriate
option.
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fagreT 1 e & Sfeariedt « foha o are hicd fhar? sugerd faehed i =de
|

0] To re-establish peace and stability in Europe.

(i) To establish socialism in Europe.

(i)  To introduce democracy in France.

(iv)  To set up a new Parliament in Austria.

(@) JUT A Qi 3R FERAT Y T & T it & foT|
(&) I 7 FATSTE T A & v
(&) SAIET H Siehci &l &3 T |
(SY) 3TTETT A Ueh oI5 HHE TATTUS el o ToIT|
5. Ernst Renan, ‘What is a Nation?’

In a lecture delivered at the University of Sorbonne in 1882, the French philosopher Ernst
Renan (1823-92) outlined his understanding of what makes a nation. The lecture was
subsequently published as a famous essay entitled ‘Qu’est-ce qu’une nation?’ (‘What is a
Nation?’). In this essay Renan criticises the notion suggested by others that a nation is formed
by a common language, race, religion, or territory: ‘A nation is the culmination of a long past of
endeavours, sacrifice and devotion. A heroic past, great men, glory, that is the social capital
upon which one bases a national idea. To have common glories in the past, to have a common
will in the present, to have performed great deeds together, to wish to perform still more, these
are the essential conditions of being a people. A nation is therefore a large-scale solidarity ...
Its existence is a daily plebiscite... A province is its inhabitants; if anyone has the right to be
consulted, it is the inhabitant. A nation never has any real interest in annexing or holding on to
a country against its will. The existence of nations is a good thing, a necessity even. Their
existence is a guarantee of liberty, which would be lost if the world had only one law and only
one master.’

3EC IoTeT, 'Teh TSE FAT 872"

1882 # ARENeT favafacarery # fau 1w v carears &, Hiar areifaes 3eiee YefeT (1823-92) o
379 HHST T IQTThd TohaT foh Teh TSE AT IATAT & | SATEAT &16 7 'Qu'est-ce qu'une Isg?’
("0 IrSg AT §7") FATHD Teh TS fAerer o & H Fh1iRId g3 8 foeer & 3711 GGG LS
TS YO T 3TATIT I & T Teh ISE Teh 3TH AN, AT, €37 AT & A SodT & 'Teh TS YATET,

afereret 3R a1fFd & & 3rdid 1 aRorfa §1 v 9] 3rcfia, Ay, aika, I8 a8
ATATSS Yol & Ford av veh UsEr faam 3menrRa giar &1 31T 7 G 31 glelr, aATeT # Teh

AT STOT IWAT, Teh T HGTT pI F¥aT, 3R 8ff 318 Fea T swo1 3@aT, 3 veh cafard gl v
TG Aci ¢ | Teh TSE SHTAT Teh 3 YA TR Ueholeell © ... SHeRT ITEcicd Teh &foleh STl TG
& ... Uoh Uid 3HeT [AarT §; 309K ) 1 Goltg ol 1 318 §, Y ag [Fard &1 e Ise fir
gToT & favey fore 32T &1 3e Feal 3 A AT 3T W Feall et 3 HIS AEATIH S 76T gl &
ITSET T 3TTEcIcd Teh HTHT 1d &, Teh HTARThdT $T| 3oTeht T¥cdcd TATAT hl IMRET &, S @ ST

TP 7 2AT I FFar Uas &Y SYAT R AT Fgar vas & mardr !
A. A nation is the culmination of a long past of

Teh TSC & Teh oid 37 &l RO &
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(v) endeavours 91

(vi) sacrifice afelglel

(vii) devotion #fFa
(viii) All of these 3oT gt

B. What does a nation guarantee to its citizens?
Teh TS 39 AT ST FAT IMRET ST &7
(ix) Liberty IGEE
(x) Happiness gt
(xi) Wealth e

(xii) Health TIreeg
C. Ernst Renan was a .............. philosopher.
3EC T U ....... ardifaas |
(xiii) British fafeer
(xiv) American AT
(xv) French e
(xvi) Japanese STAT=AT
D. What is/are the essential condition/s of being a people?
Teh IfFd glet & folT 3maedss ad #ar 8/2?

(i) To have common glories in the past

(i) To have a common will in the present
(i) To have performed great deeds together
(iv) All of these

(i) 37T & TAT IR I & fow
(i) TAHTA H Teh 3TH STOT IWA & ToIT
(iii) Tep T HAGTeT H1Y T o ToT
(iv) o Tt

6. Read the source given below and answer the questions that follows:

The first clear expression of nationalism came with the French Revolution in 1789. The
political and constitutional changes that came in the wake of the French Revolution led
to the transfer of sovereignty from the monarchy to a body of French citizens. The
revolution proclaimed that it was the people who would henceforth constitute the nation
and shape its destiny. From the very beginning, the French revolutionaries introduced
various measures and practices that could create a sense of collective identity amongst
the French people. The ideas of la patrie (the fatherland) and le citoyen (the citizen)

emphasized the notion of a united community enjoying equal rights under a constitution.

A new French flag, the tricolour, was chosen to replace the former royal standard. New
hymns were composed, oaths taken and martyrs commemorated, all in the name of the
nation. Regional dialects were discouraged and French, as it was spoken and written in
Paris, became the common language of the nation. The revolutionaries further declared
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that it was the mission and the destiny of the French nation to liberate the peoples of
Europe from despotism, in other words to help other peoples of Europe to become
nations. Answer the following MCQs by choosing the most appropriate option-

S few arT A @ U 3R A fafad ueal & 3ar & Iseare 1 ggelr Tase 3iffeafad 1789
# P Shif & AT g | B shife o dTe 3T IAsieAtfcen A Fenfas gRada &
SHIOT HYSCT T GETTNOT §31T| ST AR o Teh AT & ToIT TTRITET| Shifel o
EiryoTT St T3 g @eT €1 & S 319 & Isg T AATOT H{aT 3R S8F A9 1 HHR S| YA
8, ShITE ShifcehRAT o afdet 3ural 3R T3t hT Q31T hT it e ot & e
HTH[Eeh TgTeT chl ATl UeT oY Hehd A o 9T (M) 3N o Neae (AeTRe) &
TRt &1 Ueh ATAETST o gl FATET ITRRRT ol 3HTeTe; ofel dTel Teh HYercl HHACI hi YROTT T
SR f&T| & QATET ATeTeh I Sgelel o fIT Teh AT AT st fAaT J1m a1y 7| e
ST TR AT HSTeT T 31T, ATY ol 315 3R ARIGT T ATe, fohaT 3T | &1 Siferdr r gdicared
forar arar 3R thay, ST T IR & aelr 3R fordT ST &Y, IS¢ fr 373 H1WT §7 915
ShifciepTRaT oY 37T BNVoTT Y fo JAT & ST T HGHRAAT @ FHeFel AT AT T T
et 3R 9T AT, g 2TeaT H IT o 37 AN i TSE dolol H HEE, hieAT| O 3UTSFA

A. What did the Ideas of ‘la patrie’ and ‘le citoyen’ signify in the French revolution?

BT shifa & o 9 3R o e & [A=RT 1 & 377 am

(i) The Motherland and the children HATTH 3R s=a
(i) The Fatherland and the citizens g 3R o=
(iii) The community and the citizens JHGT 3R ARTRS
(iv) The state and the community 159 3R @He™

B. The first expression of nationalism came with:

SCAlG T Ggell AT T o AT 37T T

(i) The industrial revolution of England g3oig T 3iicaifEIes shifa
(i) The American war of independence AR TadTdT GITH
(iii) The French Revolution SiETET shifa

(iv) The Russian revolution &Y shifa

C. The French revolutionaries declared that the mission and destiny of the French
nation was

ST ShTTASRIIRET o TTeoTT hr foh STy Irse &t TAR 3R e ar

Page44
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|.To conquer the people of Europe. IR & o131} &l ST
I.To liberate the people of Europe from despotism. 1T & et shr faeperdr &

HoA hi-ATI

I1l.To strengthen absolute monarchies in all the countries of Europe. H@tra?ﬂaﬁ
?'9ﬁ'ﬁUUﬁ' Jln-h-i-:l @' HAdA RITATI

IV.To propagate the ideals of liberty, equality, and fraternity in every part of the

world. gfeaT & gT BT & T, AT 3R TEcd o el T T=R HeT|

D. What changes came in the wake of the French Revolution?
(i) The political and constitutional changes came in the wake of the French
Revolution
(i) The social and economic changes came in the wake of the French revolution.
(iii) The social and cultural changes came in the wake of the French revolution.
(iv) The linguistic and cultural changes came in the wake of the French Revolution

ST Shif & ST Fam IRad gu?
(i)mﬁawmmmma:m@
(i) SHIEET Shifr & a1 FTATToR 31T 3T gRadeT 3T
(iif) AT 3R ArEpicieh TR BT Shifd & e 3T
(iv) TR ShifcT o a1 SIS 3R Aeepfaeh aRadsT 30|

6. The French Revolution and the Idea of the Nation:-

The first clear expression of nationalism came with the French revolution in 1789.
France, as you would remember, was a full fledged territorial state in 1789 under the
rule of an absolute monarch. The political and constitutional changes that came in the
wake of the French revolution led to the transfer of sovereignty from the monarchy to a
body of French citizens. The revolution proclaimed that was the people who would
henceforth constitute the nation and shape its destiny.

I shifd 3R TS &1 f9aR:-
wﬁmwa@wﬁﬂsgﬁmaﬁﬁ%mﬁééﬁ%mmm,

ShIE 1789  Teh qUT HHIC & QATH & dIad Ueh quT 8111 Ty 1| shidiell shifd & arg 3w
ToTeiticieh 3T HEnfoleh aRacal of AT ohl TSTATET  SHIHIHT AR o Teh To¥epry H
TATATTRT Y CAT| it & TNOT Y o & 9T & A 379 § Tse T (AT H391 3R 573
ﬂﬂ'ﬁ‘ﬁ@%&“ﬁh? French revolution proclaim?

(i) The French revolution proclaimed that it was the birds who would henceforth
constitute the nation and shape its destiny.
(i) The French revolution proclaimed that it was the married men who would
henceforth constitute the nation and shape its destiny.
(iif) The French revolution proclaimed that it was the people who would henceforth
constitute the nation and shape its destiny.
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(iv) The French revolution proclaimed that it was the nature which would henceforth
constitute the nation and shape its destiny.

TR Shifer & &FT ENYOTT r?

(i) ST shifar oF EwoT i fF T8 gaft &1 & Y 319 g 1 AATOT ey 3R 5T AT
3THR S|

(if) SATEET shifct oY ENoT Y o T fAanfed qew &1 & S 3/ & s o1 fAHTor H3Er 3 ga
T T 3THR 37|

(iiii) SATETET ShifcT o ETYOTT T foh TE 19T &7 & ST 37 F IS T AT 3T 3R 5HS AT Hr
3R 3T |

(iv) SIETHT hifcT o EwoTT &Y o g Sehfer 81 &Y St 319 & rog oht THATOT el HI sqehr
foafa &1 3R &9t

B. When did the French revolution start?
0] French revolution started in 1889.
(i) French revolution started in 1879.
(i) French revolution started in 1789.
(iv)  French revolution started in 1989.

ShTH BT ShifcY ohel AT §S?
i.55eT ShITeT T faehrer 1889 H 2[E §3T
ii. S ShIT faehrar 1879 # ® g3
iii. ST I T fehTa 1789 H YE 3|
iv. S ShIf T faehrer 1989 # 2[E E3

C. How was France in 1789?
0] France was a full fledged anti national state.
(i) France was a full-fledged territorial state.
(i)  France was a full-fledged secular state.
(iv)  France was a full-fledged autocratic state.

1789 H I HaT UT?
(i) AT Teh quT Trsg-faedt s 2|
(ii) ShTE Ueh ot wrefRes e 2|
(iif) ST ek qUT e feiUeT T |
(iv) SAIE Teh qUT Toeher T T

D. What changes came in the wake of the French Revolution?
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(i) The political and constitutional changes came in the wake of the French
Revolution

(i) The social and economic changes came in the wake of the French revolution.

(iif) The social and cultural changes came in the wake of the French revolution.

(iv) The linguistic and cultural changes came in the wake of the French Revolution

ST I & ST AT IREc gu?
(i) Tt AR Faemfarsh TRaceT SHrETe shifd & d1e g
(ii) ST shifa & aTe IEfare 3R 3T gRadeT 3nv|
(iif) |TATTSTR 3R AEpicieh TRacteT BT Sifcd & dTe 3T
(iv) SHTEET ShiTel & STe; HTYTS 3R HIEhicieh IR 3T

Answers: -

Multiple Choice Questions:
1) D 11) B 21) B 31)B 41) D
2) C 12) B 22) C 32)D 42) B
3) C 13) C 23) D 33)B 43) C
4) A 14) C 24) D 34)B 44) D
5) A 15) B 25) C 35)B 45) B
6) A 16) C 26) C 36) A
7) B 17)C 27)C 37)B
8) C 18) A 28) C 38)C
9 A 19) A 29) C 39)B
10)D 20) B 30) A 40) B

Assertion and Reason:
1) C
2) C
3) D
4) B
5) A
6) B
7) D
8) A
9) C
10) A
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Elaboration of Assertion and reason questions:

FTAFUF 3R FROT 9T T TR

. Ans. (c) Assertion is true but reason is false.

Italy was divided into seven states of which only one, Sardinia-Piedmont was ruled by
an Italian princely house. The north was under Austrian Habsburgs and the southern
regions were under the domination of The Bourbons of Spain. Therefore assertion is
true but reason is false.

() 31TAFUT TEY & AfheT SHROT I &

Scoll ! ITd =T A 3o o arar a1, f9a8 & Shaol Ush, giisi=ar-ysHic o
Teh STerd! RATA T QM UT| 7R ATCATS gedadl o 37efeT a1 AR il &7 T &

KRS (ac;) Asseﬁigﬂ %?{fm%lr?gagmfalse. el

Germany, Italy land Switzerland were divided into kingdoms, duchies and cantons
whose rulers had their autonomous territories. Diverse people lived within the territories.
They did not share a collective identity or a common culture. They spoke different
languages, belonged to different ethnic groups, there were no close ties binding them.

3aX| (1) THGUT TET § ol fohe] HRUT ITld g |

STHeA, ol ${fA Teacaels & o, STl 3 sheet # TastTiare fovam aram a1 foteteh
ITHRT o YTH 3eTeh TATI &1F | Gt & iR fafaer oot g &) I Teh Affes qgarT a1
Teh 3TH HERICT HIST 76T L A| d 3TeTIT-37e09T ANV el &, 3TeTT-3701T ST H gl 6
T &, 3e¢ ST aTell HIs TS T sTaf AT|
. Ans. (d) Both assertion and reason are false.
Mazzini’s relentless opposition to monarchy and his vision of democratic republics
frightened the conservatives. Italy had to be forged into a single unified republic within a

wider alliance of nations. It could not be a patchwork of small states and kingdoms.
Thus both assertion and reason are false.

3| (d) 3fAwyeT 3R FROT AT 3T §

AT & TAEY & 37U AN 3T Ahdifae IURTSTT & 3eloh TEHIUT o
wfgarfeat st s fam| Treet & caraeh Taat & Hia STl I Teh Tehlehd VRIS & &9
H TU1fOd fohar ST1er 41| g B U 3R RATHAT T [RAIUST 781 &1 HhdT| 3d: U 3R

. FRRY. {51 Bh =L Mtion and reason are true but reason is not the correct

explanation of assertion.

Culture played an important role in creating the idea of the nation: art and poetry,
stories and music helped express and shape nationalist feelings. The year 1848 was
the year when rise in food prices or a year of bad harvest led to widespread pauperism
in town and country. Earlier in 1845, a large crowd of weavers emerged from their
homes and marched in pairs up to the mansion of their contractor demanding higher
wages and had led a revolt. Therefore, both assertion and reason are true but reason is
not the correct explanation of assertion.
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3R (b) 3THRUA 3R FRUT Sl TET & ol fehed PIROT, U hl TGl SATEAT Al g |
USE o AR Y SATel 7 HERI o AgeaquT ${fHT [T811S: dhell AR i, ari=rar 3R Hafrd

oT ITSCATET HTGAT3T ol ST Flel 3R IR Sl H FACG hl | IY $¢8¢ I IV AT ST Wied ShiAd!
JETR AT TS BT o IY o AT 3T S F AT FHalTeldll bl Sied T6AT| SHA Tget 1845 H,
AR Y T 2T 3713 3T TR & FAchell IR NS # 391 SeheR T golell deh 3od eIl H
HIIT X T AT R AR fagie 1 wiqed foham| $afAT, w2 3R FROT g1 T & wifeheT HROT,
HUT T FET <TTEAT AT ¢

5. Ans. (a) Both assertion and reason are true and reason is the correct explanation
of assertion.

The French Revolution proclaimed that it was the people who would henceforth
constitute the nation and shape its destiny. From the very beginning, the French
Revolutionaries introduced various measures and practices that would create a sense
of collective identity amongst the French people. The centralised administrative system
was one of the measures taken for making uniform laws for all citizens within its
territory.

3¢ (T) AfAHU 3R FROT ST G & 3R FROT HUT I T TrEaT g |

WY Shifar & BT Y {3 T8 oeT & & S 379 & IS¢ T [T ey 3R 30
1T T TR 21| Y& A &Y, S shif e Rt o fafdest 3urat 3R gt v Qeaid
I ST 91T o Sl Arefgeh TeTel hl $ITaieTT e hial| chelehe TRITHToeh JOTTel et

6. SEKhS. 1) BT Ga<er iToh TR d s it S Thae b (1 Feaed AT TBT AL 8 Srpetit

explanation of assertion.
This situation refers to the unification of Britain. Assertion refers to Scottish people and
how they suffered because of the long-drawn-out process. Their culture and political
institutions were systematically suppressed. However, the reason refers to how the
Irishmen suffered in the hands of Englishmen as it was a country deeply divided
between the Catholics and Protestants. It was largely a Catholic country but the
Protestants got support from the English to suppress the Catholic revolts. It does not
explain the assertion.

3| (b) 3TAFHUT 3R FROT ST HEY & AT HROT, HUeT T Tl SATEAT 781 ¢ |

I Teufa foeet & whienor st T feid oidt &1 3ifRehsT Thifeer aer &l defdd
YT & 3R ol FHT A Wil 1S UohAT & HROT 3¢ Y JehdTel G| IeTehl HERId AR
TSt e AT &7 T Ud 9 & eH T ITAT| ETeAT[oh, SHHT YT T STl & o
& TARLT ST ol IS o GTUT JehdTeT ST YST Fifeh Ig hlfeleh R JleEee &
I TS B TSI 2T AT| TE FIhY 8¢ doh Teh h2iifoieh 82T AT ifeheT haforeh fagiat

R e e R T TR o e

their places in the Frankfurt parliament convened in the Church of St. Paul. The issue of
extending political rights to women was a controversial one within the liberal movement,

in which large numbers of women had participated actively over the years. Therefore,
both assertion and reason are false.
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37 (d) ATAFY 3R FROT eIt 3T & |
18 7% 1848 a1, 831 faataa wfafafat o dc aier o< & 3maifara thevwe Tag & 319eir

STATE olel o foIT Teh 3cqd Sfefd & AT 3T | AT bl ToTelifcieh TSR ol T HeaT 3GRATC)
3fiererel & $ieR Ueh faarerede Heer or, fSad st @ # Afgern3it 2 asi & @iy &9 & 1197 form

AT| 37T AT 3 HROT &l 3T & |

8. Ans. (a) Both assertion and reason are true and reason is the correct explanation
of assertion.
The local population of the conquered area showed mixed reactions to the French rule.
In many places and cities, the French armies were welcomed as the saviour of liberty.
People hoped that the French armies will promote freedom on their land.
On the other hand, when people’s political freedom was restricted they became hostile
irrespective of the benefits of administrative reforms. Increase in tax, censorship and
forced and essential services to the French armies were some of the measures taken
by the French rule, which made the local population hostile.

3| () 3TAFUT 3R FROT 1 T & 3R FROT HUT T T&T &7 8
fafSra &Y Fr TUTRT ey & BT emaeT & ufa AT ufafhar fewrs | ws Tt
3R AT H, TTTTAT & T&Th b T H HIHTHT JATHT T TATTT [haT IrAT| AN T 351G oY

2 e e /=B = o o= o =T i

gl 3R, STa ATt hr Tateiifcres Fac=ar @ gfdefrd X fgar o, ar 3 werafaes
GURT & o134} & dTds]g o 81 7T | & & Feie, TERRIT X SHIee A=3it ol STekat
3R 31aRIeh JATT HIEET ATHT SaRT 3STT T FS 391 ¥, fFHe TUTAT TSI Y

R ChLl iaZII_I . .
9. Ahs.\c) Assertion is true but reason is false.

It is true that Conservatives wanted gradual change and believed that established
traditional institutions of state and society should be preserved but the reason is not
correct because Zollverein was German customs union, it does not relate to the
preservation/conservatism.

3| (@) 3ifRwUa TEr & AfheT FROT 7T B

Ig 9 ¢ T Tleard) siAes gRadd aigd & 3R 3deT AT A7 fof T 3R AT &

TATT IRUNE TEUTAT I FIH&IT FHIT ST ART AfheT FHIROT TaY 78 § FifFh
10.'Ans. (a) Eotk%éﬁnﬂﬂeﬁﬁ%@ue angrreasona_i-'sﬁﬁel correct explanation

of assertion.

33X (T) AfAFUT 3R FROT ST T & 3R FROT U I TET TrEAT & |

Picture Based Questions

@ (o

(i)  Frankfurt Sheptrc

(i)  The Frankfurt Parliament, to discuss the question of extending political rights
to women.
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5.
6.

Case/Source Based Questions:
1.

(b)
(©)

(iv)

(ii)

(iii)

(i)
(i)

(i)

(i)

hepthe THC, T el o ToTT ATRAT3AT I Tk TSR oY T T |

Women are shown in the upper left gallery, attending the Parliament only as
observers.

AR & 9 I1C Aol 7 @R =7 §, Shdol IAAETH & T H TS H HET
AT

The picture is that of Napoleon Bonaparte

TJEIR AaifereT Siarare 6 g

Napoleon is shown as a postman on his way back to France after losing the
battle of Leipzig in 1813. Each of the letters, that falls out of his bag, has the
names of his lost territories.

TS H AN 1 s1ferar & &9 F fe@rar a7 § afeen i 7318 gRa & 91¢
ST AT 1813 H| Jedish 3HaT, ST 38  foeherall & o9, 38 @T U TGl
TS|

(©)

(b)

Through the painting, Sorrieu visualised his dream of a world made up of (a)
democratic, social republics, (b) equality and unity of all social classes, (c)

Liberty and other basic rights of man, (d) fraternity amongst nations and (e)
destruction of absolutist institutions.

AfeaT & ATETH A, ARG A 319 heTaAT T (T) ehehcllHeh F Sl gfT T FYTT,
grATToTe RIS, (&) GATTAT 3R T3 i verar grAias e, (@) Taaaar i
3 iAATET TSR e 1, (3N Iset o e foRredr 3R (§) feper g3
T famer|

Sorrieu’s ideas seemed utopian because his vision of society is too ideal and
S0, is unlikely to exist in practical circumstances.

mm\%%awu@ﬁaﬂwﬁﬁmmmﬁﬁagamﬁ%aﬂi
SATIT, HHTIT Figl ¢ cATagTReh IR TEATaAT # Hisg e

The postage stamp shows the figure of Marianne, representing the Republic
of France.

w%mw%a@ﬁw%ﬂﬁvﬁ,mwwqﬁ%@amyl

Marianne was a female allegory invented by artists in the 19th century to
represent the nation of France.

ARTT 19 dF erarsdy & W & Tsg &1 YiAfAlicd e & foIt ShellhRT gaR
3TIShR FI 1S Tk AT T AT

1.
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(iii)
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A. (iv)
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(i)
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GEOGRAPHY QUESTIONS BANK

RESOURCES AND DEVELOPMENT
MCQ TYPE QUESTIONS

1. Where was the first international Earth Summitheld?

3.

4.

Tl SRISEI gt R FaAeleT sgl Jmifora fama arar ar?

(a) RiodeJaneiro (b)Geneva
(c) Switzerland (d)Philippines
(©) RIS FaRA () &Faar

(¥ eacerels (31) Torelrdia

On the basis of its origin, resources can be classified into:
3cUTY & TUR W, HATAT T gaffepe fhar ST dehar 8

(a) renewable andnon-renewable
(b) continuous andbiological

(c) biotic andabiotic

(d) recyclable andnon-recyclable

(T) Adeaoi 3R IR-AdremcoiT
CURGEGEE: FSSICED
(@ A3 3R 3w
(@) geT: TS 3R IR-GeAaidietienor
Which state among the North-Eastern states has been fully surveyed for its landuse?
3AC-qdl Tt 7 A fore T &1 A 3uier & farw qot wdator fmar aramg?
(a) ArunachalPradesh (b)Manipur

(c) Tripura (d)Assam
(T) 3BV Te2T (s \oTR
(F) B (@) 3/E=

o]

The ocean resources till 200 nautical miles are classified under whichzone?
200 GHET Hleldeh o FHG HATEET I by &7 & afiepe fonar T g2

(a) Exclusive EconomicZone

(b) Export-processingZone

(c) Special EconomicZone

(d) None ofthese

(T) 39w 3nfde &
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(&) AATT-gEHERIT &1
(@) Ay 3l &
(3N) ST @ FIg et

. Which of the following is essential for sustainable existence of all forms oflife?

Siaet o Gl ®UT o FARN 31fedca & v AFafafl@d & & i ar 3maegs g2
(a) Resourceplanning
(b) Resourcemanagement
(c) Resourceextraction
(d) Resourcegeneration
(T) HET AT
(s) TaTgeT gaEreT
(&) FaTae fasegor
(@) Fary fAAToT

Everything available in our environment to satisfyour needs is termed as:

| EHARITARTAATH PR h T UG AR TATAUTH ST TSt gl T STeh ehg TolTclTe:

(a) technology (b)resource

(c) natural vegetation (d) none ofthese

(T) Sefarhr (&) Faraed

(&) Jrepfcieh gereafd (3) 3TH A FIS Tar

. Geothermal energy in PugaValley and Parvati Valley are:
QR &MY 3R raelt °rél # A el &

(a) Stock resources (b) developed resources
(c) reserve eresources (d) potential resources

(V) dfaa garyeT (&) fasrfaa garyd

(@) IRfEa FareeT (3) FHTAT TATErT

. Which one of the following is the main cause of land degradation inPunjab?
T fed & & hieT daTTe # $7f3 &ROT &l HET HROT 572

(a) Intensive cultivation (b)Deforestation

(c) Overirrigation (d) Overgrazing
(T) 8T Welr @) gt T FerS
(&) 3rferes fa=ms @) 3rcafRes WS

Individual, community, national and International resources are classified on the basis of

egTFeTaTe], FHE, TSET HR HRTSERT HHTUAT T qaiienvT fehdeh MR IR T ST 87
(a) origin (b)exhaustibility

KVS RO RAIPUR........... QUESTION BANK ............ CLASS 10.....ccoerueune SOCIAL SCIENCE
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(c) ownership (d) status ofdevelopment
(T) #q (&) FATT
@) Tarfaca @) T & feufy

10. Which of the following is not classified on the basis of status of development?

ferfaiad & @ fondt faenrer &t FEAfeY & MR 9T gefiche =TET foham 1am 872
(a) Potentialresource

(b) Developed stockresource

(c) Reservesresource

(d) Renewableresource

(V) FHTAT SaTers

(@) TaRfad Tcle Tare
(@) IRTaT Fary=

(3) AdrRoiT JaTE

11. The resources which are obtained from biosphere and have life are called

d HHTUS S SaHASe ¥ 9o 81 ¢ 3R ToleTH Siast 8IaT &, Fgelld &

(a) Biotic (b) Abiotic
(c) Parasitic (d) None of these
(v) Sifas CUEEIEED

CGORESIE (3 AT A FIS T

12. What percentage of land in India consist of fertile plains?

HRA H Tohclel TTARrd $fH 3UeTS Helel & et g2

(a) 70% (b) 38%
(c) 61% (d) 43%
(@) 70% (&) 38%
() 61% (3N 43%

13. Which one of the following types of resource is iron ore?

diiE e # e 7 @ fh e YR &1 FaTe &7

(a) Renewable (b) Biotic

(c) Flow (d) Non-renewable
(T) AdRoiT CURSICED

(@) varg (&N IR-AdRONT

14. Under which of the following type of resource can tidal energy be put?
SARTT ST T =T & T fohd TR o TATYA o 37T T@T ST ThdT &2

(a) Replenishable (b) Human-made
KVS RO RAIPUR..........QUESTION BANK ............ CLASS 10.....ccrrennnn. SOCIAL SCIENCE
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(c) Abiotic (d) Non-recyclable
(0) F-qfd AT (&) Aerd ARG
@) ifas () IR-YeTeTdisitentor
15. Area sown more than once in an agricultural year plus net sown area is known as

Teh Y aY H Ueh I 31Teeh TR &17 I1T &7 3R Qs ST 91T &1 g ollell &
(a) Fallow lands (b) gross cropped area
(c) cropped area (d) grazing land

(V) 9l 1/ () kel Bl 8T
(&) wEelr 8T (3 =S A

16. The land which is left uncultivated for more than five agricultural years is called?
a8 A St uTa & 31T HiY guit & T faam Well & o5 & Sl 8, HEendl g2

(a) Grazing land

(b) Fallow land

(c) Culturable wasteland
(d) Barren and waste land

(T) =TS A
(s el egfr
(@) @l AT SR A
(&) R 3R TR oA

17. Which of the following soil is more common in Piedmont plains such as Duars, Chos and
Terai?

IR, A 3R TS S8 dsdie At # HeAToIihd & & shist AT AT 3t 31 872

(a) Black sol (b) Laterite soil
(c) Alluvial soll (d) Red soill

(T) Freir ey (&) oewse Fedr
(@) Stee Feer () are fAedr
18. Which soil is also known as regur soil?

foret TR oY WR TAEET o A1 & 8 SITeT Srar 872

(a) Black soil (b) Red soil
(c) Alluvial soil (d) Laterite soll
(T) STt TACE (&) <rer fAEST

(F) Stelte A (3N deTzT AT
19. The lower horizon of the arid soil is occupied by kankar due to increasing

sk TACE & foerel TaguRiendehT ThdT & hichs T AT 96 STl §

@) Calcium content
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(b) Potash content
(©) Lime, potash and phosphorous content
(d) Phosphorous content

(T) FHferras Tl
(sY) drerer aralt
(&) AT, GIeTRr 3R BrEHRE HHA
(31) BIEPRE AT
20. How much is the total geographical area of India?
R T el HINTIH &YTthel fohcall &2

(@) 3.28 million sq km (b) 4.28 million sq km
(c) 2.28 million sg km (d) 5.28 million sq km

(@) 3.28 MAfa g el (@) 4.28 AT gt
(@) 2.28 PfrgT g flr  (2) 5.28 AT a9 el

21.The running water cuts through the clayey soils

& aTelr et fAedy & e JTar g

(a) bad land (b) gullies

(c) deltas (d) None of these
(V) T« f& CHEICIE]

() Seer () FTH A HIg A

22. In which one of the following states is terrace cultivation practiced?

farfaf@a & & forg o A od WA AT ST 8?2
(a)Punjab

(b)Plains of Uttar Pradesh

(c)Haryana

(d)Uttarakhand

(T) Yo
(&) 39S & Herel
(&) gRamom

(d) IRES

ASERTION AND REASON BASED QUESTIONS
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DIRECTION: Mark the option which is most suitable:

(a) If both assertion and reason are true and reason is the correct explanation ofassertion.

(b) If both assertion and reason are true but reason is not the correct explanation of assertion.
(c) If assertion is true but reason is false.

(d) If both assertion and reason are false.

foder : ag faeeT giav S @ed 397 an:

a) I HUA 3R FRUT Sl T g R FHROT HYeT I T ATEAT & |

b) T FUeT 3R FRUT AT AT § ATheT FRUT HUA T TEY IIEAT AT & |
c) I FHUT T § TWe] FROT HAH ¢

d) g F=T 3R HROT =T 3T &

1.Assertion: Alluvial soil is ideal for growth of paddy, wheat, cereal and pulse crops.

Reason: Alluvial soil is well-known for is capacity to hold moisture.

ffFaa: Sl fAed ame, 3’!{ 37eTTST 3R EoTgiT el T g e & ferw e g

HROT: STeig TATE FAHT URUT et T &7TAdT & fow gfacy g1

Alluvial soil contains adequate proportion of potash, phosphoric acid and lime which are ideal
for the growth of sugarcane, paddy, wheat and other cereal and pulse crops. Not water-retention
but this property makes it ideal for the growth of wheat, paddy, cereal and pulse crops.

STelle fATE & gHTed AT A 91y, GREdIReS TRAS 3R AT g1 g S 3T, UTed, g 3R 3 31erel
3R gorgelt Biell & fashre & AT el 81 STer-RoT w7gT sfesh Ig 0T 38 g, T, 3arer 3R
Golgel! Bl T JET & foIT el a1 3 |

2. Assertion: The availability of resources is not the only necessary condition for the
development of any region.

Reason: Not only availability of resources but also corresponding change in technology is
necessary for development of any region.

ITAFYT: Y oY &7 & R[ara & fIT JATAT 1 3UTSHAT & UhATT a2 T el
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KVS RO RAIPUR........... QUESTION BANK ............ CLASS 10.....ccoerueune SOCIAL SCIENCE



FRUT: fReT o 817 & 9o & foT o haer Farue! $r 3ucrsudr afeew N 7 o aRad
HTETH &l

Mere availability of resources in the absence of corresponding changes in technology and
institutions may hinder development. Thus, both resources and advanced technologies
contribute in development of a region.

e farehr 3R TEATEAT H TETodT IR & 37T H sharel HATLAT T ST &1 faehrg & arereh
g1 Tohcll §| 38 TR, AT 31 Soaid Wieaifenar Siat v &7 & faera & Aerere e &1

3. Assertion: Resources are free gifts of nature.

Reason: Resources like soil, air, water is easily available in nature.
3R : HEATEST Tepict & HFT SUER & |
HROT: i # fACE, gar, urell S HETUe AT § 39T ¢

Resources are not free gifts of nature but are present true to interaction of human beings with
nature, technology and institutions. They are a function of human activities. They transform
material available in our environment into resources.

AT Fehicl T HF SUGR 761 & Sioeh Yepid, TGN 3N HEATHAT & AT FHosg &Y Tl &
HROT AlSG &1 d AT afafafel 1 v & §1 3 AR 90T 7 3ucrets A H HHTUAT H
e o gl

4. Assertion: Land is a natural resource of utmost importance.

Reason: Land can be used for various purposes.

HAHYA: A A Hgcd T Ahicieh FHTE g

HROT: A &1 30191 faffiest 3egeat & fow famar o dehar g1

Land is a natural resource of utmost importance as it supports human life and wild life, economic
activities like agriculture, mining, transport and communication system.

A 37T Hged ol TTeh e T & FiTeh T§ AT SlideT 3R dwg Sfiaet, Hi¥, Gelel, TRaE
3R TR Tl SR 3 aifafafeat o gade s &
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5. Assertion: Resource planning is an easy process in India.

Reason: Resource planning involves planning structure, identification and inventory of resource
across the regions.

ITAFYT : HRT H G AT Teh 31T Tiham &

HROT: AT ST H R &3 H HAT T AIofe1 AT, et 3R G emiAeT gl

Resource planning is a not an easy but a very complex process as it involves surveying,
mapping, quantitative and qualitative estimation and measurement of the resources.

Wﬁﬁmwmaﬁﬂ%w«::@d &Y Sfee uferar § i sga GaTe=T &1 deyor,
AT, HTHIcHS AR I0McHS AT 3N AT AT B

6. Assertion: Soil is the most important renewable natural resource.

Reason: Soil supports different types of living organisms on earth.
AU : FHeT Fall{tieh HFcaquT AU TTehicieh HATE &
HROT: fACE gt ) fafdest YR & Siiat s THSH AT g 1.

Soil is a living system. Soil helps to grow plants, supports natural vegetation and economic
activities like agriculture Its universal usage proves that it is the most important renewable
natural resource.

TACE Ten Sifad Jommelr & | fACET ditil 1 3aTTe # Heg el &, Tehiceh dereuial 3N ST ST 3T
ATt s G AT § | SR ArasHiife 3TAT ATfad FHdr g i ag Fad Agcaqul Ao
ehice FaTe ¢

7. Assertion: Processes of soil formation and erosion goes simultaneously and creates a
balance between the two.

Reason: The denudation of the soil cover and subsequent washing down is soil erosion.

sifwuer: fAce & AT 3R wera Hr ufsrar v @Y Terdt § 3R alAt & e et e 8|

hRUT : T TeROT &l IATesies R &g H Yol ST HaT 3T0RE ¢,
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Soil formation and erosion goes simultaneously but this balance is disturbed due to human
activities like deforestation, over-grazing, construction, mining and natural forces like wind,
glacier and water lead to soil erosion.

TACE T TAATOT 3R &TXOT Ueh AT BIAT & oifehel Ig HJele AlTd AT TET SI9 F=it &l hers, 3ifd-
WS, AT, Gelet 3R Irehider dlehcil Sid &4, ToIfAAT 3R el & T AT & herd & HRoT
SIS AT

8. Assertion: Arid soil is unsuitable for cultivation.

Reason: Arid soil is generally sandy in texture and saline in nature. It restricts the filtration of
water.

ATARYA : Yo TR Wl & fIT IFageFc gl 8| FROT: Yoeh FATET IMHATR TR TeATde A Icfrelr 3R
GRT Yl T Il 81 I§ Il & et i gfasfid wiar 8

Due to dry climate and high temperature, evaporation is faster and the soil lacks humus and
moisture that is why it becomes unfit for cultivation.

Y[Seh STerary 3 3T ATIHAT & SHRUT, AT Ao glell & X TACE & eg@a 3R w7 & et gich
¢, UV Tg Wl & TeIT 3e7agerd &1 il &1

9. Assertion: Controlling on mining activities doesn’t control land degradation.

Reason: In states like Gujarat, Rajasthan, Madhya Pradesh, deforestation has occurred due to
overgrazing, not mining’s

HRRYA: Telel AATATET TR FAITOT & &ROT hl AT 77ET AT 8|

HNOT: TN, TSN, m‘é:rqé%rfw\ﬁu\rq\iJf’rqd‘iﬁrqocéa%ﬁaﬁdé?WUTg‘é%, Gl ¥ 8T

Activities of mining controls land degradation because mining sites are abandoned offer
excavation work, this results in over - burdening. Mining activities in the mentioned states has
contribution to deforestation.

GefeT T afAfAferT $1fH 10T & AT Tl § 1o @eteT Tl 3 813 T Sirar & o 3caste
FI BT S, 3HF IRUTAETHT HATOF 1T giar ¢ | 3feai@d T3t # @etet arfafaft & a=f &
Fers H IPE B
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10.Assertion: Terrace cultivation does not restrict erosion.

Reason: Running water cuts through the clayey soils and makes deep channels as gullies. This
helps to cultivate crops.

HTAFYUA: T I Wl Herd A Jida T F87 el g

$ROUT: TgdT UTeir fACEr Fr THEET &l ShredT & 3R g Aol Fl ATl TATAT § | SHY BHAT ST Wil 7
Heg AT g

Terraces, out on slopes in forms of steps breaks up the force of the wind, thus preventing
erosion. Gullies render cultivation in those lands impossible.

AT & T F Tl I 18T T T 8T & Sof I AISdT 8, 5T THR Fherd Sl Udhal &1 ITelleT
37 ST H WY Y 31999 TAT ST &

SOURCE BASED QUESTIONS

Read the extract given below and answer the questions that follow:

A fqU 1T 30T & gfer 3R AT BT 1w geat & 3% T

1. We have shared our land with the past generations and will have to do so with the future
generations too. Ninety-five per cent of our basic needs for food, shelter and clothing are
obtained from land. Human activities have not only brought about degradation of land but have
also aggravated the pace of natural forces to cause damage to land. Some human activities
such as deforestation, over grazing, mining and quarrying too have contributed significantly in
land degradation. Mining sites are abandoned after excavationwork is complete leaving deep
scars and traces of over-burdening. In states like Jharkhand, Chhattisgarh, Madhya Pradesh
and Odisha deforestation due to mining have caused severe land degradation. In states like
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Gujarat, Rajasthan, Madhya Pradesh and Maharashtra overgrazing is one of the main reasons
for land degradation. In the states of Punjab, Haryana, western Uttar Pradesh, over irrigation is
responsible for land degradation due to water logging leading to increase in salinity andalkalinity
in the soill.

§H 39T ST Teel NSt & wrer |rsw & & 3R 3 arel Nt & arer ot (T & &< grem|
HIST, 3MTaTH 3 T T T AN Hel3{d ITaRTRATIN T 95 FiaRrd A & 9red giam &1 AeTdr
fAfaferat = o1 el ${f# 1 &0 fohar & afewh oA &1 ThaTel T & forw yrepfaeh it &
Ty ot ofY eT feram B aeit bt hets, TRk TS, Welel 3R ScW@elel SiEll $T Al fafafert =

8T 3 &TXOT H Hgca Ol eTeleT AT 8| Sc@etel o Sle Welel Tl Y Bl AT Srar g
gL forermeT 3 31T sieT & fo7erTeT SIS 1A QU 8l AT §| SRS, TG, AET 9ol 3R

INTZAT S TSAT H WeAeT 3 HROT TAT T Hels o HRUT ﬂ‘jﬁwﬁmaﬂ?ﬂgﬁ%l ISR, TSTEUT,
AEY U 3N HGNISE oI Tl H eI TReh =TS A TAe=i1enor & HE&T HRUT H § Toh | Ui,
gRATOT, IRTHT 3R T TAT H, el G & FROT {H &R0T & fov 3172w e _eer §,
S a& erqorar # gefer g § 3MRfACE 7 e

Answer the following MCQs by choosing the most appropriate options:

Y 309G [dehed Yoot el e 2= & 3T &

(i) Most of the basic needs for food, shelter and clothing are obtained from
(a) land (b) human activities

(c) mining (d) land degradation

(i) siater, 3mare 3N T $ir JrfAHIr AT JTTRIFATE F81 & Urod ¥ AT §2
(V) offA CHRIGEEIGIEIBR

() Geie (3N) afH aRor

(ii) Deforestation due to mining has caused severe land degradation in the state of:
(a) Jharkhand (b) Uttar Pradesh

(c) Punjab (d) Haryana

(i) m#maﬁ@rm#mﬁmﬂw@mgmaz
(T) 3IRES (s) 3 Jeer

GUREIES (2N g

(iii) Over irrigation is responsible for land degradation due to the following reasons:
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(a) Deforestation and overgrazing.

(b) Increase in alkalinity of the soil.

(c) Water logging leading to increase in salinity in soil.
(d) None of these.

(iii) =t s Arafaf@a FRoT & 4 awor & foe e e:
(T) Tt Fr etz IR 31M8d WS |

() TR hr amdadr & gefe|

(C) STel $RTd & FHNOT FaTl A oJurdT H J& [ gieh g

(37) o1 A IS |

(iv) Human is considered as the main culprit for land degradation because
(a) of his excavation work at mining sites.

(b) of his significant contribution to deforestation

(c) he has aggravated the pace of natural forces causing damage to land.

(d) All of these.

(iv) AT FY HET FORTE ATAT SATaT A &T0T FANH

(V) Tl TUell W 3eTeh 3c@eled 1 |

(&) Tt Y herS A 3eTeh AgeaquT AeTare

(&) 3T TThicieh STeil T 3Tt T Tl T BTSTad 37f# oY ST el gidm & |
(1) T

2. Planning is the widely accepted strategy forjudicious use of resources. It has importancein a
country like India, which has enormousdiversity in the availability of resources. There are regions
which are rich in certain typesof resources but are deficient in some otherresources. There are
some regions which canbe considered self-sufficient in terms of theavailability of resources and
there are someregionswhich have acute shortage of some vitalresources. For example, the
states of Jharkhand, Chhattisgarh and Madhya Pradesh are rich inminerals and coaldeposits.
Arunachal Pradesh as abundance of water resources but lacks in infrastructural development.
The state of Rajasthan is very well endowed with solarand wind energy but lacks in water
resources.The cold desert of Ladakh is relatively isolatedfrom the rest of the country. It has very
richcultural heritage but it is deficient in water, infrastructure and some vital minerals. This calls
for balanced resource planning at thenational, state, regional and local levels.

2. foriiarer waTert & fadeot sudier & foT sare &9 8 Fdied 0T § 1 R Sie 2T ¥ SHa
A ¢, Forest Tamet &1 3ueretrar 7 A RAfdear §1 3 a1 § S o TR & Fare J geey §
A e 37 TR A o 1 e 8 QY § PO Fee A Suerea 7 A 7 AR
HIAT ST Fehell § 3R Fo &1 0 3 § T8 $© Ageaqol T S #RY H#T g1 387807 & o,
SRS, SIHG 3 AET YG2T To Wil 3T It o SR H FHCY ¢ | IR0 Jel H el
HHTAT RV SRREN R et SRPRTH TYBIN I ). QAT 2T Tt QHPSHTIENCE 3T & T8 e
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oRE @ €Yo & o] STol HATEAT bl ST § | SICEIG ol ST IFET S & aTehl &t & 3r9etiepel
3TORT & | ST TE AHEY AP AR & @i fehet $HA ITetl, FAACT o HR P& Fgeaor Whetsit
A § 1 58 T TS, T, &1 IR T ERT R T ST 2ot 3 e ehar g |

Answer the following MCQs by choosing themost appropriate options:

Y UG faohod Tt el Jeaiieh 3o &

(i) In which among the following States of India, coal deposits are abundantly available.
(a) Madhya Pradesh (b) Chhattisgarh
(c) Jharkhand (d) Rajasthan

(i) R & ferrfaflea Teal # @ FFust F1aar si3R TR AT 7 3ucey g1
(T) AL ¢ () S<A9TG
@) SIRTS () TTEAT

(i) In which among the following States you may find suitable amount of Water Deposits.
(a) Rajasthan (b) Laddakh
(c) Arunachal Pradesh (d) None of the above

(i) FrfafRed & @ fFa TsT & MU= 39y AT & S JAa A T g
(V) TSEYTA (1) FTegrd

(@) TS &L (3)) IWRFd & A IS AdT

(iif) Which state lacks water resources?
(a) Madhya Pradesh (b) Haryana
(c) Punjab (d) Rajasthan

(iii) F o & ST FaTHET Hr FAY 22
(T) TET geer (s) gRmom
GUREIE] @) TTEAT

(iv) Rajasthan is very well endowed with
(a) Wave energy

(b) Solar and wind energy

(c) Geothermal energy

(d) Tidal energy

(iv) TSTEAT Tg e AE § WA §

(V) a1 ST

@) TR 3R gasT Far
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GO GIEIREX
@) Farg Far

AGRICULTURE

MCQ TYPE QUESTIONS

1. Which of the following method has been changed depending upon the characteristics
of physical environment, technological know-how and socio- cultural practice?

HifeF wATar, aFed Aw R e agfad e i fRevant F muR W
frmafaf@a & & wla @ R & o Rar = 2

(a) Industrial activity
(c) Cultivation

(v) e nfafafer
() @l

2. Jhumming in Brazil is called:

STelte # AT FT FT AT ¢

(a)Ladang
(c) Roca

() esTeT

() et

3. What is ‘Boro’ ?
TR FATE ?

(a)Kharif crop

(c) Rabi crop

(T) TIH vaoT

(&) & wEe

KVS RO RAIPUR..........
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(b) Irrigation Pattern
(d) None of these

(d) foars fafer
(3N) T A IS G

(b) Masole
(d) None of these

() FGT
(@) SAHARISTET

(b) Zaid crop
(d) None of these

(s) Sirare; waer S
(&) g1 & G AT ki
............ CLASS 10..................SOCIAL SCIENCE



4. Ragi is very rich in:
et g FHEY &
(a)Zinc

(c) Iron

(@) &
(&) gt

5.Is a slash and burn agriculture.

UF Fclel GgoTY el HTY B
(a) Intensive farming
(c) Jhumming

(T) 8T W
GRS

(b) lodine
(d) Phosphorous

(&) 3maE
(3) BERRT

(b) Commercial farming
(d) None of the above

(@) aofeas FN
@) IRFT F q RS &

6. Agriculture contributes to the India’s national income

AT T TS 3T & F F7 Aererer
(a) 33%
(c) 40%

(T) 33%
(&) 40%

7. Rabi crops are sown in:

T A vHe 37 AlgH FH 9O A
(a) winters

(c) summers

(T) |
(&) IrsHFTA

(b) 22%
(d) none of these
(s 22%

(3N 717 & FIs A

(b) monsoon
(d) none of these

() AT

N

(3N) 3TH A IS e

8. Which of the following is the staple food crop of a majority of the people in India?

famafaf@a & & sladt sma & sftwrer amf & geT TeF FHa 82

(a) Jowar
(c) Wheat

(T) SaX

(@

9. Which out of the following is a Rabi crop?
KVS RO RAIPUR........... QUESTION BANK

(b) Bajra
(d) Rice

EHIELSEY
(3)) drael
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farafaf@a & ¥ =l @ @ vua 872

(a)Barley (b) Paddy

(c) Jute (d) None of these
(v) it @) e

(&) S (@) 5H A FIg e
10.Which out of the following is a Zaid crop?

ffaf@d # & sl v g vaaT 82

(a)Moong (b) Mustard

(c) Urad (d) Watermelon

(@) = (&) Tzar

(&) 33 (3Y) R

11.For irrigation, most of the Indian farmers depend on

A & v s aRd frae R &

(a) reservoirs (b) rivers

(c) monsoon (d) tube wells
(T) STeITerd (&) =ifear
(&) AT @) TR

N N

12.The crops grown in Rabi season are:
& #igH & 3E S arel) e &

(a) wheat, peas, barley and mustard

(b) rice, jute, maize, soyabean

(c) pulses, melons, vegetables

(d) sugarcane and tobacco

(@) 918, FeX, i 3R T4t
(&) =Taret, S[E, HeFhT, WIS
() arel, T, Fieora

(31) ITe=AT 3N Aarep

13.Which of the following farming practice depends upon monsoon, natural fertility of the
soil and suitability of other environmental conditions?

famfaf@a & @ wla @ N wqufs aege , Aed @ ypfas 9@ ik 3= w3y
gfkFeufaat it sugeraer o it w82

(a)Commercial farming
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(b)Intensive subsistence farming
(c)Primitive subsistence farming
(d)Plantation

(v) arforfoaes @Y
(a) argeT fo¥ate Wl
() 3nfeH fo¥aE W
(31) gaRIToT

14.Which type of agriculture practice is famous in North- Eastern states like Assam,

Meghalaya, Mizoram and Nagaland?

36H, Aured, AR 3t anmds 3 sa-dl At 7 R vER A $ gqufa vl §7
(a)Jdhumming

(b)Slash and burn farming

(c)Commercial farming
(d)Subsistence farming

(T) AT
(&) scdeT T GEaTclr
(@) armoifsas wdr
() fate @

15. What population of India is engaged in agricultural activities?

AR $Y et Sereear Fi afafafrat #F woee 82

(a)Two-Third (b) Three-Fourth
(c) One-Fourth (d) Two-Fourth
(v) ar-fagrs (&) Frer-atars
(&) Twdtarg (@) craters
16.In which months the kharif crops are harvested?
GO H FHS et A 7 1 A7t &2
(@)April-June (b) September-October
(c) January-February (d) June-July
() 3185 (&) FaceR- 3
() STeTTd-Had (3N) S-S

17.Important crops like paddy, maize, jowar, bajra etc are grown during which of the
following seasons?

KVS RO RAIPUR........... QUESTION BANK ............ CLASS 10.....ccoerueune SOCIAL SCIENCE

Page 7 O



T, HFHT, TAR, A0 A Ageaqor waa eafaf@a & & frw Atasr 7 s ot §

5
(a) Spring (b) Summer
(c) Monsoon (d) Winter
(@) F&d (&) Tt
() ATAGA @) Tt

18.Aus, aman and boro are types of which crop?

3, 3#eT 3 aRY P BEA F UFR 87

(a)Maize (b) Paddy
(c) Jowar (d) Bajra
(T) FerehT (&) e
(@) sar (@) Forr

19. Watermelon, muskmelon, cucumber, vegetables and fodder crops are the types of

(a)Zaid crop (b) Kharif crop

(c) Rabi crop (d) None of these

(T) IS B (&) Giwwrae
(1) T& wEe (3) SAHTDISGT

20. Which of the following was the main focus of our First Five Year plan?

AT & @ et gARY Tgell Tuaviar A= &l HET a8 AT?

(a) Cost of food grains (b) Land reforms
(c) Industrialization (d) Globalization
(T) WIeATeT T AT (&) s1fa gur
(&) 3fteefeor (3) aedroT

21. Who was declared as spiritual heir of Gandhiji?

areft St & 3reafors AU & T A 5 aRaT Farmarar ?

(@) Subhash Chandra Bose (b) Jawaharlal Nehru
(c) Vinoba bhave (d) Sardar Patel
(T) oG (&) SR w
CRCCICIEIC] (3) TERTeA
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ASERTION AND REASON BASED QUESTIONS

DIRECTION: Mark the option which is most suitable:
(a) If both assertion and reason are true and reason is the correct explanation ofassertion.

(b) If both assertion and reason are true but reason is not the correct explanation of assertion.
(c) If assertion is true but reason is false.
(d)If both assertion and reason are false.

%@T:EW@%@?WWE’T:

(V) IfE YT 3R FROT AT T § 3R FROT HUA HT TET ATEAT B |

(@) afe FUT 3R FROT AT AT § Hfohed HROT HUF HT TG TEAT AT £ |
) e YA T & W] HROT HEE B

3N)) T FUT 3R FROT ST 3T B

1.Assertion : India’s primary activity is Agriculture.
Reason : Two-thirds of its population is engaged in agricultural activities.

HAFY : HRA 1 JrafAs arfafafer F gl
HROT: Wﬁ-ﬁm@mﬁfﬁwﬁﬁ@ﬁﬁmﬁg‘é%l
Ans : (a) Both assertion and reason are true and reason is the correct explanation of assertion.

Agriculture is a primary activity, which produces most of the food that we consume. Two-thirds
of India’s population is involved in agricultural activities and earns livelihood through it.

Y T gruffes afafafer §, i gAR S@RT 393N T STt arel 3R HISTeT T ScdTeet el
& 19 T aI-faeTs 3ard) Y arfafafert 7 anffe § 3R sa@ areh e HaArh g

2.Assertion : Agriculture is not an old economic activity.
Reason : Farming varies from subsistence to commercial type.

3T : FIY FIS AT 3 arfafafer 785 g
FROT: W faTg ¥ ariofods YeR H e giar g1

Cultivation methods have changed significantly depending upon the characteristics of physical,
environmental and technological methods. Agriculture is definitely an old economic activity in
India. Thus, both reason and assertion are false.

#ifcreh, aaTaR oy 3R depeiichr faferat &t faAIarait o MR 9 Well o TehT & Il seelta 3
e 1R & Y AT §7 & veh Q=i 311es fafafer 8131 sRoT AR e et 81 33 €
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3. Assertion : Plantation has an interface of agriculture and industry.
Reason : Plantation is a type of commercial farming, a single crop is grown on a large area.

HAGYT: FETRIIUT HD Y HR 3T T Teh ST B B
HRUT: JETRIYUT Teh YehR T SATAATTAh Wil §, Teh &1 ¥l I3 &1 3 3918 STeil & |

The plantation has an interface of agriculture and industry. Plantations cover large tracts of
land, using capital intensive inputs, with the help of migrant labourers. All the produce is used
as raw material in respective industries.

FETRIYOT & Y 3T 39T T Teh SSIHA & | JETRITUT TATH HSIGX! i Hee & Yoll Tg=A31T &t
T 3T HIc GV A & 53 o 1 R X & | T 3c91E ST 3¢9 A hod ATl o6 T H
39T T ST ¥

4. Assertion: Biochemical inputs and irrigation are used for obtaining higher production.
Reason: Doses of biochemical input are used to grow crops rapidly.

TRAFPYA; 3TT 3G UTCAhlaioh [T eI TR e i R IAAS Rz uA e fhaTade |
HRUT: BHeT Bl ol & 3o o ToIT Sid I Toteh SAYC shT GRTeh T ST FohdT SIS |

High doses of biochemical inputs and irrigation are used for obtaining higher production to
meet the growing demands of the people. The farmers continue to take maximum output from
the limited land.

ST T TG AT T R el o [TT 3T 3G T et o oIl AT TR Toieh et AR s
Y 3T GRIh T 3TN AT ST & | ohareT WA 8 & fhcdd Icures o Sy T@d ¢

5.Assertion: Crops are grown depending upon the variations in soil, climate and cultivation
practices.
Reason : Crops are also grown according to availability of water.

HASRYT Bel [ACE, STefarg 3N el & cliehl H el & TR 9T 39S Sieil g |

Variety of food and non food crops are grown in different parts of the country depending upon
the variations is soil, climate and cultivation practices. Major crops grown in India are rice,
wheat, millets, pulies, tea, coffee, sugarcane, oil seeds, cotton and jute, etc

&R fafdrest el # faffiest v o @iy R A-wreg wael IS S §, S fAed, SToarg iR
Wl o et & fafaerdr oX 38R el 8 1R # 39T SiieiaTell Y87 Bl Tdd, g, SN,
qell, T, HiT, Testl, Tderest, Hurd AR S[e e gl

6.Assertion : apple food crop in India is rice and requires less rain.
Reason: Our country is the fourth largest producer of rice in the world.

HAHYA HRA H Tl W o Tac ¢ A S8 ToIT S I8 T HTGRIhdT Bl & |
FROT EHRT S AT 3 ATl T AT T F F37 e ¢

Page 7 3
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It is the staple food crop of a majority of the people in India. Our country is the second largest
producer of rice in the world after China. Cultivation of rice requires annual rainfall above 100
cm . In the areas of less rainfall, it grows with the help of irrigation.

I AR & AR WA191T T HET W B & | §HRT 2T il & a1 Gf1dT H =Tel i GET &
3T 3c91eeh ¢ |ATael I Wil & farw 100 TT & 318 arfiies aut it 3maegsrar g1 &1 & asT
aTel &3 F g @S T Fgradr & 3T

7. Assertion : Pulses are not considered as a major source of protein in a vegetarian diet.
Reason: Rice is a rabi crop and requires lot of rain to grow.

HIRRUT ATRTERT ATl F eTell I NN T THG A g1 AT ST o |
$RUT ATdel Ueh I Bl ¢ 3R ST 39T & fow agd 3178 auT &t 3raTehdr gl &1

Rice is a kharif crop and requires about 100 cm of rainfall. However India is the largest
producer as well as the consumer of pulses in the world. These are the major source of protein
in a vegetarian diet.

Tl Teh T B & 31K 59 T oersrer 100 T auT i 3maTendr gy g1 gTellieh IR
gfrar & 2ol ol T @ TST3cUTGH Blat o ATY-HIY SUHTFAT 8 § | ATRIERT HIoTe HY WA T
9T W &

8. Assertion : Tea cultivation, is a labour - intensive industry.
Reason: Cultivation can be done throughout the year .Tea bushes require warm and moist
frost- free climate.

HPFYA I B EAT Tk HH G 3T |
HRUT Tl Tl X T ST Fehll § | T T SATSAT 3137 3R 7,

&S-FeFd STordTy el AR Bl o |

The tea plant grows well in tropical and sub-tropical climates endowed with deep and fertile
well- drained soil, rich in humus and organic matter. It is consumed on large basis in India
being an important beverage crop.

T T YT 3SUTRTETHI 3R 3UISUT hieatiiar STefary # 3resT oig & g6l & Sl 71830 3R 371>
3 N Qg s, egad 3R &1 s gerelf & R 9T @1ar &1 9Ra F U Fgeq. T 9T
% SHIUT ST 93 YA 9T AasT fhar STaT 1

9. Assertion : Organic farming is much in vogue.
Reason : In organic forming, crops are grown using high doses to increase production.

3TAFRYA: éﬁm@?ﬁag?rqwﬁﬁl
HRUT: Sifdeh Sl H, 3cUIG TGTo1 & [T 3= GUTeh T 3TN Y & FHel 39S STl o |

Organic farming is much in vogue today because it is practiced without factory made
chemicals such as fertilizers and pesticides. Hence, it does not affect environment and human
beings in a negative manner.
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éﬁ%@ﬁmagawﬁ%w%wmmﬁﬁaﬁmﬁéﬁmwaﬁm%m%
fSrTT T STl & 15aTaT, Ig qATavoT 3N HJST Y TehRIcHS dieh & T A8 o

SOURCE BASED QUESTIONS

Read the source given below and answer the questions that follow:

A few atT @Y g &t u¢ 3R A few T weaAt & 3R E;

Rabi crops are sown in winter from October to December and harvested in summer from April
to June. Some of the important rabi crops are wheat, barley, peas, gram and mustard. Though
these crops are grown in large parts of India, states from the north and north-western parts such
as Punjab, Haryana, Himachal Pradesh, Jammu and Kashmir, Uttarakhand and Uttar Pradesh
are important for the production of wheat and other rabi crops. The availability of precipitation
during the winter months due to the western temperate cyclones helps in the success of these
crops. However, the success of the green revolution in Punjab, Haryana, western Uttar Pradesh
and parts of Rajasthan has also been an important factor in the growth of the above-mentioned
rabi crops. Kharif crops are grown with the onset of monsoon in different parts of the country
and these are harvested in September-October. Important crops grown during this season are
paddy, maize, jawar, bajra, Tur (Arhar), moong, urad, cotton, jute, groundnut and soybean.
Some of the most important rice-growing regions are Assam, West Bengal, coastal regions of
Odisha, Andhra Pradesh, Telangana, Tamil Nadu, Kerala and Maharashtra, particularly the
(Konkan coast) along with Uttar Pradesh and Bihar. Recently, paddy has also becomean
important crop of Punjab and Haryana. In states like Assam, West Bengal and Odisha, three
crops of paddy are grown in a year. These are Aus, Aman and Boro. In between the rabi and
the Kharif seasons, there is a short season during the summer months known as the Zaid
season. Some of the crops produced during 'zaid' are watermelon, muskmelon, cucumber,
vegetables and fodder crops. Sugarcane takes almost a year to grow.

&t T el el § feHaT deh HigAT # &1$ Sl § 317 it a7 3nker @ ST e Il e B
Tl &I Hgca ol ha A, Sil, FEX, T IR TAT & | gTeliieh I Hel IRT & 3 fge@ A 391
ST &, 3 3R IeRafeae fReat o dore-, g, ffaAras ueer, o 3 R, sores
3R 3R G & A g 3R 37 TS B el b ScdTet o foIT Hgea ot §| qiRes T Mcrsor wshardt
% HIROT FEAT & AQIAT & ST aNT I TSI ST BT T THheldl H A Hlal &1 gTellieh,
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Tl T g ohT Teh HEcd 0T hReh T8T & | WD Bel o2l o [aTfiest [3EHT & AleTgeT hr e3iTe
Y 39T ST & 3R Sog FAceR3Terea’ H &iel AT § | 38 HA-Haa & GNTeT 39178 ST arell HgeaquT
ol le, HeFehl, TAR, SToNT, 3WEY, I, 356, HUM, S, HIhell IR AT ¢l Had
HecaquT drael 39T aTel 811 3 3rad, 9fRaH Fomer, 30T & ad &1, 1Y SR, e,
dfAerETg, el 3N AgRISE, TARIY &9 & 3w 9eer 3R NN & A1y hiehor §) doie 3R gRamon
&Y Ueh Agcaul B & | 310H, IRTH Farer 3R 3NTSAT G Tt 7 Th 1ol 7 TeT I ofieT B el
39S ST 81 A § 31, 37HA 3R aRY| & AR @w & Atgw & &g, afdar & 7t o g th
oIe AlH 8T § o/ STRIE, o HIGH o & & S ST g1 'Ste’ 3 aRTeT 3catied 6 Bl aleT,
HEQ, Fehsl, HicordT IR TRT BHel &1 e I 33Te1 H ST Teh Aol hl AT ATl & |

Answer the following MCQs by choosing the most appropriate option:

G 3Ugerd [dehed Yoot eI e a1 & 3T &

i. Read the combinations showing the cropping season(sown) and select the correct
option:

X: June-July

Y: October-December
Z: Around March
Options:

€)) X-Rabi, Y-Kharif, Z-Zaid
(b)  X-Zaid, Y-Rabi, Z- Kharif
(c) X-Kharif, Y-Zaid, Z-Rabi
(d)  X-Kharif, Y-Rabi, Z-Zaid

B & HAGH (ST 370) FT AT arel FAVSTAT 1 & 3R T&T Ahed FT aa -
T S SellS

aTg : IR feHsR]

SIE 3R138 AT

fasheT -

T) TFH T .d5-T% , 35 -SI3G,

) TEd- G, a1$ -T& T 515 @AH

o) T -l 418 -SAE, SIS &

) TFE -@A% are- W33 -S9G

ii. The three major cropping seasons of India are:

Page 7 6
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(@) Aus, Aman, Boro

(b) Rabi, Kharif, Zaid

(c) Bhadava, Shravan, Vasant
(d) Summer, Winter, Monsoon
ii. 3R & et yog@ e Atww §:
T) 3 31 AT )T

o) & T S

oY) e ,arde, a8

81 3t \ef  AreTgET

iii In between two major seasons, Indian farmers take the best advantage of the brief

interval during the summer and grow crops.
€) Kharif

(b) Zaid

(c) Rabi

(d)  All of the above

iii &Y wog@ AtwHAT & e, AR frare afdat & hoer wiarea srawrer F1 @@ sreeT anr
FeagdR__ wwasma i

T) @®w

) Sae

) &

EYEEPECIE)

iv. Match the group Crops in Column | with the harvesting season in Column II:
Column | Column 1l

A. Peas and Mustard 1. Harvested in September-October
B. Arhar and Bajra 2. Harvested in April-June
3. Harvested in July-October
(@) A-3,B-1
(b) A-1, B-3
(c) A-2,B-1

(d) A-3, B-2

Page 7 7
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iv. B | 7 GHE T F Do || 7 Fer$ & AaH & a1y e w3
I | SicTe |

A. #eX 3R a3Et 1. fAdsR 31y A Flel-

B . 3EX 3R SR 2,379 3R ST # HeT Sar g

3. SelTS — 3erga H el STl §

a) A-3 ,B-1
b) A-1,B-3
c) A-2 B-1
d) A-3,B-2

Read the extract given below and answer the questions that follow:

s few 91T 3geroT &1 afer 3T A T 71T geat & 3R i

Tea cultivation is an example of plantation agriculture. It is also an important beverage crop
introduced in India initiative by the British. Today, most of the tea plantation s are owned by
Indians. The tea plant grows well in tropical and sub-tropical climates endowed with deep and
fertile well-drained soil, rich in humus and organic matter. Tea bushes require a warm and moist
frost-free climate all through the year.

Frequent showers evenly distributed over the year ensure continuous growth of tender leaves.
Tea is a labour-intensive industry. It requires abundant, cheap and skilled labour. Tea is
processed within the tea garden to restore its freshness. Major tea-producing states are Assam,
hills of Darjeeling and Jalpaiguri districts, West Bengal, Tamil Nadu and Kerala. Apart from
these, Himachal Pradesh, Uttarakhand, Meghalaya, Andhra Pradesh and Tripura are also tea-
producing states in the country. In 2016 India was the second- largest producer of lea after
China.

Coffee: Indian coffee is known in the world for its good quality. The Arabica variety initially
brought from Yemen is produced in the country. This variety is in great demand all over the
world. Initially, its cultivation was introduced on the Baba Budan Hills and even today its
cultivation is confined to tlle Nilgiris in Karnataka, Kerala and Tamilnadu.

AT BT Wl JETRIYOT HfY FT Teh ISTEXT & T 3Si SaRT R H Y& 6T 315 Teh HAgeaqoT 97
e o &1 31TST, TR AT ST AR & FTfAca H §1 AT & gier Isoresfeatiar 3k
SUISUTR T STorarg # 3Tee dig & 6T 8, it a6l AR 3USTS 3T oie & F@r Al egad
AR Frafoier gerdl & $RYT BT &1 T Y STSAT &l WieT N IH AR AA S T Hobd STorarg-
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Yl 8 | T Teh A TTeT 3191 8| $Heh ToIT IXEY, TE 3R 30l A3 I ATaRTehe g1l &1 I

hT ATSTaN SETeT hlet o TeIT T &aTTeT & 3R AT bl FTTEI fhall STTelT § | 9 A1 3cdTeeh g

318, gfolfeier T TgIfsar AR STerarserdt forel, ufast samer, affierers 3R a¥el &1 3otk 3rerran

TR Y2, 3TRIES, AT, 31Ter 92 3R AR 87 327 # AT 3cureeh T &1 2016 H HRA e

o T, ofl T gERT FeY F3T 3cdTeeh T

ShIThT ST I GfeidT # 3Ual T T & ToIT ST STl § | YEIHTT H FHA I oS 775 -
3NTSRT FohEH I3cdTIeT ST # fohaT ST & | 58 foheat shr T gfetar 3 shiehl HiaT 1 TReT H g&eh!

Wl STST e TgTisat O & ol a7g AT 31 317t #f s&eh! Wll dhetieen, it AR AfAc=Ts &

AT ek & AfAd

Answer the following MCQs by choosing the most appropriate option:

q 3G fasmed gt rafaf@a weat & 3av &

i. What is common between Tea and Coffee?
(@) They are beverages

(b)  They are plantation crop

(c)  They grow in the hilly region

(d)  All of these

T 3T HTHT H FIAT FATAGT £2
a) YT UETT g
b) A TATEAT HHA &
c) AYgIEr &N H 3T &
d) 3ugerd @t

ii. Which of the following conditions can spoil tea crops?
(@) Frequent rains widespread throughout the year

(b) Clayey soil which has a high water-holding capacity
(c) Deep fertile well-drained soil

(d)  Warm, moist and frost-free climate

i. Prfaf@a & @ v o U a7 i FOT F) GUT FT FEHd 272
a) a¥ 9 gleY aTell STIRET
b) THTE TaH 3T STTUROT &7AdT &
c) @Y 3USS UG 35T g ﬁg@ﬁg‘éﬁ'{é‘r
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d) 99, 5TH U9 3US HeFdl STeldTg

iii. India competes with for its production of tea.

€)) Brazil
(b)  Yemen
(c) China
(d) Nepal

iii. TR I & 3cured & AT ¥F 1y yfaeqa’ H3ar gl

a) srairel
b) IHT
c) el

d) Sgrer

iv. Taking a hint from the given picture identify what this woman is engaged in?

i el
(@) Sowing the tea and coffee seeds
(b) Plucking coffee beans
(c) Pruning tea bushes
(d) Plucking tea leaves
Ans: (d) Plucking tea leaves

iv. faw are oy & @a A gu veav B 3 Afeen frw w7 ool §2
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a) A 3R Frhr & st ST
b) STHY s ASAT

c) TTT FI ST I SIeaAT
d) T gy dsar

MAP BASED STUDY MATERIAL

RESOURCES AND DEVELOPMENT

MAJOR SOIL TYPES (IDENTIFICATION ONLY)
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A. SALAL
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C. TEHRI

D. RANA PRATAP SAGAR
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E. SARDAR SAROVAR
F. HIRAKUD

G. NAGARJUNA SAGAR
H. TUNGABHADRA

INDIA

OUTLINE MAP WITH STATES
& UNION TERRITORIES

TUNGABHA

" k Map not to Scale
3 —_— |
Copyright © 2020 www.mapsofindia.com '

AGRICULTURE

A. MAJOR AREAS OF RICE AND WHEAT
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India: Distribution of Rice
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B. LARGEST / MAJOR PRODUCER STATES OF SUGARCANE, TEA, COFFEE,
RUBBER, COTTON AND JUTE
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MCQ ANSWER

Ans: (c) Cultivation
Ans: (c) Roca

Ans: (a) Kharif crop
Ans: (c) Iron

Ans: (c) Jhumming
Ans: (d) none of these
Ans: (a) winters

Ans: (d) Rice

Ans: (a) Barley

10.Ans: (d) Watermelon

11.Ans: (c) monsoon

12.Ans: (a) wheat, peas, barley and mustard
13.Ans: (c) Primitive subsistence farming
14.Ans: (a) Jhumming

15.Ans: (a) Two-Third

16.Ans: (b) September-October

17.Ans: (c) Monsoon

18.Ans: (b) Paddy

19.Ans: (a) Zaid crop

20.Ans: (b) Land reforms

21.Ans: (c) Vinoba Bhave

ASSERTION AND REASON ANSWER
Ans: (a) Both assertion and reason are true and reason is the correct explanation of
assertion.
Explanation: Agriculture is a primary activity, which produces most of the food that we

consume. Two-thirds of India’s population is involved in agricultural activities and earns
livelihood through it.

Ans: (d) Both assertion and reason are false.
Explanation: Cultivation methods have changed significantly depending upon the

characteristics of physical, environmental and technological methods. Agriculture is
definitely an old economic activity in India. Thus, both reason and assertion are false.

Ans: (a) Both assertion and reason are true and reason is the correct explanation of
assertion.
Explanation: The plantation has an interface of agriculture and industry. Plantations

cover large tracts of land, using capital intensive inputs, with the help of migrant
labourers. All the produce is used as raw material in respective industries.

Ans: (a) Both assertion and reason are true and reason is the correct explanation of
assertion.
Explanation: High doses of biochemical inputs and irrigation are used for obtaining

higher production to meet the growing demands of the people. The farmers continue to
take maximum output from the limited land.

Ans: (b) Both assertion and reason are true but reason is not the correct explanation of
assertion.
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Explanation: Variety of food and non-food crops are grown in different parts of the
country depending upon the variations is soil, climate and cultivation practices. Major
crops grown in India are rice, wheat, millets, pulses, tea, coffee, sugarcane, oil seeds,
cotton and jute, etc.

. Ans: (c) Assertion is true but reason is false.

Explanation: It is the staple food crop of a majority of the people in India. Our country is
the second largest producer of rice in the world after China. Cultivation of rice requires
annual rainfall above 100 cm. In the areas of less rainfall, it grows with the help of
irrigation.

. Ans: (d) Both assertion and reason are false.

Explanation: Rice is a kharif crop and requires about 100 cm of rainfall. However, India
is the largest producer as well as the consumer of pulses in the world. These are the
major source of protein in a vegetarian diet.

. Ans: (b) Both assertion and reason are true but reason is not the correct explanation of

assertion.
Explanation: The tea plant grows well in tropical and sub-tropical climates endowed with

deep and fertile well- drained soil, rich in humus and organic matter. It is consumed on
large basis in India being an important beverage crop.

. Ans: (c) Assertion is true but reason is false.

Explanation: Organic farming is much in vogue today because it is practiced without
factory made chemicals such as fertilizers and pesticides. Hence, it does not affect
environment and human beings in a negative manner.

PASSAGE BASED ANSWER

Passage 1:

Ans: (d) X-Kharif, Y-Rabi, Z-Zaid
Ans: (b) Rabi, Kharif, Zaid
Ans: (b) Zaid

IV. Ans:(c) A-2, B-1
Passage 2:
I.  Ans: (d) All of these
II.  Ans: (b) Clayey soil which has a high water-holding capacity
. Ans: (c) China
IV.  Ans: (d) Plucking tea leaves
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POWER SHARING

MCQ TYPE QUESTIONS

1. Which one of the following countries does not share its boundary with Belgium?

farafaf@a & @ Fia @ o IfeTaqT F a1y 379 HAT G A€ FIar 22

(@ France (b)Netherlands

(c) Sweden (d)Luxembourg
() e (d) ezels
GUESIES] EIGESLEL

2. In Belgium, the percentage of French community is:

afesraersd, s FAe FT afaerd &

(@) 54% (b)40%

(c) 30% (d)20%
(T) 54% &) 40%
&) 30% 3N 20%

3. Which language is dominantly spoken in Belgium?

afesras 7 e & sreT yHE w9 F Sl AT 2

(@) Dutch (b)Spanish

(c) France (d)Italian
(V) == CORIGE
(@ wrE EVEGIGEL

4. Power struggle demanding separate Eelam was launchedby:

I SAH Y AT A AR FaT FO¥ fF7w F q@arr & Ay w=w an

(a) Sinhalese (b)Buddhists
(c) Tamilians (d) none ofthese
(v) fagel (s) sieyr
() affrer () FTH F FIg Tl

5. Which of the following is the capital city of Belgium?
KVS RO RAIPUR........... QUESTION BANK ............ CLASS 10....cvererercnne SOCIAL SCIENCE

Page9 O



Arfaf@a # @ Sl afeeaaw fr o & 2

(a) Bruges (b)Brussels

(c) Ghent (d)Antwerp

(V) 78 &) oe"
&) e (3N Teaw

. Belgium shares its border with:

afeaaw vt AT P F AT JIET FI4AT §:

(a) France (b)Germany

(c) Luxembourg (d) all of theabove
(T) W (& AT

GURGESEEN () IWFT T

. What proportion of population speaks French in the capital city ofBelgium?

afesraw A T AT A STwEAr F fhaar et $ Stear 37

(a) 75% (b)70%
(c) 85% (d)80%

(T) 75% (&) 70%
(@) 85% 31) 80%

. Horizontal distribution (b) verticaldistribution Power shared among governments at
different levels is alsocalled:

ATt TR W TIFHRY & €= g1z Y 718 AafFa #\ o) war Fan

(a)

(c) slantdistribution (d) none of theabove

(@) &ifast faaror (&) digad faavor

(&) foreT faaor @ 3WYFd H T FIS ALY

. A war-like conflict between two opposite groups in a country iscalled

oY er # Y el et & g e S Fud FY Fr Sar @

(a) Coldwar “(b) Civilwar

(c) Ethnicwar (d) None ofthese

(T) T gegr (&) Iegey

() ST geer (2) 318 A g G

10.Belgium has worked on the principles of:

afeeras a s faf@a Rgurat w e frar e:

(a) Majoritarianism (b) accommodation
(c) both (a) and (b) (d) none of the above
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11.

12.

13.

14.

15.

(V) SEHTIHITE (M) 3rTaTH
@ ast @I E (@) 3RFd A G RIS AT

Sri Lanka is an island nation, just a few kilometres from the Southern coast of
sfeiehT Ueh gdiT Ise §, A & gfArol 9T § 5 et A gl wd
(a)Goa (b) Kerala
(c) Tamil Nadu (d) Lakshadweep
(T) 3iar (sfT) HTeT
(& afAerEg (3Y) oTaTedT
Majoritarianist constitution was adopted by:

’ wferer fFwas ganT 3r9=TTaT o ar
(2)Belgium (b) India
(c) SrilLanka (d) Pakistan

WEIEEE] CHEEG

CEICE CRUETSICH
What is the percentage of Sinhala-speaking people in Sri Lanka?
sfrers & Rigalt st Sert &1 afcrera fraem & 2
(@) 74% (b) 75%
(c) 14% (d) 19%
(@) 74% (& 75%
(&) 14% &N 19%
What is the percentage of Sri Lankan Tamils out of the total population of Sri

Lanka?

HerhT A FoT TAREAT A F slciwrs affal w1 gferera fraar @ ?
()10 percent (b) 19 percent

(c) 18 percent  (d) 25 percent

@ 10 gfaera @) 19 gfaera
@ 18 afaera (@ 25 gfaerda

Power sharing is desirable because it

T T SCART ATSAIT § FAH T§

(@) helps the people of different communities to celebrated their festivals.
(b) imposes the will of the majority community over others.

(c) reduces the conflict between social groups.

(d) ensures the stability of political order.

(0) TafdeeT THert & o9l &l 3e7ch cAER Helll H Hee Hidl & |
(3) SEHEIS FHGTT T FTOT gAU W AT g |
(&) AT TegT & 9T FEY T HA FAT o |
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16.

17.

18.

19.

(31) TSTeilicien eTaEYT T FEURAT GAREd AT |

Intelligent sharing of power is done among

Tl &7 Sleftrd dear e dier fma sirar 872
(@) Legislature and Central Government

(b) Executive and Judiciary
(c) Legislature and Executive
(d) Legislature, Executive and Judiciary

(v) fauresse 3R Thg TWHR

(&) srarferer 3R =ararforer

@) faenfaenr 3R HRarfeer

@) TR, FRfeeT 3R Farafoer

Division of power between higher and lower level of government is known as

WFR F 3T I A TR & AT 7T & THTT F FaF & T A FTEAT AT 8

(a) vertical division of power

(b) horizontal distribution of power
(c) union division of power

(d) community division of power

(V) AafFa &1 Feanr fase
(&) erferd e &ifast faazor
GURIESEIR ARG
() TS @ AR fasrst=

The capital city of Belgium is:
afesTaqw i goree &
(a)Dutch (b) France
(c) Brussels (d) none of the above
(V) =9 (&) Wi
(&) e (3) IUerd 7 F IS G

Power sharing is a good way to ensure the stability of:

et Rear giafaa 1@ F v graw aafier o sesTadier

(@) population (b) political order
(c) both (a) and (b) (d) none of the above
(T) Stearaear (&) TSR cTIET

(@) gt (T) 3R (&) @) 3WFT H T FIS 78T
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20. When power is shared among different organs of the government it is called as

FT TR & e s F T gar T decarrard Ay sd Fea &

(&) horizontal distribution of power
(b) community distribution of power
(c) coalition of power

(d) federal distribution of power

(v) afFa & &fasr faazor
() uferd 1 FreTAH faawor
() T FT ITSTYA

(3r) AfFaT 1 F@Ey faaror

ASSERTION AND REASON BASED QUESTIONS

DIRECTION: Mark the option which is most suitable:

(a) If both assertion and reason are true and reason is the correct explanation of assertion.

(b) If both assertion and reason are true but reason is not the correct explanation of assertion.
(c) If assertion is true but reason is false.
(d) If both assertion and reason are false.

1.Assertion: Tyranny of majority is highly desirable.

Reason: It helps in making the political order more stable.

FTAFYA ; S T HATIR TS ATSAT B
FRUT: T ST TIEAT F 3R 3118 TR e & Ace FHAT 8

Tyranny of majority community is oppressive for the minority community and can also ruin the
majority. It is a source of dissatisfaction and tension which is a source of political instability.

clg{-i{sé-lch FHCTT T HATAR HeqHETH FHCY F foT xR g 3K Glg{-i{sélch\i I g&1g o T
HhdT g1 T ITAY 3R T1d &7 Teh Al & oIl AoTell[deh HTEUAT T Th Gl & |

2.Assertion: In Belgium, the leaders realized that the unity of the country is possible by
respecting the feelings and interest of different countries.

Reason: Belgium favoured Dutch speaking community.

Page9 4
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HHHYA: dfcorad 7 AdT3i o Fgqy o i it G2t v saamait 3R Rdi s geAT et A ger
Y TehdT HeTd B |

HROT : ST o 3T TS THETT T a7 for|

Belgians adapted a power sharing arrangement in which all the communities have equal
representation. This helped in relieving tension between the different communities. Thus they did
not favour am/ particular community. Both the assertion and reason are false.

STCSTIH o Eell oh SCdR &l SHAEAT hl I T iy HHCTA &l FATT Ui ticd & | 369 fafdest
FHE & oI TATd T g I H Heg, AN | 30 TR 3ogle am/fAAT Heer 1 qaT =7l forar|

$2T 3R HROT AT 37TT B
3.Assertion: French speaking community in Belgium was rich and powerful.

Reason: Belgian Government favoured French speaking community.

JfAYe: SfeoTga 7 HidT TS FHETT FHEH 3N ATFRme |

HROUT: ST TIRR & e AT HHCT I 9T forr|

There was ethnic tension between French speaking and Dutch speaking communities in
Belgium. For resolving, the government adopted a power sharing arrangement where all the
communities got equal representation.

Sfeorgd & b $TeT 3R ST TS HACTT & S STy o=l1d AT| AT & foT SXhR o Tl
SCaR T SFTEUT T =T Toraa Fefy FHerl bl JarT yiafafeea Fer

4.Assertion: In a democracy, everyone has voice in the shaping of public policies.

Reason: India has federal system.

TAFUA; ANhdT H ol ATAAT T THR So¥ H TAT T 3TaTeT BT &1

FRUT: IRT H GUIT cIa€2AT 5

In a democracy, people elect the representatives who participate in the decision-making
process. Due respect and proper representationis given to diverse groups in a democratic
system. Hence, in democracy everyone has voice in the shaping of public policies. However,
the reason does not justify the assertion.

Aehci 3, wlter 3e7 gfaf eral st geara anta § it AT o o gfshan 7 $1mr ol | iepcifes sqaean
¥ fafaer aeggl &1 3faa g 3R 3faa gfafafica fear srar & | safere, dieds 7 adafaes Aifaar
T 3P &Y & Gt Y 31maret @t & | gTeTieh hIROT &1a &l TEY 8T eI &

5.Assertion: Power should reside with one person and group located at one place in a
democracy.

Reason: If the power is dispersed, it will not be possible to take decision quickly and enforce it.
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HTAPYA: FeAT ollehcld H Teh FUTeT W &I Teh T R HHE o I glail a1fg |
$ROT ; Ife AfFd T 9ar grar & o Mg T =T 31 39 9 378 HTaT G399 A8 arer|

In a good democratic government, due respect is given to diverse groups and views that exist
in the society. Hence, political power should be distributed among citizens.

T IO dllhdiTaeh SHR H FATS H Al fafaer gt 3R faart &1 3faa wam & smar g
gafau, ARTRERT & o1 TSifde fed 1 faaor far Srer anfgu)

6.Assertion: Belgium and Sri Lanka both faced ethical tension among different communities.

Reason: Both the countries resolved the conflict by power sharing arrangement which gave
equal representation to all the communities.

HfRwYe: IfeeTanm 3R Areient =T I faffies FHErT & der S T ST FHAT HL=T 93|

HRUT: Sl SRIT & Tl o SeaR el HaEAT H FEY T HATUT foham foreer Fefy goerat sl wam=t
CIGIGIBRERER

Belgians adopted a power sharing model where all the communities got equal representation;
this helped in solving tension between different communities. However, Sri Lanka tried to
promote the supremacy of Sinhala community which eventually led to civil war. Thus the reason
is false.

ST & ST & HAT HIST YA hl AlSel AT STgT Tl FHSTAT &bl AT Sfaf=iftea e, saa
Tafie= Taerat & dra TeAd 1 Gelsiel H He [Hel | gTellih, Aol o [Hgel HHETT & aeed i Sorl

&oT T apifRrer &1, f39e HRoT 37da: 96 Y& §31T| $H TR HRUT B! gl
7.Assertion: There was a feeling of alienation among Sri Lankan Tamils.

Reason: The Sri Lankan government denied them equal political rights and discriminated
against them in getting jobs and other opportunities.

AU Mo afFel & g Fr draar o)

FRUT: Hihs TIHR o 3o AT Tolailiae ISR T afa T &2 ik Al 31R 307 3raw
9TCd &hlat H 3Tch 1Y AT fhaT|

An act was passed in 1956 to recognize Sinhala as an official language. The government of Sri
Lanka favoured people from Sinhala community for higher education and government jobs. It
led to resentment among Sri Lankan Tamils as government was not sensitive to their culture
and language.

TAEoT T TR AT & T F AT &oF & ToT 1956 H Teh 31t FTH qia foram aram am| sieier
T TR o 3Te RIET IR TR Alnal & T [Hgel THerT & olai a1 9aT fordr| sad Aelets
TPl 3 3menter YeT gl 91T Fifeh TR 3eTehl HEahiat 3R 1T & gfey Fagetefer 1T |

8.Assertion: Community government in Belgium is elected by one language community.
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Reason: Community government helped in resolving conflict between different linguistic groups.
3ifehye: SfesTad # AAETIS TIHR Teh AT FHCTT GaRT Jeil STl ¢ |
HROT: WHETRIH TXhR o Taffiest $TTS Togt o el Ty I gof el A Heg |

Community government is elected by people of one language community, i.e. French, Dutch
and German speaking. Such a government has power related to culture, education and
language issues. It helps in resolving conflicts between different ethical groups by safeguarding
the interest of its group.

ATHETS TR Teh TS FHGT & o191l G@RT el STl &, rTel $her, 51 3R STt ATy | Qell Eeank
% U FERIA, R8T 3T 19T & Heeh @ Fafed aferd gict &1 I8 379 Hefg o foail T 8T ek
Tafiest Afcter Teggl & o Huy &l gof A H A AT o |

9.Assertion: Sinhala was recognized as only official language of Sri Lanka.

Reason: The government of Sri Lanka wanted to establish the supremacy of Sinhala community.
3R RAgd Y Seer Y ThaAT 3MTRFIRE U197 & 9 & AT &) 715 2|
hRUT: ATciehT Sl TR [Hgel HHACTT I Haledl AT T =rgalt AT

The government of Sri Lanka passed an Act in 1956 to recognize Sinhala as only official
language of Sri Lanka. The government also formulated preferential policies to favour Sinhala
applicants for university positions and government jobs. All this was done to establish
supremacy of Sinhala community. Thus the reason justifies the assertion.

HroTehT T TSR o 1956 H AT T ArciahT st ThHATT RN 39T & T H AITT & & AT

Te JifAfTs aika fohar | aveR o faeafacarey & uat 3 aert ARl & fow fgel e &

Tt 7 ALE! ATieran 8 AN i | g T gl HHEI T Tued TUTU et o [T fehar arar 1| 36
Y

YehIY SHIRUT &I ST gl
10.Assertion: PowgrﬁSharing Tgs good.

Reason: It leads to ethical tension.

3fRPUT: TAT T deaRT ST & |

FROT ; Ig AT delld ST 3 o AT &

Power Sharing is good because it helps in reducing the chances of conflict between different
social groups and ensures stability of the political system.

Tl ST SCART 30T § Fi1eh Ag T Tl HTATTSTR FHG o i<l HEY hr HHIGAT I A el H FAcg
FAT § 3R Torehifae saaear r R gafRad axar gl

Read the extract given below and answer the questions that follow:
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s fqU T 3EEROT & 9igT 3R & T 7T 9R&At & 3o i

The Belgian leaders recognized the existence of regional differences and cultural
diversities. Between 1970 and 1993, they amended their constitution four times so as to
workout an arrangement that would enable everyone to live together with in the same
country. The arrangement they worked out is different from any other country and is very
innovative. Here are some of the elements of the Belgian model: Constitution prescribes
that the number of Dutch and French-speaking ministers shall be equal in the central
government. Some special law requires the support of the majority of members from each
linguistic group.

Many powers of the central government have been given to state governments of the two
regions of the country. The state governments are not subordinate to the Central Government.
Brussels has a separate government in which both the communities have equal representation.
The French-speaking people accepted equal representation in Brussels because the Dutch-
speaking community has accepted equal representation in the Central Government.

Apart from the Central and the State Government, there is a third kind of government. This
‘community government' is elected by people belonging to one language community -Dutch,
French and German-speaking -no matter where they live. This government has the power
regarding cultural, educational and language-related issues.

TSI & AT &1y Aqer 31 AiEp e fafauansit & siffdca s Aegardr 1970 3k 1993
& 9§19, 3ogial 379 GiaYreT & I’ IR AT fhar drfer ves U sIa€am 3R &1 5 T forgd s
TUeh 81 S H Ush 1Y I§ Toh| 3egia ol sTa€dr W &1H forar ag fondy off 3/ g2r & 31araT & 31

%ﬂr@%ﬁﬁ%@?ﬁ% %&%ﬁf%gﬁﬁ hr T SR g1 | F AT el

P T Ah HTVTS & 31ferTer el & FHAT T 3TaThdr
%Wﬁ%é@r%ﬁﬁﬁmmaﬁ%@l T TIHN g TIHR &

37efleT 78T €1
W@%ww%mmwwwm@ammwmamﬁ

AT gfafafeica TheR fhar F3ife s 7T THeRT o dhe, TR H TAH YiafaTtcd TR harg |
g 3R [T TIHR & TeATdT AL e hl THR Bl &1 Tg VAT ek TIRR Teh HIT FHTT

o o191 SaRT AT STl & - 5, Sher 3R ST TS - =Tg o vt 3T T8l 61 | S TP ah UTH HiEehicieh,

Znsweﬂﬁﬂgﬁowmg Mg %?by chcﬁggmg th%:aI most appropriate option:
FIY 3UGFd Tdehod oAt o1l 9eait 1 31 &

and dealt with the question of power-sharing differently.

i

a. India, Sri Lanka

b. Belgium, Sri Lanka

C. Wallonia, Brussels

d. Flemish, Wallonia

# ik o FAT F §eanr & HATel FT AT alg ¥ Agerm)
(T) AR, Helhr
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(&) sSfesTa, freer
(@) arenfaT, sfed
(3N) FeifAer, arenfaar

il. Which of the following is not the element of "Belgian model"?

a. Equal number of ministers for both the groups

b. Setting up of Community Government

C. More power to the central government

d. Equal representation at the state and central level

ii. PFAfaf@d & & Pl "IfeTAH ATsa" F1 dcq AL &7
(T) GIAT FHET & foIT FATT F&AT 7 #T

(sT) THETRI TIHR HT FATTAT

) Fg TR A A’fAF afea

@) TST 3R Fg TR W A gfafafeca

iii. "Apart from the Central and the State Government, there is a third kind of government”.
Which of the following is incorrect with respect to this?

a. The unique government is Community Government.

b A single social group is given powers to handle community-related affairs.

C. Elected by people belonging to Dutch, French and German-speaking.

d Power regarding cultural, educational and language-related issues.

""" &g 3R TST WEHR F IFAET, Th AW e A WHR &' 30F e § Ra_@a 7 @
aﬁ:rmm%?

(T) 3fefady TFR ACdS SR ¢

(@) e @ FETT AT P HHTA & [T T Uehel AT THE P ATFAAT & ST

(@) s, e 3R ST T eleit gaRT ot A7

@)) FEpiae, et 3R sor weed Aegl & FaEr 7 At

iv. Which of the following title best describes the given passage?

a. The ethnic composition of Belgium
b. Accommodation in Sri Lanka

C. Accommodation in Belgium

d. The ethnic composition of Sri Lanka

iv. frafaf@a # @ i a1 o= e 1w ATt 1 7@ 3reoT quia Farg?
(T) STesTae FI AT T

() Arerent # 3TaTE

(&) sfesaA A marg

(2X) ArcierT Y STAT TITAT

Read the extract given below and answer the questions that follow:

o fET 910 3¢ER0T & 9fev AR = T 710 geat & 3w T
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Two different sets of reasons can be given in favour of power-sharing. Firstly, power- sharing is
good because it helps to reduce the possibility of conflict between social groups. Since social
conflict often leads to violence and political instability, power- sharing is a good way to ensure
the stability of political order. Imposing the will of the majority community over others may look
like an attractive option in the short run, but in the long run, it undermines the unity of the nation.
The tyranny of the majority is not just oppressive for the minority; it often brings ruin to the
majority as well. There is a second, deeper reason why power sharing is good for democracies.
Power-sharing is the very spirit of democracy. A democratic rule involves sharing power with
those affected by its exercise, and who have to live with its effects. People have a right to be
consulted on how they are to be governed. A legitimate government is one where citizens,
through participation, acquire a stake in the system. The first set of reasons is Prudential and
thesecond is moral. While prudential reasons stress that power-sharing will bring out better
outcomes, the former emphasises the very act of powersharing as valuable.

AT & deaR & Y&T H &T 37e191-37e19T hRUT 9T ST Tehd o | TaH Ugol, TAT T gcdT 30T §
Fifeh g AIATOTR FHg! o SI<l HEY T HHTTAT Sl A A H GG Hdl & | Yfeh AATSS Foy
3o T 3R AT fcieh JITERRAT T 31X o ST &, TsTetlfcish caET T R FFARTd kel
fOIT BT AT SCaRT Th et T & SEHEIF THETT I $ToT I gal TN AT Heurd (s H v
3V [hed T aE o1 GohdT &, Jfehed o THT H, Ig TS ST ThdT A HHIAR FT o
dg(—i&qeh\i T IR hdol ICTHETR! & T SHAGRRY AgT & Ig HFH dg(—i{sqch\i 1 oy gl
&Y AT &1 Teh G, I HROT & foh HAT & SCaRT eliehcial & foT 30T 31 §| HT &l Fear
Sehd T I AT &1 Teh cliohdiTeh AT H ST 373TH & THITIT 9l o JTY FAT TS el
AT &, 3R g 5Tk IHTAT o ATYT TEAT ISdT & | AN ol 3T a1 H GUHY el HT APR §
o 356 O AT [FIT STT| T AT TRPR 8 ¢ ST&T ANTR HENERY & ATETH § a2 & el

me %m ﬁc@%hmﬁ%ﬂ%@pm@ SR, ferdeh ot RoT 39 aTel o

H Hl & dcan & 1 I Heddlel Il

FI‘WI%‘t:h reasons help in avoiding confllct in souety and preventing majority tyranny?
€)) Prudential reasons

(b) Moral reasons

(c) Financial reasons

(d) Political reasons

|3ﬂﬁﬁaﬁwm#m#m3ﬁtwmﬁmﬁmm%o
(T) fadepquT shRoT

(&) ATas FROT
GUREGIR GRS
(3N) JeTeiTcdeh hROT

il. stress that power-sharing will bring out better outcomes, whereas
emphasise the very act of power-sharing as valuable.

(@) Moral reasons, Prudential reasons

(b) Prudential reasons, Moral reasons

(c) Political reasons, Financial reasons
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(d) Prudential reasons, Political reasons

i, 39 91d W SR & § & afFa-ammeor agax aRone areen, sefed
ATF-ATHTET & FT FY HeddTe AT |

(T) SAfcieh SROT, fadehyuT HRoT

() fadehyuT ®RoT, AAfde HRoT

(@) TSTeiicreh ShRoT, fadi T

(3) TaaehYET SROT, Tsteiifcieh HROT

iii. Which of the following can be an example of moral reason of power sharing?
(@) Decentralisation of powers

(b) Reservation of constituencies for minorities in India

(©) Bothaandb
(d) None of these

iii. AFAfaf@d & ¥ Fia aa1 & dTar F AT FROT FT 381607 &) ThaT 82
(©) afeaar & fashdeor

(@) AR H Feqa&Teh! & forv fAaTaet 8137 &1 3meoT

@ et TR

(SN FTH A RIg LT

iv. Which of the following title best describes the given extract?
(&) Forms of power-sharing

(b)  Outcomes and Lessons of power-sharing

(c) Power-sharing is desirable

(d) None of these

iv. frfaf@a 7 & #ie ar o o a1 3qeror 1 w9 3resT auis Far8?
(T) AT & dedi & &7

(&) FT & dear F aRUmA R Fah
(&) AT TS FAT ASAT

(SN) oI @ IS E

FEDERALISM
MCO TYPE QUESTIONS

1.Belgium shifted from a unitary form of government to:
IFCTTH WHER F THIcAF T & TYATGTRA g 14T

(a) democratic (b) federal
(c) authoritarian (d) none of the above

a) dlehdlieTh

b) FE

c) gararT

d) T & IS e
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2. Which type of government does the Belgium have?

afesaH # 59 TR T TR &2

(a) Federal (b) Communist
(c) Unitary (d) Central

a) g
b) AEIATGT
C) UchlcH%

d) sheard

3.In federalism, power is divided between various constituent units and:

duare A, afdd &) RffeT gea saeal & O Ranfora fFar smar @ ik
(a) central authority (b) states
(c) both (a) and (b) (d) none of the above

4. Which countries follow the unitary system of government?

i ¥ 3 TIHR T THIcHS JUTTel HT ITelel HIA &2
(a) Belgium, Spain and India

(b) USA Japan and Belgium

(c) United Arab Emirates, China and Sri Lanka

(d) France, Germany and India

a) Sfeorasd T 3R IR

b) ARG SITUTT 3R sfesrasd
c) 3RS el Hrelenr

d) W ST 3R aRa

5. In federal system, central government cannot order the:

THIT SqaEYT #, hg TIHR AFATATRT AT g & THo &
(a) principal (b) local government
(c) state government (d) none of the above

a) TfAgar
b) FTATHT TEIHR
c) Usg i

d) I e

6. A system of government in which power is divided between a central authority and
various constituent units of the country is called

TEHER A TF Yorell frF@Hd G61 & F FET iitaor 3 3o fr QAT geF g€ F diw

Ea) Eegeralism ¥ 7 J (b) Communalism
(c) Socialism (d) Democracy aJ
. )
a) gudlg A
b) TTFEICIRIhdT ki
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c) HHATSdIG
d) sl
7. State government has powers of its own for which it is not answerable to the:
U GIEHR &) 39T afFaar § o fow ag s adi §:
(a) central government (b) judiciary
(c) both (a) and (b) (d) none of the above
a) Y TLRR
b) =IATIATTeIchT
c) ardr
d) @IS =Tgr

8. Which country is an example of coming together of a Federation?
TS HTY T qTel AETAY T 3GTEI0T el AT U §?
(a) Belgium (b) USA
(c) SriLanka (d) India

a) dfeordd
b) 3TARET
c) Hrerenr
d) HRIIY
9.Power to interpret the constitution is with the:

e i cuTEyT HIA i AT s I g

(a) courts (b) judiciary

(c) state government (d) none of the above
a) dag
b) =TT
c) T PR

d) IS Ter

10. In Unitary form of government
WFPR & THIcAS T H

(a) all the power is divided between the centre/union and the state provincial government.

(b) all the power is with the citizens.
(c) State Government has all the powers
(d) Power is concentrated with the Central Government.

a) IR ATFT Fg g T WHR F i fFenfaa g
b) &R AfFd ARIRST & g &

c) AR e T THR & I &

d) Oy ofFd shg THER H I ¢

11.The place of Rajasthan where India conducted its nuclear tests is
USTEYTE 1 9§ FATT STeT R o 39t TIAT] gdaror fre §72

(a) Kalikat (b) Pokharan

(c) Kavaratti (d) Karaikal
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a) hlaellhc
b) 9IEROT
c) haddl
d) FSH

12. The coming together federation is:
T HTY 3T 9Tl AGTHY &
a) India Spain
b) USA Australia

a) IR Tt
b) Juaw JiTectorar

o X

13. The first and major test for democratic politics in our country was

AR 3 H AhdilNF TeT=ifa T ggelt 3T a2t gdiam o
(a) caste problem
(b) language problem
(c) problems related to union territories
(d) creation of linguistic state
ST qHEAT
TN Shr FAEAT
hg, AT T2 & Hafa gAEaTw
TS X1 T Tl A ToT

14. Indian official language is:

AT TTHTIT &

(a) Hindi (b) English

(c) Urdu (d) None of these
3 SoTH O IS A8l

15. How many languages are included in the Eight Schedule of the Indian Constitution?

AT wideer iy Jmradt gyt 7 frae smaTe eanfder 872
(@) 15 (b) 22
(c) 25 (d) 21

16.Which language has status of the national language in India?
HRT A T HTIT Y TSTHTT HT g1 9o 872

(a) Tamil (b) Hindi

(c) English (d) None of these
(v) afFer (s) &

(4T) 3arsh () FTH A P
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17. The municipal corporation officers are called:

TR s & e Fgama &

(a) Mayors (b) MLASs

(c) Sarpanch (d) none of these
(T) AR CURELIPED

@) T (2) ot @ IS AET

18.Who can make laws relating to the subjects mentioned in the Union list?

Ty gt A sfeatila vl @ wafta F1es S 9o aFar 82

(a)Local Government (b) State Government
(c) Union Government (d) State and Union

(T) TUEAT TR (@) T5T TR

(&) Fg TER @) Tsg iR Ty

19.To make India a strong federation, we need:

R FY T A VY g7 & fAT, g amfee:

(a)written constitution (b) rigid constitution
(c) independent judiciary (d) all of the above
(v) Pf@aafaus () For Ffau=
(@) TIAT ~grUIforehT  (31) 3R TS

20. Major step towards decentralisation in India was taken up in

T H RAFedihIor Y e & 931 Fgd I/ AT AT

(@) 1992 (b) 1993
(c) 1991 (d) 1990
(T) 1992 (&) 1993
(T 1991 (3N 1990

21. Who has special power in administering the Union Territories in India?

TR H s afAd welt & wenweT # ey oaffa fFasd g g2

(a)Central Government (b) Chief Minister

(c) President (d) Governor

(T) &g TR ok cED

() ISt () TaTe

22. Who is the head of urban local government?

el TATAT TIHR FT IHE FieT g1ar 82

(a)Sarpanch (b) Ward commissioner

(c) Mukhiya (d) Mayor LN
(@) (&) = s 2
(&) Al @) AW go
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23.When power is taken away from state governments and is given to local government,
itis called

I T AIHRT & AT S ol SATelt § 3R TUA T TWER P S A Ao g, AT sT Fed &

(a) Decentralisation (b) Centralisation
(c) Panchayat Samiti (d) Federalism
(T) fasharenor (&) hereRToT
GUREIEGEIGIGE (3N "garg

ASSERTION AND REASON BASED QUESTIONS

DIRECTION: Mark the option which is most suitable:

(a) If both assertion and reason are true and reason is the correct explanation ofassertion.

(b) If both assertion and reason are true but reason is not the correct explanation of assertion.
(c) If assertion is true but reason is false.
(d) If both assertion and reason are false.

forder : @ faehed AT S o8 SUgFA & -

e U 3R FROT a1 T & 3R FROT H2UT I T SATEAT &

I YT 3R FROT 2t T § AfeheT FRUT HUT HI TET ITEaT 7871 &1
e, YA T & W] HROT T & |

Ife FYeT 31 HROT AT 38T &

1.Assertion: Belgium and Spain have ‘holding together’ federation.
Reason : A big country divides power between constituent states and national government.

1. 3T TSR 3T T 31 QST e ke B

$IRUT Ueh 3T &2 e Aol 3R TS TSR & S TaT &7 A1 HT g

The power of a large country is divided between constituent states and national government.
The central government is more powerful than the states.

Teh &3 &2T T ATFT Teh Tl 3R TET THR & e AT 81 e TR T Y Jofalm &
31Tt erfFaemel &1

2.Assertion : Hindi is identified as the only official language of India.
Reason : It helped in creating supremacy of Hindi speaking people over others.

2. AfPFUT FE 1 ggard ARG HT ThATT NRARIRE AT & T F A AT &1
HROT S ST T o9l &Rl gERT : R e STl 3 Heg |
Hindi is the identified as official language of India. However, it is spoken by only 40 per cent of

Indians. Thus, to safeguard the rights of other linguistic communities, 21 other languages were
recognized as Scheduled Languages by the Constitution.
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BT & ARG T INTTIRIRG HINT & §T 3 IgT=IT ST &1 gTellich, Ig shdel Tided ARAAT 40
AT Aol ST §1 38 YR, 3 HINTS FHET & ITUHRT &1 T & [T, 37 st & 21
AT GaRT g A3 & &9 7 Al & a1$ oy

3.Assertion : It is very simple to make the changes in the basic structure of the constitution.
Reason : Both the houses have power to amend the constitution independently.

3. 31T ReheT: FITUTT T FHel T H IR el g T gl
PROT: Gl UGl I TATT &I H ATALTT H TR el Fr ATFd &

It is difficult to make changes in the constitution in the federal system. Any change has to be first
passed through both the houses of Parliament through atleast two-third majority. Then it has to
be ratified by the legislatures of atleast half of the total states. Thus, both reason and assertion
are false.

T cgaTyT H iaUTeT & IRade T i & | T T IRadeT ot uge GIE & alail el H He
q A 2l fagTs agad @ aiRd Al giaT 81 T 38 Fof Tl & el T HA I AT H
faenmAerr3it garT 1Al foham ST &1 38 FehR SROT 3R e elail & 3 ¢

4.Assertion : India is a federation.
Reason : Power resides with the central authority.

4. 3fAFYT IRT TH TUE|
FRUTATFT FETT IITIRI0T & IrF @ g1

India is a federal government and there is three-tier system of power sharing with central
government, state government and local self government. It is a union of states and not a
federation.

HRJ Teh HHIT TIFR g 3R g TR, 0T TR AR TAHT TIAMHA & 1Y T & dedi
BT YuTell § | T8 =T T T § o [ 9|

5.Assertion : Coalition government is formed during dearth of coal in the country.
Reason : It helps in overcoming coal crisis.

5. 3RS 2T H ST HT HHT & NI IToa8T TIPR gaar gl

SHRUTIE I Hehe T &g Tl H Heg T gl

When no party is able to prove clear cut majority, several regional parties come together to form
coalition government. It has no connection with scarcity of coal in the country.

mﬁéﬁmwwmﬁmﬁﬂwﬁm& aY &S AT o TS TIHN Folled
T wes a1y 317 &1 STT 827 H AII I FHT A FIS TG 8T B

6.Assertion : The subjects which are not included in Union List, State List and Concurrent
List are considered as residuary subjects.

KVS RO RAIPUR........... QUESTION BANK ............ CLASS 10.....ccoerueune SOCIAL SCIENCE
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Reason : The subjects included that came after constitution was made and thus could not be
classified.

6. JifAerysTol fava qa I :, ToT T AR FHT G A AT LT 8, Io¢ Iaferse v A

ST &1
HRUT : HIAUT setel & Te; 37T aTel fawat st Mfdrer fonam arar 3R 58 GehR aaffepe =7gt femar i

dehT |
The subjects which are not included in Union List, State List and Concurrent List are considered

as Residuary subjects. It includes the subjects such as computer software that came after
constitution was made. Union Government has power to legislate on these ‘residuary’ subjects.

i faw §er e, Tod i AR AT G H MIAT TGN G, 3o AT STATg  3aiIse [awa | sae
HYN eI S8 faw enfier § S WiAUmeT aiat & d1g 30| g THR & 94 ge7'3rafrse’
fawat o el STt 1 Arfhe &

7.Assertion : India has a federal system.
Reason : Under a unitary system, either there is only one level of government or the sub-
units are subordinate to central government.

7. 3TASYUT IR H Th eI cgaeaqT gl -
HRUT : ThlcHS YUTTIT & ded, IT al IPR &l shdol Ueh TAX BIdT & IT 3Y--- SHISIT hg, IIPR
& AT A 8

India has a federal government. There is a central government for the entire country and state
governments for different regions. The reason is also true but does not justify the statement.

HRT H HEIT TR &1 I &2 & [T Teh chg, R & 3R [aTeT &3t o folw Tog @il § 1 Rl
oY TeT § W] e Y e g1 el B

8.Assertion : Zilla Parishad Chairperson is the political head of the zilla parishad.
Reason : Mayor is the head of municipalities.

8. grar : Torelm aRwe 3reget fotelr gRwe & Tsteiiics TAE ¢ |
HRUT : A FAIR A3 T TH7E gIaT ¢ |

Panchayat samitis of a district together form the zilla parishad. Zilla Parishad chairperson is the
political head of the zilla parishad. Municipalities are set up in towns. Mayor is the head of
municipalities. The reason does not however explain the assertion.

T fSter &7 Taraa afafaar Aee Srer aRve sardt 81 [Srer aRkwe & 3reget e akwg &1
STl cleh S BIAT g | FIRT H IR ATfelerl3iT &hl FATIAT I STl § | A IR ATferenl3it &1 57

SIALE LARHT MG BeFetmas EdkRtralization was taken in 1992 by amending the

constitution.
Reason : Constitution was amended to make the third tier of democracy more powerful and
effective.

9. IPFUT :1992 & AT H A X Tdche,[enuT T fe2T H Teh F3T shed ISMAT AT
PROT : Shdd o dIAY TAT F 318 ATFIATT 3R THET ST & forw GiaemsT | ganers far
ITAT AT|
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The constitution was amended in 1992 to make the third tier more powerful and effective. It
includes steps like regular elections for local government bodies, reservation of seats for OBC,
SC, ST and women and creation of State Election Commission. The reason thus justifies the
assertion.

Y TR &1 3178 AfFaemel 3R w1t 91e & forw & Gfaenet 3 @iy fohar = 2| s99 1992
TG TR Al & fov f@af@d gara, 3, vadl, wad Ak afgensi & fore dret @
3TRETOT 3R T oA 3TN & ST S FHes QAT ¢ | $H TR HROT &d T el eIl g |

10.Assertion : Third-tier of government is local government.
Reason : It made democracy weak.

10. ETaT AR T ARRT T T TR g
HRUT : SHo! Ailhdd Pl HASIR Ta1T f&2T|

The third tier of government is done through decentralization. It helped in making democracy
stronger by bringing it to grass root level. Thus, the reason is false but assertion stands true.

TN T AT o FAhaletor & ATeTH A fhaT SITaT § | 38 St ol ST FR IR el Asted
Sellel # Heg @l 3 HROT 3T § W hUel T g

SOURCE BASED QUESTIONS

Read the extract given below and answer the questions that follow:

AT fU 91T 3cERT &t gfeT 3R A T 917 geat & 31 ST

1.There are two or more levels (or tiers) of government in federalism. Different tiers of
government govern the same citizens, but each tier has its own jurisdiction in specific matters
of legislation, taxation and administration. The jurisdictions of the respective levels or tiers of
government are specified in the constitution. So, the existence and authority of each tier of
government is constitutionally guaranteed. The fundamental provisions of the constitution
cannot be unilaterally changed by one level of government.

Such changes require the consent of both the levels of government. Courts have the power to
interpret the constitution and the powers of different levels of government. The highest court
acts as an umpire if disputes arise between different levels of government in the exercise of their
respective powers. Sources of revenue for each level ofgovernment are clearly specified to
ensure its financial autonomy. The federal system thus has dual objectives: to safeguard and
promote the unity of the country, while at the same time accommodate regional diversity.
Therefore, two aspects are crucial for the institutions and practice of federalism. (i) Governments
at different levels should agree to some rules of power-sharing. (ii) They should also trust that
each would abide by its part of the agreement. An ideal federal system has both aspects: mutual
trust and agreement

to live together.

HEATE 7 TXHR & &l A7 a1 ¥ 31U TR (AT TR) 8 &1 TR & Affest T 0 g A &t
AT X §, Aot hlelet, SHIrenst 3 F2ATHeT o TAfRISe ATHGT H Tedeh TR T YT HTUHR
8T AT § | TR & TS TART IT TRT o SATASR dfgena & Afése &1 safar, TR & ycds
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TR o 3fedca 3R 31TAFR Fhr qdenfars RS &| AT & FeT ITTETAT T Teh T T TIHR SR

Uhc Wl 76l SGoll oI AT g | o ‘
39 dig o IRadel & TolU AR & Gl TRT T TEHAT I HTGRIHRAT &Il ¢ | =TT o T

FfaersT 31 TR & 3 TRl 1 AfFat Y arear s &1 Aferd § | afa ~ararery 379l &
T H H FIAT § T TR & AR TRT F ST 3e7ht GafT ATt 3 9291 7 faTe 3cqe=T gidr
1 THR & Ycdeh TR & AT TeTEd & ANt 3T faeii Faradar giafead i & fov Tose su @
fafése €1 58 TR TET JoTTel & G1eX 366 8G2T T USHhdT T I&TT e 3R 3 Jgrar & .,
STaeh AT & AT 8151 ATaYdr l AARNTOIT HT| STV, HEATG hl GEATHT 3R cTdgR & Tl
& g HgcaquT 8 1 )i) Faffiest FoRT o EIHRT 1 FAT & dear & $o [@g# & FeAd gian =g v|
)ii) 3¢ Ig ot SR g WRT foF Ucdeh TSI & 3791 FRTH T UTeleT HIIM| Tk 3EeT TET
TEEHE Fed S FEQl 610! o IO faRary 3iR FHsidr ¢

Answer the following MCQs by choosing the most appropriate option:

Y 3T Tdehod oot o ild vadey & 3o &

i "The jurisdictions of the respective levels or tiers of government are specified in the
constitution." Define the underlined word.

(&)  The area over which someone has economic authority.

(b)  The area over which someone has political authority.

(c)  The area over which someone has legal authority.

(d)  The area over which someone has executive authority.

i "gfaue # TR F FEftT T a1 TR F e Afése EEifea asg F o "sia
ffav)

a) dg &1 fora o ol &1 3nfdes AR B

b) g &7 I X ISTelifaeh 3R g

c) g &Td Tord O TondT ol ehiefsil JTTRIeh &l

d) fora =X forelt ot FRIarET 1 ARFR g

ii Which of the following is incorrect regarding Federalism?
(@  Two or more level of government

(b) Different citizens, the same jurisdiction

(c) Superiority of the Constitution

(d) Strict Constitution

i @ & @ Fia duaKe F Gaw F 909 872
(T)TTHR & ar IT a1 I 318 TR

@) Tafdea A, v & AR a7
CGISIERIGE AT

@) FOR Fiaem
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iii. What is true regarding sources of revenue in a federal system?

€)) States have no financial powers or independent sources of revenue.

(b) States are dependent on revenue or funds from the central government.

(c) Sources of revenue for each level of government are clearly specified to ensure its
financial autonomy.

(d) States have no financial autonomy.

Ans: (c) Sources of revenue for each level of government are clearly specified to ensure its

financial autonomy.

iii. T STTEAT A Toread F QA & oo H 747 T 872

T3T & 91F HIg o AfFa I1 Ie1ea 1 Tad T Ald A1 ¢

T she, TIPR J TSTET AT Uo7 T 9T &

IR o Fedeh FR o ToIT Toied & HicT ST Faia Tl GiafRed iet & fov Fuse ®u @ fRfdse
|

%ﬁﬁaﬁé%ﬁumaﬁ%l

iv. The given extract throws light on

(@) Comparison of Federal and Unitary government
(b) Features of Federalism

(c) The linguistic diversity of India

(d)  All of these

iv. f&gT I 9T YHTeT STeldT &

a) e q TehlcHS TIHR HI Jolall
b) Terare ST farydr

c) HRA Fr Hws Afaedar

d) g

Read the source given below and answer the questions that follow:

I T 91T i 1 u$ 3R AR few I gest F 3R E:

2.0ur Constitution did not give the status of national language to any one language. Hindi was
identified as the official language. But Hindi is the mother tongue of only about 40 percent of
Indians. Therefore, there were many safeguards to protect other languages. Besides Hindi, there
are 21 other languages recognised as Scheduled Languages by the Constitution. A candidate
in an examination conducted for the Central Government positions may opt to take the
examination in any of these languages. States to have their own official languages. Much of the
government work takes place in the official language of the concerned State. Unlike Sri Lanka,
the leaders of our country adopted a very cautious attitude in spreading the use of Hindi.
According to the Constitution, the use of English for official purposes was to stop in 1965.

However, many non-Hindi speaking States demanded that tl1le use of English continue. In Tamil
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Nadu, this movement took a violent form. The Central Government responded by agreeing to
continue the use of English along with Hindi for official purposes. Many critics trunk that this
solution favoured the English-speaking elite. The promotion of Hindi continues to be the official
policy of the Government of India. Promotion does not mean that the Central Government can
impose Hindi on States where people speak a different language. The flexibility shown by Indian
political leaders helped our country avoid the kind of situation that Sri Lanka finds itself in.

AR GfaermeT o et Teh HTST ol IASCHTST T Gl oAel ¢TI TEET I IgaTet TSTHTYT & &9 H & TS|
ifeheT fEEY STaT8aT 40 UTATRITT $TRCIT T €1 AT 8 | SATAT, 1= $TI3HT T &7 o foIT ohg FRat
39T | FEEY & 3reiTaT, 21 31 A3 T WiAHTeT GaRT 3TqIAd $ToI37 & &9 7 A & 718 ¢
e, GUPR & Ul & ToIv Mo et & Ueh 3eicar g7 I fordY oY a1 3 qfietr oY &1 faeheq
ol Fehell & | AT T 39T TSTHATST G131 | 37TRIehier TRPRY 1 F T T T AT H gl 2
Arerert & A9, Wé@r%ﬁmﬁﬁ%&r%maﬁﬁwﬁﬁa@mﬁmmmﬁw
& 3TER, 1965 # HTTARINS 36T & TTT 3T b1 3UANT i < o arm A7) grefifeh, 3 IR-
&S 81T Tt =1 AT Y o 7SI AT 3UANET SIRY @ | ATRAATS H 38 Tl o f§aeh &9 of for|
che, TR o1 AR 3eg et & forw fEEY & Arer amer 313rsi 7 3UANeT SIRY et R TgATd cdard-
R U STaTe feram| S Tl T ATAAT & o Tg AT 37T dielel arel ITHTT 997 & geT &
7| fREY T TIR-TAR $RA TXHR BT NTARIR AT §el1 g5 81 FHAIRIA FT FAJeIS T Tgl & o
he, TR 3oT AT X TEET 2T Tehcll & STT S 1T 37eT9T 37eT9T HTT Sleldt & | R IsTallicieh-
T3l SaRT fEW@IT 7T orilelel o gAR 327 &1 3H aE I [T & s=iel H HAeg &1, [SaH Areier
%ﬂm%"owing MCQs by choosing the most appropriate option:

|. Here are tile statements regarding the language policy followed in India. Which of the
following holds true in the case of India?

(@) The policy of accommodation has strengthened national unity.

(b)  The language-based States have divided us by making everyone conscious of their

language.
(c) The language policy has only helped to consolidate the dominance of English over all

other languages.
(d) Indian Constitution gives the status of national language to any one language.

. TET AR & HYATS AT arell ST AfY F Faer & wede ke av &) F=faf@a § @ sl
R & ATH H T 82

a) 3TaTH ol AT o AT Tehdl Sl FASTe [T &

b) $ITST TR ISAT o §H SATwRS I [AHIToIT [haT &

c) TS Y o7 gor FafY STI3HT TR 37 oh Fefed T Holgd el H Heg I g
d) R Ffgene et Ter HTST Y IS ST T &l &l &
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(a)
(b)
(©)
(d)

Which language is recognised as the national language by the Constitution of
India?

Hindi

English

Tamil

None of these

ii. SR & ATIUTST SaRT o HTYT HY TSI HIAT & T A AIAT &) 7§ 872
(v) fgdr

@) 313rSl

@ affAe

(3) $oTH @ IS AgT

iii.
(a)
(b)
(c)
(d)

(@

(am)
(&)
€]

iv.

(a)
(b)
(c)
(d)

A second test for Indian federation is the --

Linguistic States
Language policy
Centre-State relations
Both b and ¢
iii. SR W & forw garr adieTor & -

HINTS TT

T Aifa

o iR AT gt
"Official Language Act provides that English would remain the official language of
the country so long as non-Hindi speaking States desire." Identify the benefit of
adopting such a cautious approach?
Strengthened the spirit of federalism
Helped in avoiding confrontation with non-Hindi speaking southern states
Bothaandb
None of these

"TSTHTT AT v Ftar & F a9 g IRED amft oo 9d-, IS o f

iv.

HTTARIRE AT WRIN| 3H A F Ad® "efSCHIT F) TR F AT Y IgATeT Hi?

a) TG ! T el HoTed fehdT

b) IR FEEY sy eyl ot A TTa Ff ST H A Y
c) aldAl TR

d) IS et
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POWER SHARING

McCQ

1-C 2-B 3-A 4-C 5-B
15-C

ASSERTION AND REASON

1-D 2-D 3-C 4-B 5-D

CASE BASED

1.1-B 1.2-C 13-B 1.4C
FEDERALISM
MCQ

1-B

2-A

3-A

4-C

5-C

6-A

7-B

8-B

9-B

10-D

11-B

12-C

13-D

14-A

15-B

16-D

17-A

18-C

19-D

20-A

21-A

22-D

23-A
ASSERTION AND REASON
1-A

2-C

ANSWER KEY CIVICS

6-D 7-D 8-B 9-B

2.1-A 22-B 23-C 24-A

10-B

10-C

11-C

12-C
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3-D
4-A
5-D
6-A
7-B
8-B
9-A
10-C

CASE BASED

1.1-C
1.2-B
1.3-C
1.4D

2.1-A
2.2-D
2.3-B

2.4-C
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ECONOMICS

DEVELOPMENT

|. CHOOSE THE CORRECT ANSWERS HgT 3tRI & Tei1d &Y,

1. We can obtain per capitaincome of a country by calculating:

g Tordl ¢or T Ifciea o 31 &l IT0TeTT il §
a. the total income of a person
b. by dividing the national income by the total population of a country

c. the total value of all goods and services
d. the total exports of the country

% )T ST T el 3T

@)l &2 T el SIAHEAT & ASE 31 i fasfore ateh
1) T FEI3T 3T QT3 HT Fel e

E)eer T e forafer

2. Kerala has low infant Mortality Rate because:
el 7 IR Fcg X A ¢ FIh:

a. it has good climate condition
b. it has adequate infrastructure
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c. it has adequate provision of basic health and educational facilities
d. it has poor net attendance ratio

F ) SHHI SToldy hl TUTT 3T &
sﬂﬂ?trmq?ﬁ—craﬁmm%
mmwzwmmmﬁwmm%
)WQWWWW%

3. Human Development Index compares countries based on which of the following levels of the
people?

AT [dehra Gerenieh AT @ & & fohg T oh TR 9T CRIT T Telell el 872
a. education level

b. health status

C. per capita income

d. All of the above

%) TuaTr 1 TR

q ) Tareey & ffufa

a7 ) ufa safeda 3ma

o) FOT & gl

4. What does infant mortality indicate?

TR1e] Fcg & T a2l &2

a. Literate population in the 7 and above age

b. The number of children that die before the age of one year as a proportion of 1000 live children.
c. The total number of children attending the school.

d. The number of children born in a year.

& ) 7 a¥ 3R 38 3118 Y H WIER STaedn
) 1000 Sfifad s 3?3101q|d & &Y H Ueh aY 1 G @ gl AL dTel dedi i TE&T|
T ) Rierer 3 3ufeud swi T ol TEAT|

) Waﬁﬁﬁag@mul & |

5. According to the World Bank, the criterion used to classify countries with the income of Rs. 4,53,000
per annum and above in 2004 is considered as:

faea e & 3TAR,a92004 # 9T a9 4,53,000 3R 3HA 3Tk TG T 377 dTel AT 1 HETH
HATAT ST &

a. Low income countries

b. Rich countries

c. Average countries

d. Underdeveloped countries
%) e 31T aTel &2

q) I7HR A

M) 3 ger

T ) fasfaa ger

6. Which of the following things money cannot buy?

Page]_ 1 7
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fArfafed & @ sl T avg 99 @ 7767 T ST Aehel ?
a. Building

b. Flowers

c. Pollution free environment

d. Books

&) $HAR

) o9

aT) FGHUT Hercl aTcATal 0]
&) qEch

S

7. Which one of the following is not a measure of development in the Human Development Report of
the UNDP?

AT A & leT Juasdr & ArTa [dera Rure 7 [aera &1 Arges 781 872

a. Per capita income in US$

b. Education Levels of the people

c. Body Mass Index

d. Life expectancy at birth

%) gfd SIfFdT 3T USS . A

g ) 9T o1 e TR

37) S18T AT 59

H) SleH o AT SideT I 3FAIG

8. In which state of India infant mortality rate is the lowest?

HRC o TohE Tog # T Hog o T e 872
a. Kerala

b. Bihar

c. Uttar Pradesh

d. Punjab

F) el
C)ICRIR

aT) 3T J&RT
) USlTe

9. BMI (Body Mass Index) is a method of finding out which of the following?
T3NS (ST13T AT §359) oAt iad 7 I fohaerT IdT o1eTTe hr Uah fafer g2

a. Infant Mortality

b. Health status

c. Longevity

d. Economic Status
&) Ry Acg -
q) Ty Fr Tufa
) ol 3H

) 3 Tufa
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AR & AT T H & shleT AT TSIHT AT Taehrd Faehieh H 3T TATT T §7?
a. Nepal

b. Sri Lanka

c. Bhutan

d. Pakistan

%) ATl

Q) AT oTehT

a7) #HCTod

N

EIRUETSIG

11. According to World Development Report a country is considered rich when the per capitaincome is
more than:

farea faehrar RUIE & HTHR Teh 21 &l d IHR AT ST ¢ ST Sl saferd 3 sa9 31t giell &

a. Rs.24,000 per annum
b. Rs.37,000 per annum
. Rs.4,53,000 per annum
d. Rs.5,43,000 per annum
%) 24,000 & 9T a¥

) 37,000% 9T v

a7) 4,53,000 ¥ Ui a¥

g) ¥.5,43,000% 9fd av

12. Income alone is not a completely adequate indicator of development of a country. Which one of the
following is not correct with regard to this statement?

3ehol 31T THET 42T o TIeRIH ol G g U TATCT Heheleh o161 o | 38 YT & HatT A [AFATATET A F hleT 61 HEY
STl 87

a. Money cannot ensure a pollution free environment for individual

b. Some people earn more than others do

c. Money helps us buy only material goods and services
d. Money does not ensure respect and dignity for individuals

o) 4T ATF & TAT TGTOT HeFl ATcATaR0T AT g Y Fehell
) FHE AT G T Jolell 7 3118 HAT &

a1) T g7 et siiforen a3t 3R ATt F1 wiiea # FeE AT ¥
&) 44T ST faadl & foIv FearT 3R JeATT giAafRad g Hicr g

13. Development goals of different sections of our society can be achieved by:

AR TATST & ARt Tait & [Frrg gt ol uTea foham 5T Tehar &

a. Force
b. Democratic Political process

c. Violent Agitation @)
d. Terrorism Aam
%) dol \—180
) clihdiTAeh ITeiiicieh Iishar &
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1) f§eh 3rerersT
) 3Tdh
14. In order to get more income people need: -

31T 3T 9Ted ¥t & ToIT oAl &l A1fgv: -
a. Regular work

b. Better wages

c. Decent price for their crops

d. All of these

&) afAd s
) 98] HAslg
aT) 3eTehl BHell o felt 3Tad e
CREENCTR L)

15. Things like equal treatment, freedom, security and respect for others are:-

AT SHGER, T, GR&T 3R @Rt & 9fd FoareT Sy e &-
a. Material things

b. Non-material things

c. Income

d. Growth

&) "IHIA ol

q) - dret

aN) AT

) faera

16. National Development refers to:-

TSE faehra & aredd g

a. Equality

b. Democratic

c. Employment

d. Development of all sections

&) GATAT

) clihdifAsh

M) | SR

o) gl gelf & faeere

17. Per capitaincome refers to :-

gfa afFa s HT arcad § -
a. Whole income

b. Average income

c. National Income

d. None of these

&) HYUT 3T
Q) 3irad 3T
) IASE 3T
T) oA I IS AT

18. Literacy measures the proportion of literate population in the age group.
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WERAT__ 3 T F WIER SITHEAT o 3eJuTel &l AT &

a. 5 and above
b. 6 and above
c. 7 and above
d. 8 and above
F) 5 IR IR
T )6 IR IR
)7 IR IR
)8 IR FW

I ASSERSTION — REASON QUESTIONS

TARYST - HROT g2
In the following given below, there are two statements marked as Assertion (A) and Reason(R). Read

the statements and choose the correct code.

AT T #H, & hUAT I ATHARUA (A) 3R FROT (R) & ¥ H RITEAT THam 311 g1 HY=AT @1 gfev 3R Tgr aweq

H?PJFZEL EothI A and Ris true and R is the correct explanation of A.
b. Both A and Ris true but R is not the correct explanation of A.
c. Ais correct but Ris false.
d. Ais false but Ris correct.

F) A IR R AT T & 3R, A T FEY ATEAT FHIAT &
) A 3R R GIAT AT ¢ oifched R, A ST TET SITEAT g1 ¢ |
) A TEY § AfheT R 9T £
) A ITeld ¢ olfehed R T&T ¢

1. Assertion (A) Different people having different development goals.
Reason (R) People want freedom, equality, security and respect.
ITTHBYA (A) 3TAIT-3TeT3T AN & AP o oT&T 3AT-3elT 6 |
FHROT (R) ST FGAAT, HHTAAT, FI&T 3N FFAT A6 81
2. Assertion (A) A high average income is not indicative of the overall wellbeing of a country.
Reason (R) Average income does not cover human development indicates like level of
education, health and public facilities.

3TAFYT (A) T 3= 3T 31T Y 27 HF THT TS &7 Hohd T61 ¢
FHROT (R) 3N T ATTd T o1 ek w161 hdcll & o TRIET, Ty 3R Adoifeieh Giaemsit & a2 &t

3. sseri[iwc?r'lT %Al) A country at present has very high national income due to surplus oil resource.
However it is essential to look for alternative sources of income also.
Reason (R) Oil is a natural resource that is non-renewable in nature. If it is not used judiciously
then it will get exhausted soon.

31fARYT (A) Waﬁ%W%wWﬁwé&rﬁmm@mél gTell e 3T &

donfeush Hrdt T oY TaITer e 3-|Id?¢l°h gl .
ST (R) del Teh YTehicieh FATE ¢ Sl Wﬁm%laﬁmwww%mmﬁ

g 2frer &1 AT g1 ST

4. Assertion (A) Different people have different developmental goals.
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Reason ( R) the capitalist approach to development is detrimental to poor section of society.
3RS (A) 3TTIT-37H9T AR o 3TeTaT-37e19T A 8T gl 2|
HROT (R) fasra & forw Gafiardy efeahtor HATst & ae a9t & ot griens §

. Assertion (A) Suppose the literacy rate in a state is 78% and the the net attendance ratio in
secondary stage is 47%.

Reason ( R) More than half of the students are going to other states for elementary education.
HARYA (A) AT NI FoREN TeT A AGRAT &X 6<% g 3R ATEATATR TR R Yer 39T 31eard 8% B
SHROT (R) 3T A 3Teeh ©TF TR AR AT & T g@y TeAT A ST/ 8

. Assertion (A) A high average income is not indicative of the overall well-being or human
development in a country..

Reason (R) Average income does not cover indicators like level of literacy rate, health facilities
and public facilities in a country.

3TAFYT (A) T 3T AT 3T TR A F THT FHoAT0T IT ATAT TIHTH FHT Hohclh 18T ¢
SHROT (R) 3T 3 3 =1 H WIERAT &Y, Ty Graemsit 3R Grdeifoier GIAtmsit & T I Teheen ATAT

T8I & : : :
. @@F{Tlgn (A) Sustainable development is a crucial step for the development of a country.
Reason ( R) Sustainability is the capability to use the resources judicious and maintain
ecological balance.

Y (A) Y &2r & e & fow gdd [era veh Agcaqul e 8l
HRUT () e HHET=AT 7 fIaehyoT 39T htet 3R TR Eufies HJolel ST Wt T &TAdT &

Il CASE STUDY BASED OUESTIONS- &d T&al ATenid 92T

Read the following source and answer the questions given below.

T aa # 78 3R Y R 1T geait & 33 &

1. You will notice one common thing: what people desire are regular work, better wages, and
decent price for their crops or other products that they produce. In other words, they want
more income. Besides seeking more income, one-way or the other, people also seek things
like equal treatment, freedom, security, and respect of others. They resent discrimination. All
these are important goals. In fact, in some cases, these may be more important than more
income or more consumption because material goods are not all that you need to live.
Money, or material things that one can buy with it, is one factor on which our life depends. But
the quality of our life also depends on non-material things mentioned above.

If it is not obvious to you, then just think of the role of your friends in your life. You may desire
their friendship. Similarly, there are many things that are not easily measured but they mean a lot
to our lives. These are often ignored. However, it will be wrong to conclude that what cannot be
measured is not important.

Similarly, for development, people look at a mix of goals. It is true that if women are engaged in
paid work, their dignity in the house hold and society increases. However, it is also the case that
if there is respect for women there would be more sharing of housework and a greater
acceptance of women working outside. A safe and secure environment may allow more women
to take up a variety of jobs or run a business.

3T U A 1 G@: 9T St g € a8 € Hafia &, dgak Ao, 3R 3o Gl a1 397
3cqTicd 3w 3cUral & Tt 3fd #Hed | ga 2real H, 3 ¥ 3 °gd & | 3Teeh 37T, Teh al® AT

T et & 3TSITdT, ST GHTST SIdgR, TaaadT, Wﬁﬁ?@ﬁ%%ﬁﬁ?ﬁﬁﬁﬁﬂ%ﬁ%ﬁ%
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HeHTd 1 faIer it 8 | 3 Tl Agcaqul o1ed & | arecld H, $o Al &, F 3118 317 a1 3110 @ud 4 3ifts

AgeaqoT FIifep Aifas gra ﬁamaﬁshﬁ%ﬁtr
e%rr mﬁm%ﬁﬁﬁémmuagﬂﬂgéﬁ% Wﬁww%%ﬁlmmﬁmmél

CIET T roTaEr o R G EICISIR R GE F TG
T ST e oL “”d%ﬁﬁmm@rmw@ﬁmlmmaFﬁﬁm

WW%Isﬁmﬁmwm%mmﬁﬁwaﬁmmaﬁmamﬁsﬂaﬁ%ﬁwa@mﬁ
@A & | 3T W 37FT €T AG] AT ST | &l 19k, Tg 1Sy [HanTelalT reid g1em foh ford AT9T 781 ST Gehar g

TET IR AL & TrT oloT oreait & FRoT Y 3w ¥ | IE T & R IR ARemait o dae & @ o e o
g AT =R 3R FATS 7 37y ufasar gy £ g, I8 M A B g aRent s v aFA= AR &
AT H 3Teh AENERT g1l 3R STET 1o Hlet aTell AT hr 37k Tiehfd g1eft| Teh FRiaTT AR griara
aTcTayoT 3 fERiEfR T s R B o T H e Gl Fam SaEwn e Grals B g Riey &I aEmTedt ?

3T TAhRIT I ATI T T ATHET dIehT hisl AT 872

a) Income
b) Selling of produce
c) Import and export
d) Employment
&) AT
g) 39T i fashr
a7) 3T 3R T
) YR
i) Stable income is attained through
R 3mar wred iy STt
a) better wages
b) Regular work
c) Work opportunities
d) Decent price for crops and other products

) Sga} gl
Q) fafad e
3T) FTH & AT
&) Bdel AR 3 3curel & fore 3faa gea

iii) Besides seeking more income, there is something people resent, what it is?
IS AT ATE F IrTET, FS AL A ARTred ot @, @ FATR?
a) Discrimination
b) Poverty
c) No work
d) Getting fewer wages for more work

%) HeHTa

g) e

1) IS A AT

&) 37Tk 1A o fIT e Haigdl Ired el

Page]_ 2 3
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iv) If women are engaged in paid work, what difference does it make?

Ifg AT dasT & F1H & o9 &), a7 SUX FIT B ISdT 87

a) Their dignity in the household and society decreases.
b) No difference

c) Their dignity in the household and society increases.
d) None of the above

&) T 3R FATST & 3R TIRAT FH g AT &
) $IS 3] 7IgT

a7) B 3R FATS H 3oThT Yfasar daa &

o) IWRIFT H J DIS Ag!

2. For comparing countries, their income is considered to be one of the most important
attributes. Countries with higher income are more developed than others with less
income. This is based on the understanding that more income means more of all
things that human beings need. Whatever people like, and should have, they will be
able to get with greater income. So, greater income itself is considered to be one
important goal. Now, what is the income of country? Intuitively, the income of the
country is the income of all the residents of the country.

This gives us the total income of the country. However, for comparison between
countries, total income is not such an useful measure. Since, countries have different
populations, comparing total income will not tell us what an average person is likely to
earn. Are people in one country better off than others in a different country? Hence, we
compare the average income which is the total income of the country divided by its
total population. The average income is also called per capitaincome.

In World Development Reports, brought out by the World Bank, this criterion is used in
classifying countries. Countries with per capita income of US$ 12,056 per annum and
above in 2017, are called rich countries and those with per capitaincome of US$ 955 or
less are called low-income countries. India comes in the category of low middle income
countries because it’s per capita income in 2017was just US$1820 per annum. The rich
countries, excluding countries of Middle East and certain other small countries, are
generally called developed countries.

gt #r gerar & AT, 3ahr I F FIR Ageaqet RAvawt & § vF Aw@T 1@ ¥ 3TT I
qre U FA AT I 3T FAT F gorewr # 30w FFfa @ §) 97 39 wws W amRa §
for faF ama &1 3 377 Wit St @ 3T T oadh AT A Iraegwar §1 el F St FE
sft gue &, 3kt g afRv, 3 MO« 3y F Ty god w A gaH gl s iR I wfRw
3T Y & T AGeaqUl A& ATAT SATT g1 3, Q2 Y AT FAT 82 Vool &9 &, o0 Y 317 Q2
& woft et 1 3 §1 3E g A f For A wro gl {1 grentd, et F e goew
& T, To 3T g1 3UARR 3T At ¥ G, e F srerer-arerer smArd gt ¥, T T A
T X ¥ §H I8 8 var gaen F v sitad afFa f FA$ i garaen 4 §) F 0
& & T gAY U & AW A g F dga} 82 sHfAT, g dua 3T i ol FA 7 A
& P FyHOR A UIHF], ok sTon Ean@. At B 93 IBet fidtdicaiad 3ma #t gfa
safad 3 sft Fga &
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e d qarr o ¢ faeg Rew Rl #, sa AwEs w1 37@eT qaf Fi qeffaa Fw= &
ST §1 2017 & 9fd safdd 12,056 3ARNEAT e 3 307 3w 6 ufa cafFa smw arer gor
AR 2 Fgard & 3R SaThr ufa safFa 3mx 955 3ANEY STe} a1 39W FA & 3¢ 7 HT
qrel U FeT ATAT &1 HRA AT ALIF 317 grer G2A¥ ¥ Avft & 31T § FAF 2017 & s7h wfa
P T Faer US$1820 ufa ay o) quéﬂ:&aﬁsﬁrwmaﬁ&eﬂaﬁaﬁmm

a‘.A.A-_J__l\ £ . -
\

i) The passage given above relates to which of the following options?

F9T f&am a3 sre iy fAafafaa & @ 9 Rees @ gafa 22
a) education

b) income

c) health

d) all of these

%) farer
o) 31T
) TAEY
g) I gaft

ii) The income of the country is the income of:-
&2 Y 3T TahaehT 3 §:-

a) few states of the country
b) tax collected from public
c) deposits in the bank accounts
d) all the residents of the country

&) U F FS AT

T )STeTdll | TEeIT 3T T
) & @rdr 7 ST

o) &2 & Tt fardr

iii) The income which is the total income f the country divided by its total population is
known as:

TE T Y 42 Y T AT FY 3T Fol AAHEAT ¥ AT F T et et , Fgarredt
&

a) average income
b) per capita income
C) revenue income
d) all of the above

%) 3 ad 3T
@) gfa eafaa 3ma
1) JTeTEd 3
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) 3WIeFd Y

iv) India comes in which of the following categories of countries based on Per Capita
Income?

AR gfa s fFd 3T & 3maR W Aafaf@a & @ forg Aoft & o & 3mar 2

a) Rich countries

b) Low-income countries

c) Low middle income countries
d) Highest income countries

%) AR A

T ) A 3T dTel &1

a7) 9T FAETH 3 aTet T
) 3TITH 37T arel &

2. SECTORS OF INDIAN ECONOMY HRdI¥ rdfeqaedr & &

CHOOSE THE CORRECT ANSWERS

1. Which of the following statements is not true?

RAfafRd & ¥ Sl A1 FUT T 7Y &2

a) Providing loans for irrigation of land
b) Providing costly credit to the farmers
c) Identifying the problem of industries
d) Proper planning and support is required

&) A HT TS & forw o1 vee a1

T )) fRarar S AGIT FOT Tt el
a7 ) ST T HAEIT T gl el
o) 3T AT 3R qHAT Fr 3maTSar g

2. Which of the following refers to the intermediary good?

farafaf@a # @ sla aravarr avqg ¥7

a. Goods those are included in the estimation of GDP

b. Goods that are not used as raw material for production of other goods during a year
c. Goods that are used as raw material for the production of other goods during a year
d. Goods that are not resold by the firms to make profit during

o) d ATATE ST ST o 3eTATH H MR 8

) Teh I & GRIeT 3T a3 & 3cUTGeT o Tl el ATl & & H 3YANT 761 fhU SiTe aTel AIHAT
) Ueh I & EIeT 3753 JEIIT & 3cUTee & [T e AT & §9 H 39T FhT ST dTel ATAT
) AT i BHT SR 17 HATe b [T GATahT FET FehaT STl &

3. Which among the following is included in the primary sector?

faf@a & @ sl wafas a9 & anfAar 872
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a. Teaching
b. Dairy

c. Lawyers
d. Textile

&) Tretor

Y ) gadTely
) gehrar

g ) husT

4. In how many districts in India, the Law of Right to Work has been implemented?
HR & forarat Torell 3 1T & AT T FTee o9 2T 14T 37

a.625

b.255

c.400
d.200

1. What is the main economic activity of people in India?
AR A @t oy e e afafafar war g?

a. Agriculture

b. Industries

c. Service Sector
d. None of the above

F) P

C
T ) SsEeral
) Har &
) 3TH U Pl o AT
2. Which sector emerged as the largest producing sector in India in the year 20037
a¥ 2003 # FIeT AT 89 R # TGH 93 3cUIGH 817 & T A I97

a. Primary

b. Secondary
c. Tertiary

d. All the above

&) &
T ) AreafAs
) Jcirdeh

C

T )Fd 4 I

3. Which of the following is a feature of an unorganized sector?
fmafaf@a # & Fia v sraafsa &7 i FAvar g
a. Provident fund and gratuity is given to the employees.
b. Safe working environment provided to the employees.
c. Absence of medical benefits to the employees.
d. Fixed paid holidays are given to the employees.

Page]_ 2 7
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F ) Fararedr Al A 3R Fegdr & Sl §

T )Tl Y &I 1 TATa’oT YeleT foham ar|
a7 ) FATATRAT T FRATRAT AT T AT |

) AT T AR defet arell gefear &1 S 8 |

4. Which of the following statements is not true?

T A FlT T FaTaT AT

a. GDP of India is calculated by the state government of the largest Indian state.
b. Calculating GDP is a massive task.
c. GDP shows the level of development of an economy.
d. GDP is the value of all final goods and services that are produced in a country during one financial
year.

& )AL & Hehol 0] 3cUIG, &1 ITUTAT HIH 9 AR T &l Tod TR GIRT I Silell 5|
G )T I IUTAT AT TUeh 3T FHIA B

7 )T Teh ITTTETAT & AT o TR HI GATAT ¢ |

& )GDP e facig ¥ & aret fohd e & Scurfed deft 3Tae a3t 3R damsi ar fea &

1. Under which scheme, the people in need of employment are guaranteed 100 days of

employment in a year by the government?

e e & aEd SR FY AraRTSHar aTa d19N H TEFR GGRT TH a9 7 100 e F AR iy
IREY &Y ATt 87

a. Prime Minister RozgarYojna

b. National Rural Employment Guarantee Act, 2005

c. Swarnajayanti Gram SwarozgarYojna
d. Rural Employment Generation Programme

& TUTAAAT USTIR ANSTeT

T ) TSI ATHIOT ISR IRET 3TafageT, 2005
7)) TFUTSIAT IMH FARISTITR JoTeT]

) FTHIOT ISR Fsfel HIIsha

2. Which of the following activities are included in the tertiary sector?
fmfaf@a & & ia @ afafafet g s & afaa 82
a. Banking
b. Fishing
c. Agriculture
d. Processing

& ) dfehar g
T ) Al Uehsad A
T) FHY g
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o ) GHERIOT

3. GDPis the total value of:

" T ITUIG FT Tl 7 8
a. all goods and services

b. all final goods and services

c. all intermediate goods and services
d. all intermediate and final goods and services

& ) Tl I 3R Far

T ) g3t 3 FrATe 3R dare

) G AT ATAT 3R Aar

T ) gt ALgadt 3R 3faA arAe AR darw

5. Which one of the following activities can be included in the primary sector?

Arfaf@a & ¥ Fia-d rfafa®™ ufe aas AT A srasdr 2

a. Giving loans to the farmer

b. Making Sugar from sugar cane

c. Cultivating sugar cane

d. Providing storage facility for the grains

& ) TohdTeT Y Thol &l
g ) et H AT SATAT
) ooy T Wl

&) 3Tl o SROUT T FIAUT ITTSRT FRTAT

6. Which one of the following sectors is the largest employer in India?
faafaf@a & @ wia a7 &7 IR & ga 371 AATFAr 2?2

a. Primary

b. Secondary

c. Tertiary
d. IT sector

)T

S

T ) AareafAs

) Jeirgsh

) JTSEr &

7. Which of the following provision makes NREGA as the Right to Work?
fAeafaf@a & & o a1 U 730 Y F1H F1 JAER Ta97aT 87

a. Increase in land productivity has been given the preference.
b. This Act was passed by the Parliament in 2005
c. This Act has been spread to all the districts in the country.
KVS RO RAIPUR........... QUESTION BANK ............ CLASS 10....cverrernnnn. SOCIAL SCIENCE
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d. If the government fails to provide employment, it will give unemployment allowance.
& ) ofH STl H gE 18 T AT &7 IS B

g ) Ig HAfATH 2005 H T8 aRT arid foham 3 a1

a7 ) Ig HfAfaAad ger & weft foeit & themar rar g

) 39N EIHR AR & 3 fawher Tgalt & oY a8 SRISTaY o7ar o |

8. The service sector includes activities such as:
dar a7 A rafaf@a afafaftr anfae §:

a. agriculture, dairy, fishing and forestry

b. making sugar, gur and bricks

c. transport, communication and banking
d. none of these

& ) i, ST, ATl Tehsat N arfereht

T ) ==l 13 3R S qerer

7)) IRageT, TAR 3R sSfher

) 3IH J IS A8l

9. Which of the following economic activity is not in the tertiary sector?
ot # 3 e ot e afafafey et o o i &2

a. Banking

b. Bee-keeping

c. Teaching

d. Working in a call center

& ) dfehar

10.Which of the following statements is true in respect of Public Sector?
TS T & ey A Rrafafaa & ¥ Fia arsya aw @7

a. Big companies own most of the assets

b. Government owns the assets

c. A group of people owns most of the assets
d. An individual owns most of the assets

& ) 981 HUTIAT o I TR IR glell &

T ) THR $ qUT &

a1 ) AN T Teh HHG TBhTr YT T HATfeleh Gl &
T ) Ueh cIfad o 918 37TeeRer duf gl &

11.Why did the government shift its strategy from long term to short term programs to remo
unemployment?

Page 18 O
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RIS Y P FI & fAT TFR o 39 wreAifer w1 Srefewreller & sreuamifors FrIwAT 7 F41
TR fFar?

a. Large Scale Corruption

b. Lukewarm response from the state governments

c. Long term programs take a long time to implement
d. Lack of funds.

% ) 93 YA I SRR

T ) T TIHRT I HRT S1aTd

) Ererentioreh AT I AL HA H odT THT 37T &
g)ugT 1 FHAT|

12.Workers enjoy job security in :

SR T AR HT GI&TT FT 3Teie; Ferar 8

a. Agriculture Sector

b. Private Sector

c. Unorganized Sector
d. Organized Sector

& ) HiY &

) fasi &

) IHIATST &1

o) TS &1

13.Under employment occurs when people

VSR & ded a9 g1aT & oI |

a. do not want to work

b. are not paid for their work

c. are not skilled

d. are working less than they are capable of

& )hIH el HLeAT ATgl

T ) 3oleh 1A & T T wIgT fohar STaT §

a1 A 6T &

T) F T Ta7 § 3090 7 FIH W R

14.Which of the following types of activities are covered in the secondary sector?
fara 7 @ frw yoR & fAfafRT gfadas aF & anfawr §7

a. It generates services rather than goods

b. Natural products are changed through manufacturing

c. Goods are produced by exploiting natural resources
d. It includes agriculture, forestry and dairy

& ) g ATl & TN QAU IceoT AT &

T ) epfcieh 3cUTal s fafHTOT & HTETH & Feoll STl &
a1 ) STehfcieh AT o SgeT & TEI3AT T ScTTee gicll &
) 38 P, arfadhr 3R 33 enfAer &

15.What percentage of Indian population is dependent on agriculture?
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AT STTHEaT &1 fraar gfaera F o1 fasiv 37

a. 65% of total population
b. 53% of total population
c. 40% of total population
d. 65% of total population

% ) el STAHET T £5%
T el STATEIT HT 93%
w)gmam’mw%%
Er)gma?m'wa;raq%

16.Which Indian state uses biggest quantity of fertilizer in India?

TR FT FleT T TST AR H G 3 TF ATHAT 7 38IF HT 3TFNT FIAT 87

a. Punjab

b. Karnataka
c. U.P

d. Maharashtra

&) Uald
q ) Hellesh
aT) gar

N

) #gRISE

17.Black revolution is related to the
1ol ifa fFad gafaa 82

a. Fish production

b. Coal production

c. Crude oil production
d. Mustard Production

% )HAG 3G

G ) FIIT 3cUTGsT

) FT ool Bl 3cUTgeT
o) E3A! HT IcUTge

18.What percentage of Indian GDP is contributed by the service sector?

HRAT Tohel Te] 391G T et Sfaerd Far &7 qaRT Aerere fadT ST 87

a. 25 % of GDP
b. 60 % of GDP
c. 53% of GDP
d. 49 % of GDP

& ) Hehel B 3cUTG T 25%
T ) Hhel TRe] 3cUTE, T 60%
a7 ) Hehel Be] 341G 1 53%
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& ) Hehol BXe] 391G T 49%

19.Which of the following sector does not comes under the service sector in India?

fArfaf@d & @ Sl 91 8 IR & a1 8T & 3q9id T 3Tar8?
a. Real estate

b. Transport

c. Restaurants & hotels

d. Formation of electronic television

% ) RIer T

9 ) gRRageT

aT) ¥EeNe 3 gl

T ) Solariieleh Collfdalel &l ISeT

20.Which activity is termed as activity of tertiary sector?
qeirae ave i afafafer st frw arfafafer & w & smer smar g?

a. Wheat production

b. Mobile production

c. Construction of a dam
d. Fishing

% ) g IcIeA

T ) Al 3cqTeed
) Teh I T fAATOT
g ) AGoll 9ahsa

21.Which of the following industry is known as sun rising industry?
farafaf@a & & Fier a1 3g@r ¥F 357 35T F T F 11 11 87

a. Dairy industry

b. Information Technology

c. Health and clinic
d None of these

& ) ST 3T

) Tt Sleifareh

7 ) T 3R Ferfeieh

o) SAH T IS oIgl

29. What is the current rate of service tax in India currently?
AT H TIATT A VAT T HT TIATA &3 FAT 87

a. 12.5%

b. 13.5%

c. 14%
d. 14.5%

%) 2R8%
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) 23.9%
T)14%
) 14.5%

Il ASSERSTION — REASON QUESTIONS-HTREHYT - HRIT o7

In the following given below, there are two statements marked as Assertion (A) and Reason(R). Read
the statements and choose the correct code.

efaf@a #, & Fy«) # 3wy (A) 3R FROT (R) F w0 & Rfgaa fFar mam g1 F947 # gfew
IR T RFeq 1 997 AT

a. Both A and R is true and R is the correct explanation of A.

b. Both A and R is true but R is not the correct explanation of A.
c. Alis correct but R is false.

d. Ais false but R is correct.

F) A IR R AT T & 3R, A &1 TET AT FIAT &
@) A 3R R a1 T § afraT R, A & TgY sarear 781 £
M) A TEY & oifeheT R a9 B
o) A ITed & JfhT R T 81

1. Assertion (A) An individual who manufactures flour from wheat is engaged in primary sector.
Reason (R) When some process of manufacturing is used the product is a part of secondary sector.

IAFYT (A) wwﬁrmﬂ{#mm%mm#m?ﬂ%l
FROT (R) S1a faATor i F& wftkam &1 s9ier fram simar § & seure afadias & &1 fear giar 21

2. Assertion (A) There has been a big change in the three sectors of economic activities but a similar
shift has not taken place in the share of employment.

Reason (R) Secondary and tertiary sector produce three-fourths of the  produce whereas they only
employ half of the country’s workers.

ATy (A) fdF afafafat & & 8=t 7 981 agame 3mar § AfFa G & e a F vd 9A@e
FETd g g3 ¢

FROT (IR) AreATAF AR JhIs &7 3eurest FT NeT-TA1$ 3curest I 8 Fafr 3 3o F e
SRR F A IR T &

3. Assertion (A) Under MNREGA 2005, those who are able to and are in need to work in rural areas
are guaranteed 100 days of employment in a year.

Reason (R) The Central Government in India made a law implementing the Right to Work in about 625
districts of India.

<
IAFYT (A) FAAIM 2005 Fdgd, ST AT AN A FH A T FA R wag T 100 AT on
F VMR A IR & AT B

Page 1
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FRT (R) R & g RN X HRA & I 639 Forall 7 1 & HTAFR Y 719 F:7Q g 0

hlolel dATAT|
4. Assertion:- When calculating the total value of goods and services produced in a country, the value

of all goods and services at each stage of production should be calculated.

Reason (R ) At each stage of production some value is added to a good or service , therefore the value
added at each stage of production is added to derive the total value of goods and service in an
economy.

Fffwyer (A) fFe dor & 3eafea avga AR Qa1 & Fo He Y A0 FIQ FHY, TeUTeT F

YA TXoT 7 Faft awqat 3R Fanat & He7 Ay ot A S AiFw
W(M)rma:mw#wa—@rm@m#wnsﬂym% AT 3cqIed &

YeAF 0T H SAST 9T {ed Uah HATaEYT & ATel 3R AT & Fol {ed H 9o a1 & forw st
ST 1

5. Assertion :- In India the primary sector is the largest employer.
Reason:- The demand of services has increased enormously.

Iy (A) 9RT A wafAe a7 ga@ 931 FAFar 2
HIOT:- JAT3HT Y AT FTHY 78 7S T

6. Assertion:- Leela works 5 days a week , receives her income on a last day of each month and gets
medical facilities from her firm.
Reason:- Leela is working in na organized sector.

IfFYT (A) AT woag # 5 e 1 F3 &, T3F 78 & 3ifas e 39+l 3mr yrea s 3

3=t we & RrfFrear g grea w3
FOT:- YT TS &7 & Fra &l

7. Assertion:- Rakesh is an educated and skilled worker who earns a high monthly salary as he is
employed in a private bank in a city.
Reason;- all services sectors in India are growing extremely well and each individual engaged in any
kind of tertiary activity and earns a high income.

FoFTT (A) TR TF AT IR R N F s AN dF A sraga

FROT 3 AT A Ao Far g1
FROT, - R A Tt YaT 817 Tgd 3= e & 78 W § 3N 935 =afaa el ft yavm A el

nﬁﬁﬁﬁmgm%aﬁrﬁmaﬁamél

Il CASE STUDY BASED QUESTIONS -&d T&al Imenid w27

Read the following source and answer the questions given below.
e @a & 1¢ ik Y R aw geat F 3w &
1. Organized sector covers those enterprises or places of work where the terms of
employment are regular and therefore, people have assured work. It is called organized
because it has some formal processes and procedures.

Page]_ 3 5
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They are registered by the government and have to follow its rules and regulations which are

given in various laws such as the Factories Act, Minimum Wages Act, Payment of Gratuity Act,

Shops and Establishments Act. .

Workers in the organized sector enjoy security of employment. They are expected to work only a fixed
number of hours. If they work more, they have to be paid overtime by the employer. They also get
several other benefits from the employers. They get paid leave, payment during holidays, provident
fund, gratuity etc. They are supposed to get medical benefits and, under the laws, the factory manager
has to ensure facilities like drinking water and a safe working environment. When they retire, these
workers get pensions as well.

IS 8T 31 IEHAT IT FETYAT T FaX FIAT § 8T Vo9R A 21t FafAa gt § 3k swfaw,
AN Y FTH FT ITRATHA AT AT 71 3/ WIATST SATAT gl AT @ FAF 38 Fo dtaaiiRas

e - :
amﬁ%mmﬁ?%ﬁmmmmmmmm%mﬁ:m

T A Ruaw s .

HITST &1 & HTAPT T USTIN T FI&T IS §| 398 el Toh [ARTT FEIT H G FIH I I

35Ig Y STl 81 I T a1t ey w3 €, oY 37 fAaedT SanT NERSTSH HT ST FHIAT g |
3¢ faateranat @ w3 e amr off e ¥ 3¢ waafas srawrer, gefeat & gk spram, sifasy
ot dregdt anfy frere §1 37 e emer Mo e siky, FegAt & aga, FRETT yauF

et & el 3R v gRide w1 araravor S R gaRad e @d 1 99 3 dafga aa §

at E@' qﬁﬁﬁﬁ&% &m géllates to
IRFT IR=oE F Fafa g
a) Organized sector
b) Unorganized sector
c) Employment
d) Environmental society
&) GaTTod &
T ) ST a7
E RS ELIES
g ) GATIROT GATS

(i) An organized sector is one in which, there are;-
a) Workers union
b) Private enterprises

c) Some formal processes and procedures.
d) Un-numbered workers are employed

%) 4 As gg

@) fasir 3egs O
1) e MR SRR AR AT on
) el A aTer ey R & “jo

i) Its a mandatory for organized sector to :
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qIfSd &7 & fow g AfAad 8:
a) Extend working hours of the workers
b) Not to register themselves with the government
c) Protect the benefits of the owners
d) Follow the rules and regulation framed under various laws like factory Act, Minimum
Wages Act etc...

&) HTHPT & FIH F G TGTT

T ) TR o WY T Y Goltehed A8 el o ToIT

aT) ATTeIehl o SITT T I&TT HeAT

T ) therd) vere, fATAHA 1 vere 3n1fe S8 faffiest el & ded a1 are fogsAT 3R fafaast a6

T &Y
iv) The workers of organized sector have the privileges of
WIS &7 & AP & RFANRAFR §
a) Enjoying holidays
b) Working on alternative days
c) Security of job, medical benefits, overtime for additional working hours etc.
d) Resign and join as per their choice

% ) Gefedl T 3Tee ol

T ) denfedss feaAt # FHIA el

a1 ) FAtendl T &, FRfehed aimeT, fRerd e & Hel & T itarersH .37
) SEIHI & R 39T THe o 3TER QA &1

2. The value of final goods and services produced in each sector during a particular year provides
the total production of the sector for that year. And the sum of production in the three sectors
gives what is called the Gross Domestic Product (GDP) of a country. It is the value of all final
goods and services produced within a country during a particular year. GDP shows how big the
economy is.

In India, the mammoth task of measuring GDP is undertaken by a central government ministry.
This Ministry, with the help of various government departments of all the Indian states and union
territories, collects information relating to total volume of goods and services and their prices
and then estimates the GDP.

forelt e o & ghret g & & seurfea sifaw avqait 3R QA FrqeT s ad &
faT &= 1 Fr 3cuTeet WereT Fat ¢ IR fier &= F Searee Hr A frelt der F1 wwe
e 3cuTG (SNSTd) Fgerrar 81 98 v Ay af & et forelt Sor & sfter sewrfea weft

t1 I #arerg, W3t SR Tt 3t dhg anfAd weat & RAfdes s

fasmant Y e @, awqat i Fanst A For AT HR sTAR Peal F FERT TR

THT AT § 3 TR Ther O IcUTE FT AT 91T ¢
)] The source given above relates to which of the following options?
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ii)

I f&ar 3y AT fAeafafaa & ¥ fFa fawes @ wefRa g?

a) World bank

b) GDP ( Gross Domestic Product)
c) GNP ( Gross national Product)

d) GNH ( Gross National Happiness)

%) faeg s+
T ) SISIUT (Hehol B 3c9TE)
) STAYY (Hehel TS 3cUTG)

g) GNH (Fehet Tser @gei)

Why are only final goods and services counted and not intermediate goods?

Faer A a3t AT AT A & IoTAT FAT Ay AT &, FAEAAA TEIIHT HY AL

a) The value of intermediate gods needs not to be added.

b) There are no such intermediate goods.

c) The value of final goods already included the value of the intermediate goods that are
used in making the final goods.

d) None of the above.

%) FEAAAT SadTHT & Hed HI SiNSel T 3TLTHAT T8l o |

@) 0T 1S ot Aegadt Ao 7T &1

) TAH ATl o Hed H Tgol @ & FEFAAT Aol hl Hed ATTH FIdT & ST JHTAH HTel Tellel 7
39T fohar Srar

o) 3WFT & T IS 87|

The value of all final good and services produced with a country during a particular year
is known as

forelt farery ad & ahorer et Qer & wryr semfee weft sifoer awgait 3k Jansidt & qex

gag@mm%

b) GNP
c) GST
d) SGST

% ) STEdT
g ) SiueTdr
aN) Shreaer
o) THSTTHET

The GDP of a country shows:

forelt &er &1 waher Tl 3eUTg e &:

a) How well off the people of that country

b) How much employment rate is there in a country
c) Standard of living of people

d) How big the economy of the country is. 0
&) 39 &2 & 1T fohclel 35 8 o
@ ) Rorelt &21 3 Ao T &% Frerelt & S,

(=W
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<
@)
O

3T) A9 & SfiaeT TR
) &2 T 3T NTgET fohdaT 937 1

DEVELOPMENT (ANSWER KEY)

: ASSERTION & REASON CASE STUDY QUESTIONS
1. B 1. A 1.1A
2. C 2. A 12B
3. D 3.A 1.3A
4. B 4. B 14 A
5 B 5 A 2.1B
6. C 6.B 22D
7. A 7.B 2.3B
8. A 24C
9. B
10.B
11.C
12.B
13.B
14.D
15.B
16.D
17.C
18.c
SECTORS OF INDIAN ECONOMY (ANSWER KEY)
MCQ:- ASSERTION & REASON CASE STUDY QUESTIONS
1. B 1.D 1.1A
2. C 2.B 1.2C
3 D 3.B 1.3D
4 A 4. B 14C
5. A 5B 2.1B
6. C 6. A 22C
7. C 7. A 23 A
8. A 24D
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10.
11.
12.
13.
14.
15.
16.

17.

O ©® ®™ O OO » O © » @

18.
19.
20.
21.
22.
23.
24.
25.
26.
27.

28.

> W™ O O » O » » W O O

29.
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KENDRIYA VIDYALAYA SANGATHAN

RAIPUR REGION

SAMPLE PAPER NO. 01 SOCIAL SCIENCE

CLASS 2021-22

I MULTIPLE CHOICE QUESTION Elgﬂﬁﬁi%qiﬁ EEG

1. Which of the following aspect best signifies this image?
Al & @ @i a1 9ge] 56 o9 & Fafaw &7 & gauTdr g?

(a) Round table conference at London

(b) Constituent Assembly of India

(c) The Frankfurt Parliament in the church of St. Paul
(d) The Hall of Mirrors of Versailles

F)  ciee & e GEde

(@)  HRA 1 GfaursT g

(@M  #e did & T H FFhE TG

(@)  FET & Ui @ &

2. ‘Nationalism’, which emerged as a force in the late 19th century, means

Trsgare’, St 1997 rdaredl & 3id H U ARFA F FT H IR, FT 3T §

(a) Strong devotion for one’s own country and its history and culture.

(b) Strong devotion for one’s own country without appreciation for other nations.
(c) Strong love for one’s own country and hatred for others.

(d) Equally strong devotion for all the countries of the world.
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(a)
(b)

(c)

(a)

39 3 3R 38h 3T IR FEpfd & T #Aeqy sidd|

3 Usel & AT goier & e 3roa 3w & fv A #fEd|

YT & & TIT AT SR 3R g@dl & v Fwd|

faRg & |l St & wid AT &7 @ gaor #fFd|

Which of the following is not a feature or belief of ‘Conservatism’?

fAraAfaf@a & @ Sl 'wfearg' Hr fGAvar I ATdar =g 8?2

Conservatives believe in established, traditional institutions of state and policy.

Conservatives stressed the importance of tradition and preferred gradual developmentto quick
change.

Conservatives proposed to return to the society of pre-revolutionary days and were against the ideas
of modernization to strengthen monarchy.

Conservatives believed in the monarchy, church and other social hierarchies.

wfeay =g IR Afa & TafRg, aRuRe graEEr & [Ew s<a gl
WRIEEIT o7 WRT & Aged W IR fear 3R calRa aRada & fov sfas fGera o sraf@sar &

WAl 3 qa-wHifasry &l & FATer # oiiea &l Tedra W@ AR T A aa & fow
megfehienor & faaRt & f@ermd |
HGardy Temgy, T 3N 3y FHATfois uerehAl A e w9

Three wars over seven years with Austria, Denmark, Germany and France, ended in

3T, SATh, S AR S F & A1 A1 aut F AT Jey FAC gV

Danish victory (b) Prussian victory (c) French victory (d) German victory

() sferer Sfa (@) ferar $r ST (31) I i (') FHT T

5.

What helped in the formation of a nation- state in Britain?

foea & IsgsT & AT F g 919 F Agg A

(a)
(b)
(c)

(d)

The formation of a nation-state in Britain was the result of a sudden upheaval.
In 1688, the monarchy in Britain had seized the power from English Parliament.

The parliament through a bloodless revolution seized power from the monarchy which gradually led to
the emergence of a nation-state.

Page 1 4‘2

The British nation was formed as a result of a war with Scotland and Wales.
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(®) T F TR TSI R IS AR §3 IUA-GUS T IROTHA 7|
(@) ee¢¢ H, foead & Toramdy & 3 §9e & Tar gfaar o o

En) TG & Th (&I PITd o ATETH F TR & TaT S of Fad 8R-4R v IseIqsT &7 36T
g31I

(T ) Thicas R dod & Y Y & IRUTHAETEY fsfeer Iog 1 aves fonar s i
6. Land that is left uncultivated for more than five agricultural years is called:

ag qfA S uiT ¥ Ao F ot & v Jer & & o & o §, Feend &

(a)  Pastureland (b) Culturable waste land (c) Current fallow  (d) Barren land
(@) OIREME A (W) P AT SR WA () TAT R (6) SR A

7. In which of the following States mining has caused severe land degradation?

ﬁmﬁ@aﬁ@ﬁmu\rqﬁ&dda?qﬂwlSqﬁraa‘r?TSﬂTaﬂTuTgm%?

(a) Gujarat (b) Jharkhand (c) Kerala  (a) Uttarakhand
() IR (@) FRTS (1) A (¥) FRTS

8. Red soil is mostly found in:

(a) Parts of Jammu & Kashmir

(b) Upper Ganga Plains

(c) Eastern and Southern part of Deccan Plateau

(d) None of the above

() SFH IR FEHAR & Fed

(@) F9q e FAeeT

(3T) GFeheT & TOR T qaf 3R farolt strer

(T 3 3RFd # & FIg g0

9. Which of the following soils has self-aeration capacity?
fFrfaf@d & @ 6w Acd # Tg-ags efadr g2

(a) Alluvial soil (b) Mountain soil (c) Black soil (d) Red soil

KVS RO RAIPUR........... QUESTION BANK ............ CLASS 10.....ccoerueune SOCIAL SCIENCE
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(@) el e (@) T Al (e7) el AT () arer fAed
10. Under which of the following type of resource can tidal energy be put?

SR FaT A e & O 5T R & T & a9 @T ST ehdT 87

(a) Replenish able (b) Human-made (c) Abiotic (d) Non-renewable
(@ R E WA QY (@) Aa AfAa @M 3tfaw (F) R-admoiT

11.  We can obtain per capita income of a country by calculating:

& ThdY ger T ufdeaidd 3T S IvEAT aIRa &

(a) the total income of a person
(b) by dividing the national income by the total population of a country
(c) the total value of all goods and services

(d) the total exports of the country
&) Teh A T Hea3my

) Tl 22 T ot STeTaEAT & TSE 371 Y [Aenfoie eeh

) H I CRS R IR I EO G
H) QU H Gl id
12. Human Development Index compares countries based on which of the following levels of the people?

AIg A o FEfafad & @ g T & 3muR w At Y g FIT §?

a. education level b. health status C. per capita income d. All of the above
&) fAeT 1 TR g ) Tareey & feufa 7)) ufad afed 3mg g9) FW F Tl
13. In which state in India is the infant mortality rate lowest?

R & fhe Tsg & RIY Hog X G HA §?

a. Kerala b. Bihar c. Uttar Pradesh d. Punjab
F) W @) WER ) I TS ) e
14. Which of the following neighbors of India ranks higher on the Human Development Index?

HRA & Aefaf@d & @ Fid a1 geIl Ag A gaaeh § 39d T |/ §?

a. Nepal b. Sri Lanka c. Bhutan d. Pakistan
%) AqTel q) AT ol ) e ) grfehedieT

15. Which of the following industry is known as sun rising industry?
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fArafaf@d & @ & a1 3e2er gF 3¢7 36T & & A ST ST §?

a. Dairy industry b. Information Technology c. Health and clinic d none of these

& ) 3T 3T @ ) I WA a7 ) Fareed AR FeAw @) ga @ wig TE
16. Which one of the following countries does not share its boundary with Belgium?

afaf@a & @ sia ar 2 sfeaadm & Ty 39 @ arsr A8 Far §?

(a) France (b) Netherlands
(c) Sweden (d) Luxembourg

Ans: (c) Sweden
(T) e (&) ezels
(dY) s () TFTHTN

17. What proportion of population speaks French in the capital city of Belgium?

SfesTad &I TSTUTT AET A SIAHEIT I Fhcel 3gdrd e Sterem g2
(a) 75%  (b) 70% (c) 85% (d) 80%

18. Majoritarianist constitution was adopted by:

TEEEAHATG! TN e SIRT 3T=T1T 13T 2.

(a) Belgium (b) India

(c) SriLanka (d) Pakistan

19. Power sharing is desirable because it

Tl &l gedT Ao g Faifeh Ig

(a) helps the people of different communities to celebrated their festivals.
(b) imposes the will of the majority community over others.

(c) reduces the conflict between social groups.

(d) ensures the stability of political order.

(v) fafdes aeerat & ol & 3d% AR A A Heg HT Bl
() SEEETF FHErT T FTOT gEd W Arar ¢

(&) Tt waggt ¥ &g FEE B FF T S

() TR cFaEdr H R gARed #ar gl

20. In Unitary form of government
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TPR & ThlcHs T H

(a) All the power is divided between the center/union and the state provincial government.
(b) All the power is with the citizens.
(c) State Government has all the powers

(d) Power is concentrated with  the Central Government.

(0) aY afFd Fg/ag 3R T T WHR & ag [afaa gl
(@) fFa AR & 94 gl

(@) ToT WHR & g el ofFaar §

(3N AT Fg TWHR & AT Higd Bl

Il ASSERSTION - REASON QUESTIONS3ITH&Y - HRUT YaT

In the following given below, there are two statements marked as Assertion (A) and Reason(R). Read the
statements and choose the correct code.

fAefaf@d &, ar Fuar F 3ifAFaa (A) 3R FROT (R) & &7 & RAfEaa foar =r §1 2=t & afer ik T@r
Aeead &1 T HIfSU]

a. Both A and R is true and R is the correct explanation of A.

b. Both A and R is true but R is not the correct explanation of A.
c. Ais correct but R is false.

d. A is false but R is correct.

%) AR RaET I § 3R R, AT TE TrEdm T Bl
@) AR R TcT § ofha R, A Ter carear Ag )
M) AGE & AfheT R ITerd B
T) AJTerd & ofheT R T §l

21. Assertion (A). Culture played an important role in creating the idea of the nation.

Reason(R). Weavers in Silesia had led a revolt against the contractors who supplied raw material and gave
them orders for finished textiles but drastically reduced their payments.

22. Assertion (A). The availability of resources is not the only necessary condition for the development of any
region.
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Reason(R). Not only availability of resources but also corresponding change in technology is necessary for the
development of any region.

23. Assertion (A) Different people have different developmental goals.

Reason ( R) the capitalist approach to development is detrimental to poor section of society.
TRFAA (A) FAT-AIT AT & 3TAIN-37AT [qhT 6T 8l B

FOT (R) Rrer & e Gehardy effeaor wrer & a0 adt & v iR ¥ |

24. Assertion (A): In a democracy, everyone has voice in the shaping of public policies.
Reason(R): India has federal system.

HIAFYT (A) : hcdT H WIdatlaieh ANfAAT T AR o7 F Gl & 377arsr g gl

HROT (R) : AR H TET cgaedr gl

111 CASE STUDY BASED QUESTIONS &8 Tear 3TaTRd 9

Read the following source and answer the following MCQs by choosing the most appropriate options.

fAFIfaf@d dig &1 9¢ 3T A U av geat & 39 &

25. Economists began to think in terms of the national economy. They talked of how the nation could develop
and what economic measures could help forge this nation together. Friedrich List, Professor of Economics at the
University of Tubingen in Germany, wrote in 1834: ‘The aim of the zollverein is to bind the Germans economically
into a nation. It will strengthen the nation materially as much by protecting its interests externally as by
stimulating its internal productivity. It ought to awaken and raise national sentiment through a fusion of individual
and provincial interests. The German people have realized that a free economic system is the only means to
engender national feeling.’

ITMTE TS HITIEAT & Tl & e 9| 3ogisy o1d & for U $&F ReR@a &t gear g iR T @
A 3UTT 3H ASE T Teh A Telled H AGE Y Hebel | ST A GfareT faeafacarerd # 3rderes & Wher
hee foree o 1834 # for@m: 'SeaRer &1 36T FHar #1 31F §9 & Teh TS H T g1 Ig T8 §9 &
IO fEcdl & X 3N A ITARF FcUTeehdl @ AT Feh Tsg A1 Hilfdd &I & 3cr € HoleT
HEM 3 FTFTa 3 Wi Rl & HeldeT & ATCTH § TSE HGAT Y ST 3N 33T AfRT| FToiet afrett oF

Wﬁm%ﬁ:wwmﬁﬁmwmﬁw@umﬂamaﬂww%l
(25.1) State the aim of the Zollverein in Germany.” ST#ell # SJleldRe & 36T TdST|

(a) To divide German regions

(b) To bind the Germans economically into a nation

KVS RO RAIPUR........... QUESTION BANK ............ CLASS 10.....ccoerueune SOCIAL SCIENCE

Page147



(a)

(b)
(c)
(d)

To support time consuming calculations

To create confusion in trade

A &l B fasnfad ae & fau

SHAT F IR T F T TSC H YA & foIT
AT oot arell A0S & AT aa & fow
AR # §#7 YT %l & v

What German people have realized about new economic system?

7S N cTaedr & aR A AT ANl F a1 #Fggy fhar g2

German people have realized that a free economic system is the only means to engender national
feeling.

German people wanted to conquer more regions.
German people realized the importance of closed economy.

German people realized that a free economic system is obstacle to develop nationalism.

(0) ST el & #eqd o & 1 ver Fadw 3nfde gomel UsET Hiaer 4e1 e @ THATT AIYe g

(&) ST e 318w &Yt A SiideT aed

(E) STHA AN A dE HITGEAT & FHged H AgHH FhT|

(3 STHT ol o AgHH A T v Tadw e gomel wseare & e # e g

(25.3) How does a country become stronger? @IS & &8 Holgd Felcll o7?

(a)
(d)

(V)

(d)

(25.4)
(a)
(b)

By conquest  (b) By making alliances (c) Both (a) and (b)

It will strengthen the nation materially as much by protecting its interests externally as per stimulating
its internal productivity.

fasra garr (a) ST FoTa (@) et (T) 3R (@)

Tg ST P AT HARND IcqGehal Pl SATAT P §U IeT §F F 39 fgclt i T8 ek aitfas
T F 3T &1 HIgd FHLM|
Who was Friedrich?  %hsR& @i a1?

Professor of Economics at the University of Tubingen in Germany

French artist
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(c) Philosopher

(d)  Painter

(W) ol # i faeafdeamera 7 3rdemes & dihaR
(@) R FemhR

@  erdfaw

@ =

26. Resources are vital for any developmental activity. But irrational consumption and over- utilization of
resources may lead to socio- economic and environmental problems. To overcome these problems, resource
conservation at various levels is important. This had been the main concern of the leaders and thinkers in the
past. For example, Gandhiji was very apt in voicing his concern about resource conservation in these words:
“There is enough for everybody’s need and not for any body’s greed.” He placed the greedy and selfish individuals
and exploitative nature of modern technology as the root cause for resource depletion at the global level. He
was against mass production and wanted to replace it with the production by the masses.

et off Remaers flafafr & v Faws AgcaqT §1 afhd dhde @ud iR daeEr & 3 39T &
HTATTSTR-31Teh AR qafearolisr FHEAIT 8 Tohcll 81 o9 FHEIBI AT g7 el & v afdees ki ) Fame=
TETOT Fgeaqol 81 F§ 3cliad & dAandt 3R Rana & geg Rar ©@ 81 3eewor & fov, st garst &
TIEUT o X H 9T [Odr 3o7 ersai & ogad *{dﬁqu:ﬂgﬁﬁrﬁ: "&T frdt fr Ta F v A g, &
Tl QR & offerd & faT|" Segiat drorel R Tardt safeaat 3R 3mefareh Tereiieh T AMWUTERY Fhfcr T AT
TR W A T HAT & HT HROT & & H @M 98 I3 YA W 3cUesT & el ¥ 3N 5@ Siedl @y
3cUTGsT & HIY dgoloAT daed Ul

(26.1) Resources are vital for

o & fov Fgcaqer §

(a) Developmental activity (b) Commercial activity (c) Social activity
(d) Environmental activity
(T) erarcAs afafafer (@  arofcaes afafafer @)  wEfee afafafer

@) g Aafaf
(26.2) Irrational consumption and over-utilization of resources may lead to

Tt @I 3R FaTeEt & 3% 39T & HROT @ el &

(a) Social Problems (b) Commercial Problems (c) Environmental Problems

(d) All of the above
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(v) graAfoie §HEAT (&) aroifods gaeay (@) waiaRefir gaEae (D, 3Wied el
(26.3) “There is enough for everybody’s need and not for any body’s greed.” Who said this?
"gX fReT T 3aeTeRar & T gaTed § o & R ¥R & arerg & w|” Iy Raer e

(a) Jawaharlal Nehru (b) Mahatma Gandhi (c) Rajendra Prasad (d) Vinoba Bhave

(T) STareRere Sg® () FgreAT el (@) Toig wae (3) /e o

(26.4) What had been the main concern of the leaders and thinkers in the past?

T A A3t 3R faaR hr HEg [ar = @ e

(a) Ocean conservation (b) Soil conservation (c) Biodiversity conservation

(d) Resource conservation

(T) HEEER EI&T0T  (&fY) Her E&ToT (@) Sta fafayar aveor (3r) FETET TIETOT

27. The value of final goods and services produced in each sector during a particular year provides the total

production of the sector for that year. And the sum of production in the three sectors gives what is called the
Gross Domestic Product (GDP) of a country. Itis the value of all final goods and services produced within a country
during a particular year. GDP shows how big the economy is.

In India, the mammoth task of measuring GDP is undertaken by a central government ministry. This Ministry, with
the help of various government departments of all the Indian states and union territories, collects information
relating to total volume of goods and services and their prices and then estimates the GDP.

el fay a¥ & R s & & 3cunied 3fad a3 iR Faisi &1 gou 3@ a¥ & fav &7 &1 Fo
3cUIesT JaTe AT gl AR AT a1 7 3curest & Aqer R U 1 FHhA W] 3G (SNENY) Fgeldr g1 T
T A a¥ & SR fordr gur & ofieR Scrfed @elr 3ifcrer aeqait 3R Qanait &1 g Bl S adred @ &

3ricuaEr fhde 991 B
AR H, ool To] 3cUIG T AT HT ATl FR g THN & HAA@T GaRT HAT ST §1 Tg HAo, Gl

ARAT Tt 3R e el weelt & Rfdes axarlr femit &t A @, w3 3R Jar3it Hr For AT AR STR
HIAC & G STARRT Tehd T § 3R T Hehel B[ 391G T AT ST &

27.1) the source given above relates to which of the following options?

IR &I = gg Feafof@a § 9 Fg Qeey o gafta g2

a) World bank b) GDP (Gross Domestic Product) c¢) GNP (Gross national Product)

d) GNH (Gross National Happiness)
F) faeg &= T ) SHEr (Fehel W] 3¢UTE) IT)  SNUAdr (Fehdl TSET 3cU1G)
)  GNH (Fha IsdT el
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27.2)

Why are only final goods and services counted and not intermediate goods?

et A aEHT I Wy A & O A B N §, T aEG B A

a) The value of intermediate gods needs not to be added.
b) There are no such intermediate goods.
c) The value of final goods already included the value of the intermediate goods that are used in making
the final goods.
d) None of the above.
&) LIS a3 & Hod HI gl I HEGIHAT a6 &
) var ws ot FAegadt At T8 g
M) A AT & Hed H Uge I & AEAAAT AT T Hod A BT & it A ATl Ffled # 3uier foham
ST Bl
) 3WFT H F HIS AL
27.3) The value of all final good and services produced with a country during a particular year is known as
el fady af & eRret forell Sor & @y scurfed @l 3ifde awqgsit 3R Qamit & qea & & & S
S &
a) GDP b) GNP c) GST d) SGST
% ) Sy T ) Shuadr M) Shreaer o) THSiuaCr
27.4) The GDP of a country shows:
fordll ger &1 Wl Bl 3cure gt B
a) How well off the people of that country
b) How much employment rate is there in a country
c) Standard of living of people
d) How big the economy of the country is.
&) 39 3 & dner fhae 3 §
) e der & VR 1 & frastt §
) Sl & Siae TR L‘?;
A
) g Fr rFegaedr fFa-r T2t g g;”
(=9
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28 Our Constitution did not give the status of national language to any one language. Hindi was identified as
the official language. But Hindi is the mother tongue of only about 40 percent of Indians. Therefore, there were
many safeguards to protect other languages. Besides Hindi, there are 21 other languages recognized as Scheduled
Languages by the Constitution. A candidate in an examination conducted for the Central Government positions
may opt to take the examination in any of these languages. States to have their own official languages. Much of
the government work takes place in the official language of the concerned State. Unlike Sri Lanka, the leaders of
our country adopted a very cautious attitude in spreading the use of Hindi. According to the Constitution, the use
of English for official purposes was to stop in 1965. However, many non-Hindi speaking States demanded that tlle
use of English continue. In Tamil Nadu, this movement took a violent form. The Central Government responded
by agreeing to continue the use of English along with Hindi for official purposes. Many critics trunk that this
solution favored the English-speaking elite. The promotion of Hindi continues to be the official policy of the
Government of India. Promotion does not mean that the Central Government can impose Hindi on States where
people speak a different language. The flexibility shown by Indian political leaders helped our country avoid the
kind of situation that Sri Lanka finds itself in.

AR Hiaue of fRel T ST TSCHTT & golt der Gar| Gl Fr ggaeT USIHTT F T A FHr a9 e
TEEr SaTeTaT 40 GfARIcT RCHT 1 & ATGHIN B| ST, 31 WIS 6T T o v s geaT 30 o) & &
37elTaT, 21 3 TN A HIAUE q@aRT Il Wit % w9 7 A & 7§ Fg WER F udl F fov
AT G&T & T 3FACar gad @ frdr o amor & odat &t &1 fdsheu g Tohal &1 T HT IHG=N
TSTATST gRfT| 31T TR FF T Ao HT AT H g &1 Ao & fAlid, gAR g & Adr3f o
fEer & 3u2eT 1 hellel F Tgd Tih AT ITAAT| AU & AR, 1965 # HTUFRF Segedt & faw s
T 39T §g Y AT I ATl grenifes, % IR-FEEr st Ut & Ajer & foh IS w1 39AET SRy W@ affeerg
H 39 JicoeT o fad &9 o forar| dig TR o 3UHE 3662d & fov {ér & arg-aryr 33806 &1 39T
IR WA 9 HHATT ogFd gU Sfars ATI Fg TRl & AFAT § 5 Ig gETET 3N Sl arer
AT o7 & 987 & o7l FE FT TIR-TER ART THR T 3R AT Tl g5 &1 TARMT H Ao T8
e & fF Fg PR 37 Tl 9 GEr AT Gndl § S8l & o9 37el9r-3eldT AT dield 81 HARAT Tiifdes
AT EERT @IV T oelieuel o gAR &2 &1 38 kg 1 TAfd & g9t & #Aee &1, e Ao ge &1 g

.1 Here are tile statements regarding the language policy followed in India. Which of the following holds true
in the case of India?

IET HRT | 31UTS ST arell AT Afd & T F ega Lede R av & Feafofaa & O sia s kg & aea
H mer 82

(a) The policy of accommodation has strengthened national unity.

(b) The language-based States have divided us by making everyone conscious of their language.

(c) The language policy has only helped to consolidate the dominance of English over all other languages.
(d) Indian Constitution gives the status of national language to any one language.

() 3marg AT o TET vHar Al fFAT B

(@) HAV-3MTRA T o FHY S A9 JNT & 9fa Serees w1 A faanfaa e g
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(&) oeT NS A 3T Tl MW W AN & WHcd HT Aol A H Heg W g

(d) IR TfAYTe FET T HIST T ASCHNT &7 Gal T Bl
28.2  Which language is recognized as the national language by the Constitution of India?

AR & TIAUE CaRT fhE HINT & TSI 9T & &9 & AT & a8 &2
(a) Hindi (b) English (c) Tamil (d) None of these
(T) fecT (s 33T (¥ afFer () 37 & HIg LT
28.3  Asecond test for Indian federation is the —

AR §6 & T gERr oderor §
(a) Linguistic States  (b) Language policy (c) Centre-State relations (d) Bothbandc

(T) HI9TS TS () smreT SfA (&) FgaeT @Ew (@) & 3Rk @ et

28.4  "Official Language Act provides that English would remain the official language of the country so long as
non-Hindi speaking States desire." Identify the benefit of adopting such a cautious approach?

"TSATST AFTH v Far § F S d IR-TBE A Uo7 g, 339 g i 3nfeRe s WA 5|
A€ & Tdd TICHIVT Pl ITAA o oTH FHI Tgaled Hi?

(a) Strengthened the spirit of federalism
(b) Helped in avoiding confrontation with non-Hindi speaking southern states
(c) Bothaandb

(d)  None of these

(T) HuaTG T AT I Astgd fomar

(&) IR-EEr 9t gfaoh Tt & Ty TR § g9 # Acg
(&) grer T 3k &

(2) 3T T FIS G

Page]_ 5 3
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KENDRIYA VIDYALAYA SANGATHAN

RAIPUR REGION

MARKING SCHEME SAMPLE PAPER NO. 01 SOCIAL SCIENCE

CLASS 2021-22

MULTIPLE CHOICE QUESTION

1

(c) The Frankfurt Parliament in
the church of St. Paul

11

(b) by dividing the national income by t
total population of a country

(@) Strong devotion for one’s
own country and its history and
culture.

12

d. All of the above

(c) Conservatives proposed
to return to the society of
pre-revolutionary days
and were against the ideas
of modernization to
strengthen monarchy.

13

a. Kerala

(b) Prussian victory

14

b. Sri Lanka

[O2RE~H

(c) The parliament through a
bloodless revolution seized
power from the monarchy which
gradually led to the emergence
of a nation-state

15

b. Information Technology
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6 (c) Current fallow 16 | (c) Sweden

7 (b) Jharkhand 17 | (d) 80%

8 (c) Eastern and Southern part | 18 | (c) Sri Lanka
of Deccan Plateau

9 (c) Black soil 19 | (c) reduces the conflict between social
groups
10 | (b) Human-made 20 | (d) Power is concentrated with

Central Government.

I ASSERSTION — REASON QUESTIONS

21.b. Both A and Ris true but R is not the correct explanation of A.
22.a. Both A and Ris true and R is the correct explanation of A.
23.b. Both A and Ris true but R is not the correct explanation of A.
24.b. Both A and Ris true but R is not the correct explanation of A.
I CASE STUDY BASED QUESTIONS

25.1 (b) To bind the Germans economically into a nation

25.2 (a) German people have realized that a freeeconomic system is the only
means to engender national feeling.

25.3 (d) It will strengthen the nation materially as much by protecting its interests
externally as per stimulating its internal productivity.

25.4 (a) Professor of Economics at the University of Tubingen in Germany
26.1 (a) Developmental activity
26.2 (d) All of the above

26.3 (b) Mahatma Gandhi

Page]_ 5 5

26.4 (d) Resource conservation
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27.1 b) GDP (Gross Domestic Product

27.2 ¢) The value of final goods already included the value of the intermediate
goods that are used in making the final goods.

27.3 a) GDP

27.4 d) How big the economy of the country is.

28.1 (a) The policy of accommodation has strengthened national unity.
28.2 (d) None of these

28.3 (d) Both b and c

28.4 (b) Helped in avoiding confrontation with non-Hindi speaking southern states

KENDRIYA VIDYALAYA SANGATHAN
(RAIPUR REGION)
SAMPLE PAPER NO. 02 SOCIAL SCIENCE
CLASS:10
SESSION: 2021-22

A. MULTIPLE CHOICE QUESTION ag'aaﬂ%qa:m;r

1.The painting “The Dream of worldwide Democratic and Social Republics” was
prepared by whom?

s
;(raR)qTGzl]lTJ'seppe Mazzini (b) Frederic Sorrieu
(c) Henry Patullo (d) Duke Metternich

2. Alarge part of Balkan region was under the control of:

SToahe] &1 T Teh ST AT Tohdeh [HI=oT & 21?7

Pagel 5 6
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3.

4.

e. Russian empire T HGT
f. Ottoman empire Jeh THT
g. German empire STHA TTHTCT

h. Habsburg rulers) gsaseT 2m&eh!

Who was proclaimed the emperor of Germany in 18717

1871 H ST#=IT T FHTC fohd N fomar aram am?
(a) Otto Von Bismarck 3ier aieT [e&aATHh

(b) Victor Emmanuel |l fJdaex $J-|o-|ko1 Il
(c) Count Cavour FI3€ HdRx
(d) Kaiser William | of Prussia 93T & a3 [aferzess gae

Three wars over seven years with Austria, Denmark, Germany and France, ended
in

3TTECaT, 3T, aﬂﬁﬁwm%m&maﬁﬁsﬁamwm

e) Danish victory 3faer Sitd

f) Prussian victory IfRmaT T S

g) French victory ST S

h) The Treaty of ............... recoghized Greece as an independent nation:

............... 1 G o1 I T Teh TIAT ST & &I H AT AT
(a) Vienna 1815 faI=r ¢y

(b) Constantinople 1832 &hic¥e feailuel 1832
(c) Warsaw 1814 arEr ¢¢2y

(d) Leipzig 1813 oligfaieT 1813

6. The term ‘Universal Suffrage’ means:

e)

f)
9)

h)

7.

AGHIAS ATITIRR Usg FT 37T &
the right to vote and get elected, granted only to men. @le &1 3iR @&t gl &1

T AT RS = Por aom .
the right to vote for all adults. THT aTETHT FI dIC cal &l JTRR|

the right to vote and get elected, granted exclusively to property owning men. aIe cal

W AT 2 a7 AT Ao wo o Tt A oAt oRwY &Y 2o T
the right to vote and get elected, granted only to educated men and women. @i ¢af 31X

Where WQ?I?\;G[ %irst inte’rnatlongl Earth Sur3nﬂr;\1rit e ’}ﬁaﬁ EIL

Ug el HAUSET gedT RIER qeaielet &gl Aot famar arar ar?
(e) Rio de Janeiro (b) Geneva
(c) Switzerland (d) Philippines

(@) R Sra=Rar (&) Saar

The ocean resources till 200 nautical miles are classified under which zone?
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200 FHEY el Teh o THG HATEEAT I fohd &7 H Fafieher foham aram g2

Exclusive Economic Zone
Export-processing Zone
Special Economic Zone
None of these

apop

(T) fay 3 &

(&) faTa-gaEoT a9
(@) ooy 3nfdes &
(31) 3T A IS TG

9. Which of the following is essential for sustainable existence of all forms of life?

gt & gt T & TARN 317dca & o [afaf@a & @ =i ar 3maas g2

a. Resource planning

b. Resource management
c. Resource extraction

d. Resource generation

(T) HHETET ANST=T

(&) FET YT

(&) TETEeT fraoT

@) gary AT
10.Jhumming in Brazil is called:

STSiter 31 SIfHIT T gl AT :
(a) Ladang (b) Masole
(c) Roca (d) None of these
(T) FSTIT (s FETer
GURER! (3N) SoTH A g e

11.For irrigation, most of the Indian farmers depend on

Hars & forw 31ferier IR Faa )W AR §
(a) reservoirs (b) rivers

(c) monsoon (d) tube wells
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(T) ST (&) aafear

(&) ATAGA (&) erhT

12.Kerala has low infant Mortality Rate because:

Yol 3 IR Fcg X A g FIfeh:

a. it has good climate condition

b. it has adequate infrastructure

c. it has adequate provision of basic health and educational facilities
d. it has poor net attendance ratio

%) SHFT STofary Fr AT 3= g

@)WW@%WW%
) SEA FiAATer Ty AR QAfeTen Graemsit s qATeT T §
&) SHhT Yetr SUTEATC 3HeTdTed WIS ¢

13.Which of the following things money cannot buy?
frEfoITad & & et T a4 A 71ET T S Hehelt 2
a. Building
b. Flowers
c. Pollution free environment
d. Books

%) SART
) T

i)
ET)l;l?.‘QﬂUTajckd CIIEEL
&) qEdh

14.BMI(Body Mass Index) is a method of finding out which of the following?
AITH3NS (J13T A 5359 AT ad H & fohaept gar oeTet &1 ues fafer §72

a. Infant Mortality

b. Health status

c. Longevity

d. Economic Status
&) Ry A -
) Ty & feafa
) ot 3

) e fufa

15.Which among the following is included in the primary sector?
ffofaa & & Fia grafas g3 # afAer g2

a. Teaching
b. Dairy

c. Lawyers
d. Textile

%) feretor
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T ) gIeery
T ) gehrelt

RG]

16. What is the main economic activity of people in India?

HR #H ollail &l 7E e arfaier ar g2
a. Agriculture

b. Industries

c. Service Sector

d. None of the above

$)a§fﬁr

T ) s3EcrST

aT ) Har &

) 3T & IS ot 7gt

17.Which one of the following countries does not share its boundary with Belgium? fa&ifaif@d
H ISR E EIBHETGIEY,
3 hig &1 ger afe %E) Wether IEIIEL STl ST g

a. France

(c) Sweden (d) Luxembourg
(T) I (s #reels
GUEEIESG] EIGESEE

18.Which language is dominantly spoken in Belgium?

STCSTaH # et A AT J7G & F Sell Sl 872

(a) Dutch (b) Spanish
(c) France (d) Italian

VESS CURRIGH
(&) T CHESIGEL

19. A system of government in which power is divided between a central authority and various
constituent unit of the country is called

TIHR HT Teh YUTlell [TT@H TAT Bl Teh 1T AITERI0T 3R G2 T AfdeeT geeh ghig & o

g) Eeger;mli?mdldl &, PEee & (b) Communalism
(c) Socialism (d) Democracy
WKEEICS EUKIEEIRET)]
GUREICEICS (@) e

20. Which country is an example of coming together federation?
Ueh TTY 31T aTel AGTHY T 3ETEIUT hieT AT S &7

(a) Belgium (b) USA
(c) SriLanka (d) India
(v) afesaa (e) JuaT
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GHEIGED (3N IRT

Il ASSERSTION — REASON QUESTIONSH A& - hRUT U1

In the following given below, there are two statements marked as Assertion (A) and Reason(R). Read
the statements and choose the correct code.

frfaf@a #, ar wuat &1 31fFwye (A) 3R FROT(R) & & & RAfgAd ohar 3 g1 suat o afev 3R @@ fawea #r
TIA HITAT|

a. Both A and R is true and R is the correct explanation of A.

b. Both A and R is true but R is not the correct explanation of A.
C. A'is correct but R is false.

d. Ais false but R is correct.

F) A IR R e I g IR R, A Fr T&r Ir&dm HIT g

@) A 3R R gl @ & afpT R, A &Y TEY sarear =1g) &
M) A T & AfF R 311 &
) A 70T § oifdhet R T 8

21. Assertion. Italy was divided into seven states, of which only one was ruled by an Italian
princely house.

RSB - STall I AT AT H [THTTST fhaT 37T AT, THAH & Shdol Ueh I Teh 3dleldl  RIAETT

AT oo 91Tl . . . .
Reason. The north was under the domination of the Bourbon kings of Spain.

HRUT- 3T TT o aleifel TST3HT o Fefed # T

22. Assertion: Belgium and Spain has ‘holding together’ federation.
Reason : A big country divides power between constituent states and national government.

1. 371 dfceraa 3R T 7 gifese gaeT Beie g

$RUT: Ueh §3T 2T Tceh AT 3R TSI TIPR & §d T &l [T FHAT & |
23. Assertion (A) Different people having different development goals.
Reason (R) People want freedom, equality, security and respect.

HAFYT (A) HAT-AIT AN & AP F FT&T HAIT-379T £ |

HROT (R) ST TAGTAT, TATAT, FI&T 3T TFATT Arga
24. Assertion : India’s primary ac'fivity is Agriculture.
Reason : Two-thirds of its population is engaged in agricultural activities.

HfFpT | 7R 1 graffes afafafer i g
FROT: 38T &1-fAgTS Y FY arfaifaferdt # ol g3 81

Page]_ 6 1
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ll. CASE STUDY BASED QUESTIONS & 2T 3R 9T

Read the following source and answer the following MCQs by choosing the most appropriate options.

fArfaf@a @a &1 ud 3 A Ru v geai F 3o S

25. Rabi crops are sown in winter from October to December and harvested in summer from
April to June. Some of the important rabi crops are wheat, barley, peas, gram and mustard.
Though these crops are grown in large parts of India, states from the north and north-western
parts such as Punjab, Haryana, Himachal Pradesh, Jammu and Kashmir, Uttarakhand and Uttar
Pradesh are important for the production of wheat and other rabi crops. The availability of
precipitation during the winter months due to the western temperate cyclones helps in the
success of these crops. However, the success of the green revolution in Punjab, Haryana,
western Uttar Pradesh and parts of Rajasthan has also been an important factor in the growth
of the above-mentioned rabi crops. Kharif crops are grown with the onset of monsoon in different
parts of the country and these are harvested in September-October. Important crops grown
during this season are paddy, maize, jawar, bajra, Tur (Arhar), moong, urad, cotton, jute,
groundnut and soybean. Some of the most important rice-growing regions are Assam, West
Bengal, coastal regions of Odisha, Andhra Pradesh, Telangana, Tamil Nadu, Kerala and
Maharashtra, particularly the (Konkan coast) along with Uttar Pradesh and Bihar. Recently,
paddy has also become

an important crop of Punjab and Haryana. In states like Assam, West Bengal and Odisha, three
crops of paddy are grown in a year. These are Aus, Aman and Boro. In between the rabi and
the Kharif seasons, there is a short season during the summer months known as the Zaid
season. Some of the crops produced during 'zaid' are watermelon, muskmelon, cucumber,
vegetables and fodder crops. Sugarcane takes almost a year to grow.

T&T T HHeT FCeR U fewaT e Afeat 7 S Sl § 3R 1 7 3nie @ S % ey Sl 8
el T 5 Hgca O Bl 'ﬁ{ Sit, #eX, T 3 aRat €1 gl A B AT & 93 el 7 3978
STt 8, 3R 3R 3er-afRas fiRwdt ota datre, g, fRareer waer, o 3R ey, 3avas ik
3R e & Tsd g 3R 37 T Bell & Scure & oI Hgeaqor §| ies ficrsor wshardr &
$RUT AT & HBIT o &Il IS I STASHAT ST AT ahT TheldT H Heg Fal ¢l gTelleh, T,
RO, TiREHT 3R TR0 HR TTEUT o o TG eal & gR hifet T Thorar 1 STereT T Baell
<hT G T Teh AGcaqUT HReh T6T & | WD Bl 420 & Aol GEAT H HTHeT T O3HTT & qrY
39S AT & 3 So6 FATR-31eFca 3 h1eT ST & | 36 HIFH & GRIeT 39S SATe aTell Hca ol el

&1, HeFehT, TaAR, SToNT, 3EY, 3T, 335G, HUM, T, mmﬁraﬂwm?r%ﬂ Al HgcaquT el
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HEIAT oh SR Teh BICT ANH 8IdT & [T 916, o AT o T H ST AT g | 'Sg o SR 3caried

S B TREST, FE, Fehsl, eI 3R TRT BEel €| Ieed T 33Tl H SIS Teh Aol T THY
AT &

Answer the following MCQs by choosing the most appropriate option:

Y 3G [dehod Yoot et e 92t o Fa

i. Read the combinations showing the cropping season(sown) and select the correct option:
X: June-July

Y: October-December

Z: Around March

Options:

(@  X-Rabi, Y-Kharif, Z-Zaid

(b)  X-Zaid, Y-Rabi, Z- Kharif

(c) X-Kharif, Y-Zaid, Z-Rabi

(d) X-Kharif, Y-Rabi, Z-Zaid

W o FAGH (ST ITT) T RATeT qTel TATSTAT ol J6 3R TET faehed &1 aa i
T S-S

dTs: JTFER-THTT

SiS: AT o a9

IGEIK

(V) TFE IS, AE-TH, J5-9iG

(@) TFE-SIE, A~ AS-Th

(&) TFE-Edw, ars-ig, AS-T&T
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(@) TFH-TE, JS-TET, SB-oiG

il. The three major cropping seasons of India are:
(@  Aus, Aman, Boro

(b) Rabi, Kharif, Zaid

(©) Bhadava, Shravan, Vasant

(d)  Summer, Winter, Monsoon
ii. TR & cfiel 97T hael HIGH &
() 31, 37HA, T

(@) W&, @, i

(€T) AITed, HauT, FHA

(3) AT, |, AT

iii In between two major seasons, Indian farmers take the best advantage of the brief interval
during the summer and grow crops.

(@  Kharif
(b) Zzaid
(c) Rabi

(d)  All of the above

iii &1 S FHIGHAT & o, IR fohdTeT ATAGT o SRTeT HiETTT ATl T TGH 3TTBT 18 33T &
3R B 39T & |
(T) @%

() e
GHECH
(D. 3RNFT T
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iv. Match the group Crops in Column | with the harvesting season in Column II:

Column | Column Il
A. Peas and Mustard 1. Harvested in September-October
B. Arhar and Bajra 2. Harvested in April-June

3. Harvested in July-October
(a) A-3,B-1
(b) A-1, B-3
(c) A-2, B-1

(d) A-3, B-2

iv. SIeTH | 3 THg BHAA! T hietd || 7 TS & HGH & A1 T
SicTe | Fier |

A. AT IR |3 1. FdeR-31ergs) 3 shrer

oY, 3RET 3 SR 2. 35 # Fler

3. S[elT$-31eFga} H el
(T)T-3,8-1

() T-1, N-3

@ uw-2,&r-1

(&N T-3, 4§ -2

26. Resources are vital for any developmental activity. But irrational consumption and over- utilization
of resources may lead to socio- economic and environmental problems. To overcome these
problems, resource conservation at various levels is important. This had been the main concern of the
leaders and thinkers in the past. For example, Gandhiji was very apt in voicing his concern about resource
conservation in these words: “There is enough for everybody’s need and not for any body’s greed.” He
placed the greedy and selfish individuals and exploitative nature of modern technology as the root
cause for resource depletion at the global level. He was against mass production and wanted to replace
it with the production by the masses.

farelt off farepraTcaer aIfafafer & fow FaTee Agcaqul &1 Afhet ahgler @ud 3R FaTest & 31 3uier & ArATfSS-
3T 3R qATaRoNT FHAEATT &Y Herell 1 37 FHAEAT3 Y 6T et & Forw fafPest Tarl ox HaTersT THREToT Ageaqut €1 98

37l 7 A3t 3R et S FEa Riar W@ &1 3eTexor & fow, e Same & FYaT0T & aR # 31l fRfar g7 ereat
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# ad ﬁqu 39gerd & g TRl & ST & Torw waied §, & o fondlt @RI o offerer & foiv|" Segiet el 31K
Tardt gt 3R 3megfareh dehsteh hT AT FepfcT hT ATReeh TAX I HATEAT T el oh el HROT & &9 H I@M| T8
I3 AT T 3T & TWh A 3R 38 FoAdT GIRT 3G & H1Y dgelell dgd I

(26.1) Resources are vital for

HAYS 8 o0 HAgcaqoT &

(a) Developmental activity (b) Commercial activity (c) Social activity

(d) Environmental activity

(W  fOemEcHES afafafer (@  aoisTs afafaf @  wrEASe afaate

(@ gIeRor Afafafer

(26.2) Irrational consumption and over-utilization of resources may lead to

THE Tud 3R FaTerT & 31T 3UGNeT & HROT 8 Hehell §

(@) Social Problems  (b) Commercial Problems © Environmental Problems
(d) All of the above

(T) GTATSIS gAET (&) arfoifoaes gaeame (@) R gAEe . (D. IWIFd g9

(26.3) “There is enough for everybody’s need and not for any body’s greed.” Who said this?

"g¥ foralY i 3maeTeRdr & fav waied § & fr forelY @R & e & fow|” I8 frasr Fgr?

(@) Jawaharlal Nehru (b) Mahatma Gandhi (c) Rajendra Prasad (d) Vinoba Bhave

(T) STATEIEATS g% (afY) FTcAT ey () Woig JaTe () AT s

(26.4) What had been the main concern of the leaders and thinkers in the past?

3T & AT IR TaaRepT Y FE Fidr 4 wrg?

(@) Ocean conservation (b) Soil conservation (©) Biodiversity conservation

(d) Resource conservation
(V) AR &X&for (o) HeT TR (&) Sta fafaerdar eafor (3Y) HaTE EIETOT

27. The Belgian leaders recognised the existence of regional differences and cultural
diversities. Between 1970 and 1993, they amended their constitution four times so as to work
out an arrangement that would enable everyone to live together within the same country.
The arrangement they worked out is different from any other country and is very innovative.
Here are some of the elements of the Belgian model:

Constitution prescribes that the number of Dutch and French-speaking ministers shall

be equal in the central government. Some special laws require the support of the
majo rity of memb ers from each linguistic group.
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two regions of the country. The state governments are not subordinate to the Central
Government.

Brussels has a separate government in which both the communities have equal
representation. The French-speaking people accepted equal representation in
Brusselsbecause the Dutch-speaking community has accepted equal representation
in the Central Government.

Apart from the Central and the State Government, there is a third kind of government. This
‘community government' is elected by people belonging to one language community -Dutch,
French and German-speaking -no matter where they live. This government has the power
regarding cultural, educational and language-related issues.

27. AfesTH & A3t o &V Aasel 3R Fieshias fafaeransit & 31f&dcd @l Aegar &1 1970 3R
1993 & &1, 3egiel 3 TITUTH H IR IR F2ATT fohar drfer Ten Tt cgaer AR i 51 I fFad
THY Teh & S 7 Teh AT g Toh| ﬂﬁﬁmwwwmm%maﬁmawﬁm%
R g arn 8 S i e T NGR4T aRTa g F AT el
aﬁmmm$mﬁarma€wﬁﬁﬁmawa?ﬁﬁl

e, TPR T s ATFAAT 2T & il &1 I ToT TPRT Hr & 318 & | ToT TN g THR &
eI g &

THEH T Teh 3T THR & ToTTH St e T FATH T Teica & | HraveT e et 2 gdeq
AT St Rica TerR fohaT Fifeh 5o Tl Heer o che; GRehR H FATE Sl tica TR fhar g
che; AR AT TIHR & IHATET ET oG T TIHR Bicll ¢ T§ QTS ThR Teh 19T HHT
o ST EERT el STl § - 5, Sl AR ST TS - =18 d et 311 T8l 81| S8 FLehR o UTE HIEhicieh,
ﬂ@%ﬁﬁéﬂm&ﬁﬁ% ?@?@W%g@ﬂ% most appropriate option:

G 3G [dehod Yoot AT TG Feail 1 Fa

and dealt with the question of power-sharing differently.

[
a. India, Sri Lanka

b. Belgium, Sri Lanka

C. Wallonia, Brussels

d. Flemish, Wallonia

# IR o TAT & §edR & FdTel l 37eldT aig & Agern|
(V) #AR, HreleT

CHEIGSR R IED)

(&) areiferar, saeq

(3) eI, arelifarar

il. Which of the following is not the element of "Belgian model"?

a Equal number of ministers for both the groups

b. Setting up of Community Government

C. More power to the central government
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d. Equal representation at the state and central level
ii. Feafafaa & @ ia "fesasT Afse” 1 dcg AT 82
(T) Gt THGT o ToIT HATT q&ar & #:41

(ST) ATHCTRAe AXhR T T

(@) g THR F1 i AfFa

(@) T 3R Fg TR R A Ffafafeea

iii. "Apart from the Central and the State Government, there is a third kind of government". Which
of the following is incorrect with respect to this?

a. The unique government is Community Government.

b A single social group is given powers to handle community-related affairs.

C. Elected by people belonging to Dutch, French and German-speaking.

d Power regarding cultural, educational and language-related issues.

iii. "hg; 3R ToT TIHR o 37ATaT, Ueh IR i Sl ThR " | SHoh T H Ao & H I isT AT

(@) agﬁ?hwwr{wmaﬁ%w%
(ﬂ)mﬂwmﬁaﬂm*mwwmmﬁamamﬁl
(@r)?ﬁr Sher 3R STt Ty eftelt eaRT gt aTe |

(31) HEhfah, mﬁ?wmﬁz@’r%mﬁ%ﬁal

iv. Which of the following title best describes the given passage?

a. The ethnic composition of Belgium

b. Accommodation in Sri Lanka

C. Accommodation in Belgium

d. The ethnic composition of Sri Lanka

iv. fFafaf@d & & sl a1 o Gu 10 AT F1 Fad 3resT aoid Hiar g?
(T) STesTTH hr ST TIIeAT

(s) Hreier & A

(@) SfeaTTH # 3mard

(31) AreiehT H AT TITAT

28.Socially and politically, a landed aristocracy was the dominant class on the continent. The
members of this class were united by a common way of life that cut across regional divisions.
They owned estates in the countryside and also town-houses. They spoke French for
purposes of diplomacy and in high society. Their families were often connected by ties of
marriage. This powerful aristocracy was, however, numerically a small group. The majority of
the population was made up of the peasantry.To the west, the bulk of the land was farmed by
tenants and small owners, while in Eastern and Central Europe the pattern of landholding was
characterised by vast estates which were cultivated by serfs.

ATATTS IR ASTAIIeh TG H, Teh 33T F97 FgTedT TR 9o 997 AT| 58 I & AT
SHieT o Teh ATATT {ich & Tehole A il 811 fATSTaAT &l hied | SoTeh I ATHIOT SelTeht
3 AE-ERT # Fufaar df| 3egiet deahfal & et 3N 32 FATST  Shl #7197 el | 3e7eh
URER 37FAT ATET & SE0T & 3 81 A | glellfeh, Ig ATFARTel IS F91 Fedicas &9 &
Teh BT TG UT| AR TETCT fhaTel & &=t |
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afRea 3, TR A FRAPRI IR B ATfelehl GaRT Wil hl ST &Y, STafeh qdf IR #7ey

<‘Anaserwaiej‘trtF_lﬂtl?{oiglowing I\E S ;ﬁc{’ﬂgfosing tﬁg ?‘nTOE gﬁropna@pﬁons: il
Y 39T [dhed IeTeh 3R &

E. Which was the dominant class on the continent of Europe?
T HETEAIY 9T 93 T3 shiol-|T AT?
v. Tenants RREER
vi.  Small owners B¢ ATfelsh
vii.  Landed aristocracy ${f# 31fe¥sie a9t

viii.  High class society 3Ta 337 THTS

F. What did the majority of population comprise of?
dge&uch STIEEIT | FIT QM AT?
v. Tenants fRER
vi.  Small owners BIc HATfoIlH
vii.  Peasantry frare
viii.  Land holders /@ &en

G. The given passage describes the social and political life of this class

T aram AT 39 9 & AR 3R ASTeiicieh Sitdel Tl JuTe il &
v. peasants fh@TeT

vi. aristocracy and middle class 31fRTd et 3R FET# gar

vii.  big land owners 53 #1fF ATl

viii. peasants and small owners fFaTT 3R I ATfoS

H. Aristocratic class used to speak French for the purpose of

FolleT qd1 Tohieh 3662 & ther slieldr UT?
v. farming on a big land Teh 951 {7 T Wl
vi.  diplomacy and high society Feald N 3T HATS
vii.  unity among the members HEEIT & ST TehdT
viii.  educing regional divisions &1 THET ol FATET hee
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KENDRIYA VIDYALAYA SANGATHAN

RAIPUR REGION

MARKING SCHEME SAMPLE PAPER NO. 02 SOCIAL SCIENCE

CLASS 2021-22

ANSWER KEY:

MCQ:

Question No. Answer Question No. Answer
1 B 11 C
2 B 12 C
3 D 13 C
4 B 14 B
5 B 15 B
6 B 16 A
7 A 17 C
8 A 18 A
9 A 19 A

10 C 20 B

KVS RO RAIPUR........... QUESTION BANK ............ CLASS 10.....ccoerueune SOCIAL SCIENCE

Page]_ 70



ASSERTION AND REASON:

Question No. Answer Question No. Answer
1 C 3 A
2 A 4 A
PASSAGE BASED QUESTIONS:
(PASSAGE 1)
Question No. Answer Question No. Answer
1 D 3 B
2 B 4 C
(PASSAGE 2)
Question No. Answer Question No. Answer
1 A 3 B
2 D 4 D
(PASSAGE 3)
Question No. Answer Question No. Answer
1 B 3 B
2 C 4 D
(PASSAGE 4)
Question No. Answer Question No. Answer
1 C 3 B
2 C 4 B
_____ kkkkkk______
BT FY YA
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aq « I FTY
I e w

e

mﬁﬁamn,mﬁm g, foen & woa Prs ay @, foenm SR @ R
S .-HEHI ﬁmaaz%ammgaﬁéaamgwa%ﬁ,mzﬁm
e feremred ol e foemrem g 1 R 21 3l 3 g fore e e a8 e 3, e

| femela o2 wwen afge

H-aIHdr
I GIRCES ML |
eI 3T,
3o Tdo Ho, WW

AN TogaT AT
AT Feard Regred @ 318, . U, Reng

( 3Tt el R&EToT (99 3 ) afafa )
1mmwﬁmﬁnrbﬂzﬁﬁmmh

g s & (anfa) - a s & (wn.fa.)
.13, FHTF 4 FRET - & A 2 TR
3. s 37 e 4. 4 Rz fveg
A sh & @) < & & (mnfa)
¥ 1. sRTETs N &.f9. seRTEUs
5. o sfadw @
ash & @)
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A AV g, & S & @i Ff gl
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